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g S| B2 SHH B SHH g S|
Caleb Rogens 3,600 | TERFEFIRAE 9,600 |56 2,000 [ 1,000
David Billow 3,600 |f5A A BH 3,600 [RMEEH IR FT 8,800 |52 3,000
[N 4,000 |BEA A 4,800 |BFAAFH 4,800 |15 B 5,600
[N 1,200 |f5AH 0B 7,200 [RmmsraEamaE| 3,200 | KEMBEGHERAT] 4,400
[N 2,800 |G 5,000 ({546 3,600 [f5-A/A\BH 3,000
Myra Wopereis 4,800 |15 A5 7,200 [KmszspasamAEE] 3,000 [BA AR 3,300
[N 3,200 |G 7,200 (15 A6 3,600 [f5A/A\GH 4,400
Thoma La Piana 2,700 [f5 ARG 9,600 |[itersmramesama=| 2,400 [FEAR NG 9,000
[N 3,300 |G 9,800 [KIEEIAEAH] 7,200 |15 3B 4,800
YN 3,600 |ZEmpr TR ARAE 3,600 |15\ 3.600 |15 AN\ 7,800
EBANEE 3.600 |15 ANEH 2,400 [rEEmsemmARA 4800 |52\ Bd 2,800
[N 4,800 |55 AN 4,000 |53 B 1,200 |5 /3B 500
—EHZHRAF 8,000 | B 4,800 |Fem@EertsaaraE | 2,500 [1BR/N\E 9,600
—IEFEIEAE]] 4,500 [ LB THEARAE 3,000 |5 A A 2,000 [f5AABH 800
[CA 3,600 [f5A2ABH 3200 [repmEFEmEamELas| 4,000 [ER AR 500
SR 3,600 |15 4,800 hasmEgARAT| 4,000 [BR AR 12,000
[N 500 (AEHIRAH 11,000 |[f5A B 1,600 |53 B 2,400
=X 11,000 |nsssemnaraz]| 7,00 [BR AR 4,000 |BEAAE 1,200
[N 7,200 |15 FH 7,100 ({546 4,800 |53 FH 7,200
[N 2,400 [f5A B 6,300 [f5:AABH 2,000 ({56 1,200
THE 4,000 |54 B 4,800 |53 FH 500 [fFAABHE 7,000
BANE 2,000 [ 2,400 | EEARAE] 12,000 [15A N5 500
[N 500 [fFAAB 2,000 ({546 500 [fFAABHE 500
BB 2,000 |G 3,300 [H i EHEREAE 2,700 |3 ARG 2,400
THE 6,000 [f5A B 2,000 ({546 1,000 |5 2B 900
BB 7,300 [F/E=F 4,400 |I5AAF 2,800 |[fFA B 3,600
BB 500 | FRAE 4,700 |FH{pF 3,600 |JCFEA 2,400
Tz 3,600 [f5A B 2,100 [f5:AABH 3,600 ({546 4,400
T 3,600 [ {54/ B 500 |54/ B 8.200 | {5 /2 2,000
[N 500 |54 7,200 ({546 500 [fFAABHE 2,000
THEE 4,800 (5 /3BH 4,800 |{5A /B 1,600 [vemssmmaras | 1,200
BB 1,200 |15 B 1,500 |f5AAF 1,200 | LR EFEEREAE 3,700
BB 900 | 5% 1,800 |f5AAF 6,000 [zl EBEEREEZHT 3,600
BB 3,000 [ TREZE 2,100 |FFA B 3,600 |[fFA B 4,400
[N iz 5,000 | xBEREGARAT] 5,000 [EBARAR 4,800 |15A 2B 2,000
[N 3,600 | FZETHERRAE]] 4,000 |15 3,000 | S IEFRAE] 4,000
THESTEARAE 600 |56 400 |I5AAF 1,200 [f5AAFH 4,800
GAAB 300 [f5:AAF 8,000 [f5A A 2,000 [f5:A A6 4,800
GAAB 500 |54 300 |54 A6 5,400 [5G 300
GAAB 1,000 |26 7,000 JTaRARZELT 8,600 |SCHHE L 600
B NG 2,000 |fFAAGH 3,200 |5 A ABH 4,600 |F5AAE 500
TR 800 [f5:A /B 1,800 | AEEESKAT 3,600 |5 /8F 3,600
BB 6,900 |5 A 4,800 |15 A AFH 10,000 |f5FA A6 4,800




1 B B B 471 X 1% &
[SANG:| 2,800 [J7EEIM 2,100 [ BHE 4,800 |15 \B 2,800
[VANG| 500 | FEEE 4,000 [ ABHE 3,600 |15 A \B 1,600
[SVANG:| 3,600 |F5R2ABH 500 |15 ABE 500 | FE 600
Pakl|EES 4,800 |5 AABHE 500 |15 ABE 5,000 | F R 4,800
[SVANG| 2,700 |52 BH 12,000 [Fo0a%s 2,000 |15\ B 4,800
[VANG| 3,300 |5R2ABH 9,600 [fFA2\BH 2,700 |15 A \B 3,600
JI75 1 1,500 |Feasmmamas| 2,800 [EAR 2\ 2,100 | E X H 1,600
[VANG:| 600 |ERAStAIRAE | 8,700 | F 37k 6,000 | EF55 3,600
[ANG:| 4,800 |HisdEARAT] 1,500 | F o0k 3,600 [f5AA\BH 500
[VANG:| 11,000 [N 3,600 | F HHA 500 |8 ABHE 500
[ANG: 2,400 |55 BH 2,400 [ ABH 500 |18 ABHE 4,800
[ANG:| 2,200 |55 BH 10,800 [f5A /A6 500 |8 ABHE 10,500
Pk 500 |15 ABHE 3,600 |£5 AN 1,800 | FE7¢ 11,000
[VANG:| 1,800 |5 ABHE 500 |8 ABE 2,000 | F2 5 3,600
[VANG:| 3,600 |F5RABH 3,600 |£5AN\E 12,000 [fFAA6H 2,800
(NG| 11,600 [F1EHk 3,600 |£5 AN 800 |fF B 3,600
[ANG: 1,900 |#5 A2 B 500 |8 ABE 3,600 [F5AANBH 3,300
(VNG| 500 |F AR 2,400 [ ABH 500 | E47ZE 500
(VNG| 3,600 |5 NBH 600 |15 ABH 7,000 [ ABH 5,000
(VNG| 500 |F AR 300 |F A ABE 3,600 [ ABH 4,800
[eVANG| 600 |1 S ABHE 4,200 | FE5ALE 2,400 [F5ARABH 500
[(eVANG| 1,200 | E5E8E 4,500 [fFAABHE 5,000 [f5ARABH 10,000
I 3,200 |54 7,200 |15\ BH 3,300 | E#% 3,600
(VNG| 3,300 |5 NBH 500 |fF A ABE 3,000 [F5ARABH 500
(VNG| 2,000 |5 NBH 3,200 |15 B 4,400 | FiiEE 3,000
[eANG| 4,500 [4-EnE 2,800 | FIFsH 3,600 | F s 1,600
T3 4,000 | FE—JN 1,200 | F oA 1,200 |18 R 1,400
(eANG| 2,400 [E—% 4,400 |5 ABHE 500 |18 ABdE 500
(NG| 500 | E2% 1,200 |#5 A 2B 500 |8 ABdE 2,000
(NG| 4,000 |[#5AR 2B 4,800 [ ABHE 500 |18 ABdE 4,800
(eANG| 4,800 |#5A2\BH 11,000 |#5AR 2B 500 | EFHE 4,000
(eANG| 1,200 |55A A6 2,400 [F5ARABH 4,000 [FFARABH 3,100
(eANG| 500 |5A B 30,000 |fSAABE 500 | EFH 3,400
(NG| 1,000 | E7#% 500 |fF A ABE 400 |5 500
(eANG| 8,000 [f5A/\6H 1,800 | FE38 800 | EFHH 8,000
(eANG| 4,000 | /N 1,800 | £ E# 2,000 [F5ARA\BH 500
JHEETT 3,600 |54 A6H 3,500 | F 4,000 [FFARABH 600
T3 5T 800 |5 AL BH 500 |fF A ABE 12,000 |#5A 2B 4,000
[SANG| 3,600 [f5AA6H 2,400 [F 3 500 | EFHE 4,800
Pakatsi 8,400 [f5A/\6H 7,000 |54\ BH 4,800 |54\ BH 500
[N 3,600 | £ 600 |#5A B 1,000 |5A AR 6,600
[N 7,000 |[15AL\BH 4,400 | F e 600 |F5A 2B 1,200
[N 4,800 |£5A2NBH 3,300 [ESEIL 3,300 [EFHE 1,800
[N 2,400 [{5AA6H 500 | E£43H 2,800 |15 AN\ BH 3,600
FHE 1,000 | F5A A B 4,800 |H5A LN BH 800 | EFHH 500




B4 SHH B4 S 21 X B4 S
JI8%0IR 3,600 |f5-A2ABd 3,700 |f5-A 2B 4,800 [ A6d 2,400
BANE 4,400 |15 A5 500 (A 2B 1,600 [f5-AA6d 8,400
SR 1,600 |5 A2 B 4,800 | FHiks 3,600 |50 500
BANE 3,600 |f5A A BH 1,200 | =5 3,600 [f5AA6H 7,200
SR 6,000 |5 A2\ B 2,100 |15 A \BH 500 | eSS 300
SARNG 500 |#5A 2 B 500 |5 ARE 5,000 |52 B 2,100
SR 500 |15 KA BH 4,000 |#5A2\BH 500 |FFAAFE 1,500
BHANE 1,200 | EAf4b 3,600 | FHEHE 2,800 [ 3,200
BHANE 500 |f5AABH 500 | FHE 400 | BT 1,000
BANE 3,600 | EANGE 1,200 [ A6 2,000 [ 3,600
SN 4,800 [#5A 2B 500 | EfkE 600 |fFA B 900
BANE 4,800 | FAREFH 500 | F &t 4,000 [ A6H 500
SANE 6,000 |15\ B 500 |3 A ABE 4,800 15K /\BH 2,400
SN 2,000 |15\ B 500 |3 B 4,000 |{5A\BH 2,400
SANE 12,000 15K AFH 500 |3 B 4,800 |15 A N\BH 3,300
BHANE 6,100 | EHx[E 3,000 | FJagr 3,600 |05 TAE= 600
A AGE 3,600 [f5A2ABH 500 |5 A6 1,000 |masmbrarsamas 900
BANE 3,600 | F&= 3,200 | FFfE 4,800 [d—F1r 4,800
SR NE 2,000 |15\ 5H 4,400 |15\ BH 3,600 |15\ BH 3,300
SR NE 500 |5 AEE 500 |fFAABE 2,400 | 5 ST 4,800
FSF 1,600 |[fFAANEE 500 |fFA B 1,200 |54 BH 2,000
FEF 500 | A ABE 12,000 |[#5A A 500 |FFA B 4,000
Bl 2,400 |15 N\5H 500 |3 ABE 3,600 |15\ BH 500
BANE 2,800 | F &= 300 |fFA B 7,200 [ A6d 500
SR NE 400 |5 A 5,000 | F Epee 3,900 |drfir s gatat 800
SR NE 1,200 |[#5A 2B 1,200 |#5A 2B 4,800 |15\ BH 500
B =Vl 4,300 |[fFAANEHE 500 |fFA B 1,200 |54 BH 12,000
FANE 1,500 [5-AAEH 500 |fFA B 5,000 [f5A2A6d 500
B =0a] 2,700 [f5A 2B 2,000 [ AEH 1,000 |[fFAABH 500
SANE 500 [BFA B 1,600 ({54 FH 500 |FFA B 500
HFANE 4,300 [f5A B 500 | FI5E 1,200 | &5 HEE 500
FiaE 1,800 |[f5ANFH 400 | 54 1,200 | dpE 5,400
FaE 1,200 |f5A B 2,000 | FI5EE 2,200 [f5AA6Ed 500
SANE 500 [ NFH 8,000 [ \6H 500 |FFA B 500
SANE 12,000 (54N 1,200 ({54 FH 500 | ABE 2,400
FANE 5,200 526 500 |fFA NG 4,300 [ ABH 500
HFANE 6,000 | F{& 500 | FIEEE 9,600 [f5AAEd 4,800
HFANE 7,000 [ ABE 10,800 [f5-AH2ANEd 1,200 |[fFAABH 600
BB 2,000 | A 3,000 |3 A B 3,200 |3 ARG 800
B NG 1,800 | &= 2,400 |fFAAGH 3,600 |[fFAABH 2,400
[N iz 6,600 |#5A /G 900 |51 N5 eSS 500
B NG 4,400 | F iy 2,700 |5 A ABH 12,000 (52 &1 900
[N iz 500 |5 NF 3,600 | E§E4f 3,300 [Sh5EZ 7,200
[ iz 3,600 |#5A/AFH 500 |55 2,000 |56 6,800
Eikia 800 |51 2B 1,000 [f5AAFHE 900 [f5AAFHE 3,600




g S| B2 x| B x| s S|
BANE 3,200 |f5-A A6 3,000 [fFA B 4,800 [ A6d 3,000
[N 3,600 [FEdian 300 [f5A A6 500 |SEEREAERAE] 1,200
[N 1,800 |f5AH 2 B 4,800 |F5A 2B 500 [5G 3,600

B 3,600 [f5 ARG 500 |15\ 1,800 [f5A /2B 4,800
[N 7,000 |15 23FH 500 [5G 4,800 |FFA 35 500
FEU= 3,600 |f5-A A BH 2,000 |56 4,800 [ A6d 7,800
BANE 500 |f5AABH 11,000 [ A6d 1,600 |[fFA B 3,600
BHANE 300 | I3 A6 500 (152N B 2,400 |eitmmimasomammmns 4,800
[N 500 | R Fl 4,800 |t /3B 500 [fFA B 4,000
FEIEH 300 [FZREY 500 |53 BH 4,000 |f5A /3B 1,800
BANE 800 | FHEFH 12,000 | F=/& 5k 4,800 [ A6H 4,800
(AN 500 [fEANBHE 2,400 |15 /N5 1,200 |emmmsmmars= | 4,800
BHANE 800 [f5-ALNFH 2,000 [ 4,800 [ A6H 1,600
[N 7,100 | ERCE 10,000 [FEE 1,200 |emsmnaenaensa | 4,000
[N 3,600 [f5 ARG 300 |52 BH 500 |f5A 3B 4,800
YN 3,300 |5 2NEE 2,000 |54\ 6,000 |ememsicrmb AR 4,000
SN 500 [FRtA 2,100 {5 ABHE 2,700 |G s AmRA 4,800
[N 1,200 [f5AA B 500 |54 A6 3,600 |aBEEGERHARA 6,000
[N 500 [fFAAB 500 [B5A B 2,000 ({56 5,400
[N 500 |54 B 2,400 |F5A B 4,000 |sEstastgitis s | 2,400
[N 500 [fFA B 500 | E24E 800 [f5:A A6 1,500
[N 500 [fFA B 500 |54 A6 600 |5 /3B 4,200
[N 2,700 [f5A B 2,000 ({546 500 [EEHIRA 600
[N 2,100 [f5A B 500 |54 A6 3,200 [f5:A B 2,000
[N 3,400 [f5A B 4,400 |53 B 500 |15 FH 11,000
[N 1,200 |f5A 3B 3,600 |5 A 600 {?K“Fﬂ% 4,400
[N 4,800 |15 AR ABH 500 |15\ 1,200 |msgstraesamas| 3,400
[N 7,200 |54 /2F 500 |54 A6 600 |5 /3B 3,600
BB 3,600 |3 A AGH 500 |fFA B 3,600 [ AFIEEHR/AE 1,500
F (SR 4,000 |18 256 3,600 |15 ABH 500 |54 2fH] 4.600
HFANE 2,000 |5 A ABH 5,000 | ££5H 800 |G 1,800
XN 10,000 [fSA B 2,800 [f5:A/AFH 1,800 [Emmmreamas| 4,800
FANE 4,400 | FfUH 500 |fFA NG 500 |EAAE 6,000
EPACT 2,400 |48 500 |84/ \BE 500 | TR ARAE 2,400
CEANL 4,200 | T35 500 | F & 3.600 [fSA 4N 4,800
T8 3.600 [{SA /A 1,200 | F E24 2.400 Rk AEERY 3,600
FEE 900 |5 A ABH 2,000 [5G 1,100 [f5A B 2,400
+&E 3,600 Tﬁ‘/T\ NG 800 |51 B 3,600 A EsmmaEAT| 4,000
[N 4,800 |5 A NG 500 |[fFA B 1,200 k& RHCAPRAE] 900
[N 1,000 |15 B 4,400 |15 A AF 500 |BEAAE 1,500
[N 500 | FslE 300 |fFA B 4,800 |F5AAE 4,800
[N 500 | FHCE 8,000 |G 2,400 |3 A ABH 2,000
E A 3,600 [T 7,200 |5 A ABH 3,600 |[fFAABH 5,200
[N 500 |56 500 |EBET 4,000 |F5AAE 800
[N 500 | FREE 1,900 |15 A AF 1,000 |f5A A6 1,800




Gl EE Gl R Gl R Gl S|
[N 4,000 |f5A 2B 500 | FheEdS 500 |15AABdE 3,600
(=% /NG| 2,400 |5 NEE 500 (157N B 500 [FEird ks pAarR A= 3,600
S AL 4,400 (5B 3,300 | F3eSL 500 [fFA B 4,800
S AR 200 | FIRES 500 | F e E 1,200 [H &% 500
[N 3,600 |f5A 4N 500 |5AABHE 10,200 |[{5A N5 1,500
SR 2,100 [f5A B 500 |F5A 3B 6,000 |5 2B 4,800
347 3,300 [f5-A B 500 | FERERE 1,800 | HIE[EL 1,600
{SaANG| 1,000 |f5A 2 500 [F5ABE 4,400 |F5AABE 800
{SaANG| 1,200 |f5A 2B 3.600 |fFA VB 300 [F5A B 9,600
{Sa/ANG| 4,000 |fE5A B 500 [5ABE 2,000 |15-AABE 500
{SANG| 4,800 |f5A B 500 |54 B 3,600 |[15AABHE 4,800
T 3,000 |f5A 45 2,000 |{5ABE 500 |fFA2NEH 4,400
{SANG| 4,800 |f5A B 500 [F5ABE 500 |fFA 2B 500
{SaANG| 2,800 | FIsAE 3.600 |fFA VB 900 |fFA 2B 6,000
{Sa/ANG| 1,800 |f5A 2B 1,500 [F5A 2B 500 |fFA2NEH 500
{SaANG| 12,000 [F5A G 2,800 |{5AABHE 4,800 |FFABE 2,700
+ U 4,800 |f5A 3B 300 |5AABHE 1,000 |f5A 2B 3,000
(SRANG| 2,800 |[15-AABH 6,000 |15/ B 3,600 |15-AABHE 500
T+EE 4,600 |f5A B 500 |BA B 500 [FHIEEZ 2,100
[ AN s 1,600 |f5A 2 B 2,000 | F 75 5,000 |23 BH 10,000
+ ERE 300 |t5A B 1,500 |5A B 3,400 |1§ANFH 1,400
(SRANG| 1,800 | FA&7HE 4,800 |F5ABE 3,000 |[15-AABE 3,200
(SRANG| 4,800 |F5A 2B 1,200 [F5A 2B 3,600 |15-AABHE 1,100
(SaNANG| 3,000 [EFIA0 800 [F5ABE 4,800 |F5FA2BH 2,400
(SaNANG| 4,800 |F5A 2B 3,600 |fSFANBH 3,000 |[15-AABHE 2,100
(SaNANG| 500 [fFA B 500 |54 B 2,000 |[15-ABE 1,200
(SRANG| 300 [F5A 2B 2,000 | T jeifE 900 |FHAER 500
FALBH 1,200 | £k 2,800 |{§-A 3B 500 |15 ABHE 5,400
TEE 500 |F5AABH 4,000 |FEEE 1,200 |5A 2B 3,600
TEZ 4,800 | FZE 5 500 | FEISF 3,600 |srsiesgamas| 12,200
(SaANG| 500 [FFA B 4,800 |F5ABH 4,800 |FFABH 3,000
ERUSIR 400 |F5AABH 500 [F3EE 4,800 |15A 3B 500
[SaANG| 3,900 | FFl4 600 | F3> 500 |fFA2NBH 2,000
[SaNANG| 3,000 |{SAINBH 1,800 [F5A 2B 500 [HH= 6,300
+5 4,800 |f5A B 6,000 |{5A /3B 4,000 |15A 3B 3,200
VA 4,000 |f5A B 800 [fFA 2 B 500 |15 ABHE 1,600
FALBH 2,400 [EE G 900 |15 ABH 3,200 |1§A43BH 2,000
FA LB 3,200 [F&EZ= 2,400 | F3EE 2,000 |1§A /3B 500
(SN 4,800 [F5FA B 1,500 [F5A B 500 |FFA2NBH 1,200
FAEEE 3,600 |54 235 2,400 [F3E3% 500 |FA B 500
(SN 2,500 |1FAINBH 500 [FFA B 500 |HIKE 2,300
BN 4,800 | Ei76ER 4,800 |FFABH 500 |FFA VB 7,200
(SN 2,400 |1SAINBH 6,800 |{5-A /B 2,000 [FFANBH 7,200
(SN 900 | £E(E 900 |54 B 500 |15 ABHE 4,400
(SaANG| 4,300 | F{E¥ 500 | FBAABE 2,700 |1§A /3B 6,000




g S| B2 x| B x| s S|
G AGE 500 [FEANBH 4,800 |5 BH 1,200 [f5 AN B 500
B NG 500 |5 BH 200 [fFA B 4,000 [ A6H 2,400
G AGE 500 [FEANBHE 500 |15\ 500 [5G 5,000
FRHE 4,200 |15 A5 500 | =REH 3,600 [f5AA6H 2,400
BB 4,400 |15 A5 400 |56 500 [ 6d 3,600
B NEH 500 |f5AABH 500 | FRE& 0,400 |f5-A2ABd 1,200
BB 500 |f5AABH 2,000 [FREI 6,400 | FEF] 1,200
[ AN s 2,000 |#5A 2N 500 [fSA A6 4,800 |FFA /35 500
[ AN s 2,000 | FE & 6,000 |55 3,000 | R 4,800
[ AN s 500 [fEANBHE 2,400 | B35 600 | EREE 3,600
BB 2,800 |56 2,000 |FREEE 2,000 [ 2,700
BB 2,400 |56 3,600 |56 6,000 [ A6d 3,000
BB 4,800 | T2 EE 4,300 [ A6H 3,600 [f5AA6H 4,100
B NEH 7,400 [ AN6H 4,300 [N AB6H 500 | AN 3,000
[ aANGia! 500 | FHEZ 4,000 [ AB6H 4,800 [ A6H 4,800
BB 24,000 [f5A B 4,300 [N AB6H 500 | A AE 1,200
FEX 4,800 [f5ANBHE 2,800 |55 A /35 500 [fFAABHE 500
SN 500 [fFA B 4,800 | FREE 2,000 |54 235 2,000
FEE 3,600 |5 26 2,000 | FREE 3,700 |55 36 12,000
[CaaANGi: 500 [fFAAB 4,800 |55 2,100 |F5FA /36 4,800
BN 500 [fFA B 2,000 |40 500 [fFA B 400
SN 1,200 [f5A 2B 3,600 |f5AH /A 500 [fFA B 900
FE¥B 4800 | THiFE 3,600 |52 BH 900 | ke 6,400
FE2 500 [fFAAB 500 |F#E 4,400 |35 2,000
[CaaANGi: 3,600 | &3k 500 |B5A 3B 900 [f5A /B 1,500
BN 500 [ &7 2,000 |3 6,000 |43 500
SN 500 |54 B 4,800 [BFA /N5 500 |52 B 3,600
FANE 3,000 | E55E 2,800 | -E & 5,000 |[fFA B 500
BFANE 400 | E3E 3,000 |fFA B 3,600 |[fFA B 300
FANE 5,000 |fFAABH 500 |fFA B 400 |06 500
FE= 500 |FFA NG 500 | ARG 4,800 | fEAH 3,300
HFANE 500 |FFA NG 12,000 | FZEH 4,800 |F5AAE 1,500
FANE 1,000 | 3% 4 4,800 | FE2EEE 600 |BEAAE 600
HFANE 500 |FFA NG 600 |fFA B 1,000 [f5A 2B 4,800
FEEE 4,300 [ AEH 500 |5 B 9,600 [f5AAEd 500
FANE 400 | EHETT 4,800 |F5AAF 2,000 |G 6,000
[CaaANGi: 500 | EHESS 300 |54 ABH 2,400 |56 3,200
FEE 3,600 | FHERR 1,200 | TR 600 |BEAAE 3,600
[N 500 |EHER] 500 |[fFA B 2,000 |3 B 500
FEE 4,300 |15 AFH 2,000 |5 A B 500 |BEAAE 2,000
[N 5,000 | EAER 2,100 |fFAABH 500 [RaskETRARA 4,800
B NG 3,000 | FHEE 3,000 | FEElE 800 [FaikETARA 7.200
T 3,000 HJF g 4,200 |f5AAF 2,000 |[fFAABH 2,400
[N 500 |56 500 |fFA NG 4,800 |F5AAF 7,000
[N 1,500 |5 A AGH 2,000 |5 A B 500 | RIETTHAPRAE] 4,000




g S| B2 BHH B SHH s et
BB 2,000 |f5-A2ABd 500 |5 2B 3,600 [f5AA6d 1,200
TEE 4,800 |15 A5 600 |tHEFEIEEHIRAE 600 |52 4,800
BB 4,800 | F Gk 3,000 [N B 1,200 [ A6H 1,500
BB 400 [f5AA6d 3,000 [fFA B 1,800 |15 A5 4,800
[N 3,600 [f5A G 2,000 |frezmmamas| 1,000 [ERAEE 3,600
LA 3,600 |G 500 | A ABH 500 |53 B 1,600
BANE 0,000 |f5A 2B 4,800 |FFAAFH 7,700 | S0 B 500
BHANE 3,600 [f5A6H 2,000 |f5-A B 3,000 | &=k 3,600
[N 800 |G 4,800 |t /3B 500 [fFA B 3,600
SrETEREARAE] 3,600 TAHE 2,000 |{r 2% 3,600 |54 2 B 2,000
RepEimARAT| 2,000 |1BARAE 3,600 |feTETs 800 [ %2 iz 500
FE 300 |G 3,600 |5 A A 500 [fFAAFE 3,600
BHANE 1,500 |I5 A A5 500 | A ABH 4,800 | Sl 4,800
BHANE 7,200 |15 A5 825 [5G 500 [SiiFA 400
[N 2,400 |G 4,800 |f5A /3B 5,000 [f5AABH 2,600
BHANE 3,000 |f5A2ABd 2,000 |f5-A B 500 |G HE 3,200
{LJELE& 500 |EA B 500 |B5A 3B 1,200 |5 /3B 500
L Fy 3,200 VT AEE 1,600 |f5AAF 4,800 |B5AAE 500
(AlEE 4,800 |54 3B 1,200 |5 2B 3,600 ({546 10,600
A Z AR AE 4,400 |I5AABH 3,000 |fa[&EE 4,400 |25 %E 500
BFANE 4,000 [JT{EfE 3,000 |G 3,000 |55 500
[NiSYES 2,000 [ NBH 3,000 |£5A 2B 1,500 =555 4,400
[N 11,800 [f5A B 6,000 ({5476 4,800 |53 FH 1,000
[N 4,800 |54 3B 3,000 [FFA A 3,600 ({546 1,000
(EEfw 7,200 |15 FH 1,200 |5 2B 4,800 |53 FH 3,600
FE 5,400 [ ABd 4,800 |F5AAF 500 |S=F5E| 500
[N 1,000 |f5A 3B 5,000 ({546 4,800 |53 FH 500
Ex5 3,600 |, THH= 1,200 [{a]HEE 500 |EAAE 4,400
(EHMEE 12,000 |54 A B 6,000 |5 AABH 1,800 [f5A B 4,800
{EEE 300 [fe:AAF 4,400 |52 B 3,600 | = EH 16,200
[N 500 |54 2,400 |frTiIEE 2,000 |ZEE 1,000
[N 3,600 [f5A A 5,400 [f5:A/AFH 2,400 [5G 600
BB 2,800 |FFAAGH 500 |fFA NG 6,000 |G 500
SORRHCAPR A E] 300 PTAE 500 |fFA B 4,800 |RE1E 3,600
[N 3,600 [f5A B 4,800 |5/ FH 800 |54 2B 500
(AL 4,800 |JTPTER 1,800 |3 2B 6,000 | S5 900
S NYPRERAT| 7,200 TR 12,000 |54 ZBH 500 |[{5A 2B 3,000
(AL 3,600 |fEA /3B 4,000 |5 236 1,000 |2 F{5% 3,600
S BIREEER  ATRAE 3,600 |15 7\FH 500 (farFfEEE 2,800 |15 \EH 3,600
SREERNARAT| 2,800 |15 AR 2,000 [F5ARZEE 500 | AR 4,100
SREEEARAT| 4,800 DT{EEE 4,000 [{o[EE 4,800 |52 2,000
GAAB 3,800 [f5A B 4,800 |51 FH 500 |52 B 3,300
Lol ERAT | 3,600 [5G 3,000 |5 ABF 500 |52 B 1,200
[N 800 | A B 3,000 |{rT4EER 5,200 [ fEF 500
GAAB 12,000 |JIoHSE 500 |54 A6 500 |52 B 3,600




B4 SHH B2 S B X s S
G AGE 2,400 |15 A\ B 3,600 [f5 A6 500 |56 4,800
[ aaANGis 2,000 |15 A2\ B 500 |5 NBH 500 [AEEFS 9,600
BANE 1,800 |15 A5 500 [fFA 2B 1,200 [ A6H 2,000
BANE 500 |fAABHE 500 [fAriEGE 3,600 [f5AA6H 1,600
AT 8,400 [/ 500 [{nffsAs 6,000 |15 A 2\FH 900
SEeE TRAEAT| 5,000 [B5R A\ 1,200 |15 0B 2,000 [f5AR2 6 600
SR 600 [f5ANBH 6,000 |55 A /35 600 |FFA B 2,000
SANE 3,200 |[{5 A\ B 5,000 |FFA 235 4,800 |FFA /35 900
SR 3,600 |15 A\ B 1,200 [5G 500 |FFAAFE 1,000
[T 1,200 |15 A5 500 | A ABH 400 |S=EE 4,500
A ET 0,400 |f5A A6 2,000 |frEE=E 500 |EA A 1,200
BANE 9,600 |15 AEH 2,600 [ 4,800 |Af &S 3,600
SANE 7,200 |15 A2\ 5 6,000 |55 A /35 0 [IFA NG 6,000
SN 4,800 [f5ANBH 3,700 |1£5A A6 7,600 |F5FA /35 500
L EEAIRAE] 1,200 PT84 4,300 [ AB6H 500 [SRfmlZs 2,400
BHANE 300 [fSA NG 4,800 [5=/NiE 2,000 [ 4,800
SN 7,000 15425 3,600 |£5A G 2,800 |FFA /35 400
SR NE 4,800 [f5A A FH 500 |53 4,800 |BFA /35 4,800
BFANE 4,800 [JT Mt 1,500 [f5-AA6d 500 | S 3,300
SR NE 2,400 |F5A /36 3,600 |f5AH A 500 |FFA B 3,600
SR NE 2,000 |54 36 4,800 [BFA /N5 2,000 |4 /3F 500
BFANE 4,800 VT Epk 2,800 [ AEd 12,000 [ S {ilas 4,800
SR NE 4,800 [f5A B 4,400 |55 3,300 |36 4,000
ZAEE A EL 4,000 [JTHEEE 1,000 | 3,600 |54 /36 500
BFANE 2,400 |V ToRNER 4,800 |:BEFHFFH 400 |FFAAE 1,600
SR NE 4,800 [f5A B 4,800 |5 /NF 500 |FFA B 4,800
skpaRaramaE| 3,300 [T 3,600 |f5AH A 2,700 | S pZ: 800
SANE 4,800 [FFA/NFH 500 |5 ABE 500 |fFA B 400
BFANE 3,600 |3 A AGH 3,600 |fFA B 600 [ EE 5,500
SANE 6,000 |’ T#UEL 500 |5 ABE 1,100 [f5AAFH 500
Y FE Fy 7,200 [ TREE 6,600 |SREF 4,000 |5AAE 4,800
SANE 3,300 [[TE5 6 300 |5 B 7,000 | S=BEE 1,200
PREREEG TEE] 3,200 [BR A 3,600 [sRdES 4,800 |F5A 2B 500
HFANE 2,100 |FFA B 500 |sRRAE 4,000 |F5AAE 500
mssEm TAARAT | 2,400 |[EBRABE 7,200 ({546 1,200 |5 2B 500
FANE 2,000 |FFAABH 2,400 |5 A NG 1,600 |28 4,800
SANE 500 [ NFH 7,200 |5 05 500 |FFA B 3,600
H 3 25 3,600 |fFA B 2,900 |5 A NG 3,600 |[fFA NG 2,000
[ iz 3,600 TR 500 |5 B 400 |5 AFF 3,300
[ iz 3,600 |#5A/AFH 7,700 |15 F 500 |5 AFE 800
AHEAIRAE 1,800 PTAG%E 3,300 |51 26F 500 |5 AFE 7,000
B NG 500 [T TR 2,100 |fFAABH 1,800 | 600
[N iz 500 |5 NF 4,800 |{5A /B 2,000 |15\ BH 1,500
B NG 500 |FFAAGH 4,800 |15 A AF 2,400 | =T 3,400
BB 1,000 |15 AFH 2,400 |5 A ABH 500 [A5RER 1,600




1 B B B 471 X 1% &
[SANG:| 4,800 [T 25 3,000 |5 2B 1,200 | ‘A ERE 4,400
Rk T 4,800 |15FR 2 BH 4,800 |REE 3,600 |15/ B 2,700
[SVANG:| 1,200 |15 ABHE 1,200 |SR4LEE 2,700 [ A\BH 500
[SVANG| 300 |54 B 7,200 [fFARABHE 2,000 [REHZE 1,400
KEEH 3,100 |5 2ABH 500 |15 ABE 2,000 [REFE 2,700
[VANG| 4,800 JTEFSC 4,000 [ ABHE 2,000 [ NBH 3,600
[ANG:| 5,500 |5R 2B 500 |s3EEE 300 |[fF AR 600
[VANG:| 500 |15 ABHE 500 |S A ABE 500 | =587k 1,000
[ANG:| 900 |#5 A2 B 2,800 [FFAA\BH 400 | 515 = 600
EHS 900 |#5 A2 B 6,000 [FFA\BH 2,100 [\ BH 7,000
[ANG: 800 [fEAABHE 500 |8 ABE 500 | 58 3,600
[ANG:| 5,500 |5R 2B 400 115 B 2,000 [ ANBH 6,000
[VANG:| 500 | ERIERETT 1,800 |20 3,300 |5 A ABH 3,600
[VANG:| 4,800 |5 ABHE 4,800 [fFAABH 2,000 |5\ BH 4,800
RECE 500 |15 ABHE 1,200 |5 ABE 500 |8 ABHE 2,400
KiBEE 1,500 |#5 A2 B 2,800 |SHEE 400 |5 AFF 800
KI5 500 |15 ABE 4,400 [\ BH 500 |18 ABHE 4,800

T 4,000 [EBEEARAT] 4,800 |B5ALNE 500 |8 ABHE 3,000
(VNG| 500 |F AR 4,800 [fFAABHE 12,000 | S AERK 2,400
(VNG| 500 |F AR 4,800 [FFAABHE 2,000 [F5AABH 2,400
[eVANG| 500 [MFRERAEIRAT] 12,000 [BAR A 2,000 |15\ B 2,700
[(eVANG| 500 |F AR 2,000 [ ABH 2,800 |S1GER 3,600
(VNG| 15,000 {5 AN BH 4,800 |sREEER 7,200 [ ABH 6,000
(VNG| 500 |fF AR 1,600 |5 B 9,000 | =165 500
(VNG| 7,200 |4 pETT 1,500 |18 R 500 | A&t 3,600
[eANG| 3,800 |5\ BH 7,000 [ A ABH 1,500 |18 R 10,000
[(eVANG| 7,200 [f5A 2B 400 |15 ABH 500 |8 ABHE 4,800
RN 1,200 [semmsmmamas| 3,600 [ AR 4,000 |75 500
(NG| 3,000 |34 A6 2,000 [ A\BH 3,600 [F5ARA\BH 500
(NG| 2,700 |15 A6H 900 |13 /ABHE 2,000 [FHEFEE 500
(eANG| 1,200 |{o] 755 500 |fF A ABE 2,000 [F:HEFEE 500
(eANG| 4,800 |#5A2\BH 4,000 [ ABHE 2,000 [FBHFE 3,600
(eANG| 4,000 |[#5AR 2B 4,400 |5 ABHE 2,000 [F5ARA\BH 3,600
SRRk 3,300 [{SA N6 2,400 |54 BE 500 |5 AR 4,800
KEE 3,000 |55R 2B 3,600 | 3,400 [ ARA\BH 6,000
EFER 4,800 |#5AR2\BH 4,800 [ ABHE 500 | Sk 3,600
(NG| 500 |5A AR 2,000 [ A\BH 4,400 [ ABHE 300
(eANG| 500 |5A AR 500 |fF A ABE 500 |8 ABdE 500
[SANG| 1,000 |55A A B 500 |fF A ABE 4,800 [FFAABH 4,800
[N 500 |B5A AR 2,000 [f5A B 500 |18 ABdE 3,600
KR 4,000 |[#5AR 2\ BH 2,800 [5G 2,400 [5G 3,600
[N 2,000 [f5A2A6H 400 |15 ABHE 4,800 [HEEL 7,200
[N 500 |B5A AR 500 |fS A ABE 2,000 [FF R\ BH 4,800
[N 400 |B5A B 2,000 [f5A B 500 |18 ABE 100
NS 3 4,000 |{a[fEE 4,800 [fFA A BH 400 |25 3,000




1 B B B 471 X 1% &
ELE 3,600 |F5R2ABH 4,800 |55 35 500 | B 600
[VANG| 2,000 |52 BH 500 |BTE 4,800 |15\ B 1,300
[SVANG:| 500 |15 ABHE 500 | ==& 3,200 |15 A\ B 500
[SVANG| 3,200 |52 BH 4,400 [ ABHE 3,600 |15 A \B 2,000
KRR 300 |[f5 A2 BE 500 |5 Y 8,000 |#5 A 1,000
R 4,800 |5 AABHE 500 |15 ABE 500 | B 500
[ANG:| 1,200 |5 ABHE 500 | S0 3H 9,600 | AR H 3,600
SR 500 |15 ABHE 500 | =30 2,400 |15 A\ B 2,800
[ANG:| 500 |15 ABHE 4,800 [fFAABH 1,000 |SRKE 2,400
Nl 4,800 |5 ABHE 5,000 | S0H 5,400 [ ANBH 500
[ANG: 4,800 |5 ABHE 500 |8 ABE 300 |[fE AR 900
[ANG:| 500 |15 ABHE 3,000 |£5 AN 500 |8 ABHE 4,000
R 3,600 |15 2N6H 3,600 [ /A6H 500 |FFAAFE 3,600
[VANG:| 3,900 |15 A2\ B 3,600 |AIE 600 |R4EL 7,200
EHR 4,800 |5 AABHE 3,000 |F5A N 4,800 [FFAABH 3,000
KRBT 1,200 |5 ABHE 2,400 [ ABH 1,000 |84 R 2,000
[ANG: 500 [y B8 2,700 | HE) 600 | REFH 3,000
(VNG| 3,000 |5\ BH 4,200 [FFAABHE 7,200 [ ABH 4,800
SRE 1,600 |#5 A2 B 2,000 [ ABH 2,000 [F5AABH 500
(VNG| 6,000 |{a] B A 500 |fF A ABE 500 |8 ABHE 4,800
[eVANG| 500 |F AR 3,600 | R 10,800 | 55551 2,100
[(eVANG| 500 |#5A2A B 4,800 [ ABHE 1,500 |18 R 1,000
(VNG| 500 |F AR 6,000 [FFAA\BH 500 |8 ABHE 2,000
(VNG| 600 |fa] Ei[5] 2,400 [ ABH 300 |[f5 A 2B 3,600
(VNG| 1,500 |15 ABHE 1,000 |15 B 500 |8 ABHE 500
[eANG| 4,000 |15 R 3,600 |15 BH 1,000 |[1§ AR 500
KX 800 |fF Ak 500 |fF A ABE 500 | &% 2,400
ERELH 500 |{af e 3,600 |5 R 2,000 |A{BE 4,800
Gl 500 |5 1,800 |f5A 2B 500 |8 ABdE 4,000
(NG| 11,000 | 2545 2,400 [ ARA\BH 500 | B %k 3,600
(eANG| 800 |15 AL BH 500 |fF A ABE 500 |8 ABdE 1,500
KIRE 500 |fa[ K% 800 [fFA B 2,000 [F5ARA\BH 4,400
(eANG| 500 |5A B 4,800 [ TR 500 |8 ABHE 4,800
(NG| 7,000 | %% 4,800 [ B 3,600 |E &1 2,100
(eANG| 2,200 |{a]{% 4& 4,400 |5 ABHE 3,600 |AATEL 4,800
(eANG| 400 |5A B 2,100 [ ABHE 500 |8 ABHE 4,800
(NG| 500 |fr7{% e 3,600 |15 B 2,800 [FFARA\BH 2,400
(eANG| 500 |5A AR 2,700 [FF AR\ BH 3,600 [FFARA\BH 3,600
[SANG| 3,600 [f5AA6H 1,800 |#5A 2B 4,000 |54\ BH 1,800
[N 500 |B5A AR 600 |f5A Ak 2,700 |15\ B 4,800
[N 7,000 |[15AL\BH 500 |2 B\AE 1,200 |F5A B 3,600
[N 3,000 [f5AZA6H 500 |#5A AR 600 |15 B 4,400
[N 500 |B5A AR 500 |#5A AR 500 |18 R 2,400
[N 1,200 |55A B 600 |4 2,400 |15 \B 1,800
[SANG| 500 | -3 1,200 |5A A B 12,000 | 55354 2,700




B2t e B2t BEE T BHE B2y BHE
BB 500 [{ATAE3 2,800 [ 3,200 |G 500
[ AN s 500 [f5A B 800 |55 H 600 |f5A 3B 500
[ AN s 3,600 [f5AAB 1,600 |f5A /3B 4,800 |15 3B 3,600
BB 4,800 |[fFANEE 600 |15 2B 3,600 |3 ABH 2,400
[ AN s 500 [f5A B 500 |5 A6 600 |f5A /3B 4,200
ANSE 8,700 |15 A6 500 |5 2B 2,700 |2 EFH 500
[ AN s 500 [f5A B 7,200 |F5A 3B 3,600 |f5A 2 B 400
BB 2,800 [f5ANBd 2,000 |2EE 4,200 |22 7,200
[ AN s 3,900 [f5AAB 3,200 |5 B 400 [5G 500
[ aANGia! 400 (5 A6H 3,600 |fF ARG 500 |ZEEE 3,600
BB 4,800 |[fFANEE 500 | KaHEE 3,000 | EE 4,000
S EE 600 |54 /3B 3,600 |5 B 3,600 |f5A 2 B 3,400
S ABE 2,000 [f5-AAB 6,000 |54 /35 5,500 |F5A 2B 400
[ AN s 4,000 |f5A 3B 4,400 |55 6,000 |51 235 500
[ AN s 900 [SAEEA0 500 |BAABHE 1,200 [f5AAFH 3,600
[ AN s 4,800 |f5A 3B 500 |ZZF8hE TAE=| 1,600 |f5A /3B 800
BB 2,000 [f5A A6 500 |5 A6 500 |ZEFEE 4,400
[ AN s 800 |54 B 2,400 |F5A B 4,500 | 256 1% 2,100
SRR 3,600 |54 2B 600 |5A B 2,400 |52 B 500
[ AN s 400 [5G 3,000 |5 B 8,200 |f5AHABH 3,600
SR 1,500 [f5A B 5,500 |B5A B 600 |fF5A 2B 3,000
(NG 300 |S=HRE 3,600 |G 1,200 [f5AAF 7,200
A ABH 500 |S=EHGE 7,200 |ARAEEF 3,600 |G 2,000
[ AN s 500 | AT 1,000 (5B 300 |f5A B 600
[ AN s 500 | A ABHE 2,400 |F5A B 500 | & 1,600
BIER 4,400 (5B 3,900 (AR FE 15 500 |FAABHE 2,800
BB 500 |54 B 2,000 [R5 2,400 [5G 4,800
BB 1,600 |2 B 1,600 |53 B 2,100 [FSEFE 4,800
[ ANGis 6,800 |54 B 3,600 [AAFKE 500 |FA B 2,000
[ AN G 5,000 [SEETE 1,800 (5B 1,200 [f5AABH 1,200
BB 4,800 |2 FH 3,200 | AR % 1,800 |5 /2B 400
SEE 3,600 |=IFZF 7,900 ({546 500 |52 FH 3,600
BB 9,000 | =185 4,800 |5/ FH 4,800 |53 FH 3,600
[ dAN G 500 [ 3B 4,800 [F5A 3B 4,800 |F5A 3B 500
[ dANGis 4,800 (5 /3BH 500 |BAABHE 1,500 [f5AABH 500
SRl 7,200 [543 12,000 |54 ABH 3,600 ({546 1,800
[ dAN G 500 [ 3B 1,000 | ESEEEEEE] 2,800 |[{SA N 3,600
SR 500 [SZRETS 2,400 |wammanras| 5700 [(BARNG 500
GAAB 1,000 [AREEFS 500 |FAskst TiEARAT 800 |F5-A 2B 1,500
FA LB 500 [ B 500 |B5A 2B 2,000 |54 3B 500
[N 500 | RERK 6,300 | ERE&HARAE 3,600 |[fFAABH 3,000
e NG 2,400 [(BFR A 500 |FatrsEre by AR 800 [Z= 5% 4,800
SEE 1,000 |=REE 500 |54 ABH 4,400 | ZEFK 2,000
RES 4,800 [FFA/3BH 2,000 SRR H 2,000 |54 2B 600
FA LB 500 [FFA B 500 |B5A 2B 1,200 [ZEHE 15,000




i &% 21 &% 21 &% 21 &
AR 500 |5 1 /3B 500 |5 1 /3B 0,600 | 25155 600
SR 3,600 |G 4,300 |ZE AR 4,800 [Z=HHT 4,000
BB 500 |51 43 B 500 |2/ 500 {35 /B 1,500
R 4,800 [R5 3,600 |15 /5 800 | /5 500
AR 500 | S 6,000 |Z/1\55 600 |2 % 3,600
[N 2,800 |G 500 | A ABH 2,000 | Z=HHE 2,800
SEE 4,800 |55 AN 1,200 |f5A /3B 11,000 [f5:A 236 2,400
AR 500 |15 1 /3B 900 | /5B 2,700 |25 55 500
SRR 500 |15 1 /3B 4,800 [ /5B 3,000 [FF 2B 1,500
R AR 500 |15 1 /3B 8.800 {9 /B 5,000 [ F /B 3,000
[N 500 |EA B 5,100 |20 E 4,000 |f5A 3B 7,200
S 500 |15 1 /3B 500 | /5B 2,000 [5F /B 3,600
BB 22,000 A /5B 6,000 [Z500 2,400 [{5F /A H 5,000
SRR 500 | {51 /3B 500 | /5B 3,000 |25kl 4,400
R AR 1,000 |57 /B 500 | /0B 3,600 [ F /A 2,000
SRR 500 |15 1 /3B 300 [/ 300 [ B 3,600
SRR 500 |15 1 /3B 3.600 [F9F /A 300 | KR 4,000
S E 3,600 |9/ 500 | /5 11,000 |2k 1,600
AR 600 [ {51 /B 500 |25 2,000 [9F 255 2,700
AR 2,000 |52 H 2,400 [5F /A 400 [ /5B 500
AR 2,100 |5 /AH 500 | /5 4,800 |5 /5B 400
[N 11,000 [f5:A 2B 5,400 ({546 7,200 |ZEHOZ 3,200
AR 4,800 |51 /5B 500 | /5 500 [{FF /2B 2,400
T 3,600 |52 500 |25 2,000 [f5F 2B 500
BB 1,800 [ 25 3,600 [fSF A 2,000 [5F /B 3,600
[N 1,000 |54 2B 2,000 ({546 2,000 |ZFE 1,800
AR 1,000 [ 25 4,800 | /5B 500 |55 6,000
[N 2,100 | =i 2,400 ({54 /ABH 2,500 [f5:A B 3,600
AR 4,000 [ /5B 7,800 |5/ 1,200 [ /5 500
BRI 4,800 |15 /AR 400 |57 43BH 500 [ 2555 4k 4,800
S 500 [ /3B 3,000 [SF/AH 2,400 [/ 2,400
AR 3,000 [f8F /A5 5,000 |57 /A 4,000 |5 /5B 4,800
A 5,000 | =5 4,700 |15 4558 4,800 |15 455 3,000
AR 500 [ /A B 2,100 |21t 0,600 |2 1,200
AR 9,500 |57 /35 1,800 {3 25 3,600 [ 2B 2,100
[N 500 | =0k 600 |51 3B 4,800 |27 4,800
[N 2,400 [f5AAEH 500 |2l 500 [fFA B 2,000
AR 4,800 |2 FH 500 |B5A B 2,000 [5G 1,500
BB 2,700 |3 /5 2.000 |5 4,800 | /5 2,100
GAAB 12,000 [f5A B 6,600 |54 35 2,000 |54 3B 600
GAAB 500 | =55 2,700 | 55435 2,400 | 2Ryt 2,000
GAAB 500 |54 500 |22 A 1,800 | 2RI 500
BB 1,000 [ /5B 500 [ EF 9,000 [ /5B 1,600
SR 600 | /3B 2.000 | FkE 11,000 [ /5 2,400
BB 4,300 | /5B 3,000 |2 E 500 {3 /5B 2,000




g2 A Eaii AH 4 B0 G2l A
A NEE 2,000 | = aafH 4,800 |15A VB 500 |2t 4,000
SEES 500 | AFE 2,000 |15A 4B 1,000 | <Pk 3,200
A NEE 6,000 | =12 3,000 [fFA 26 500 |15 ABdE 4,800
A NEE 500 | = (R 3,000 [fFA 25 2,000 [FFA2NFH 4,400
[EANE3 500 [f5AINEH 7,200 |54 2 Fd 500 {542 FE 3,600
A NEE 2,000 | = (il 1,800 |5A B 500 |15 ABE 12,000
FANEE 500 | ABHE 1,600 |[#= K E#E 1,800 [F5A 2B 400
S 8,000 [f5A /NG 3,000 | R 3,000 |15-AABE 500
[EaANG3 4,800 | = ol 6,000 [FFA VB 500 |f5A B 4,800
St 2,000 [F5A 2 BE 9,000 [FFANFE 3,600 [ ANFE 3,300
[EaANG3 500 |[F5AINEH 900 |5 A 500 |f5A NG 500
[EaANG3 12,000 |{5-A VB 500 |fGA NG 3,300 [P 500
[EaANG3 2,100 [F5A 2 B 3,300 {5 A4 FE 2,400 |5 AP 500
[EaANG3 500 |[f5A B 300 |fGA G 1,200 |f5A /1B 4,600
FANEE 2,400 |=HHEE 4,400 [Z=[=13T 2,400 |[15ANBE 4,800
S 500 |[f5A B 500 |fFA NG 500 |f5A B 4,800
[EaANG3 500 |[F5AINEH 500 |fFA NG 4,400 | F1HE 3,600
[CaANE? 1,800 |f5A /1B 6,400 [F5AUNFHE 2,000 [F5ANFE 4,800
EERE 500 |fA2NFE 4,800 [F5AINFE 11,000 [f5A 2B 2,100
SN 7,200 | =<8 11,600 |f5A 2 B 4,800 [FFANFE 4,400
SEHE 600 |fFANF 3,600 |{5-A 2 G 500 |fFA B 2,400
A 400 |54 NFE 3,600 |{5-A 23 800 |5 G 3,300
[N 3,600 | =48 500 |54 B 12,000 |[{5A 25 800
[CaANE? 4,000 [F5A 2B 4,000 [FFAINFE 2,100 [F5ANFE 2,000
FANEE 1,500 [F5A 2 B 9,600 |{5-A B 9,000 |Z{EEHf 3,600
AL 5,000 |f5ANFE 2,000 [FFAUNFE 1,500 |f5A 2B 300
eyl 7,200 | = HARE 3,000 [Z= 3R 3,300 [Z{&#% 4,800
[N 500 | = HEEE 4,800 |FFABH 9,000 |15-ANBH 1,200
[N 3,300 | =R 3,700 |f5A VB 4,800 |FFABH 3,000
[N 2,000 |{FAINBH 3,200 |fFA VB 2,000 [ZFATER 3,600
(CaANER 1,600 [f5AINFH 500 |5 1,800 [f5A 3B 2,000
(CaANG? 3,600 |{5-A 46 500 |f5A 2,000 [F5ANFE 4,800
[N 4,400 [F5A B 500 [fFAINEH 3,600 |[15-ANBH 3,600
[N 1,500 [f5A B 3,000 |ZFEI0HZ 800 |[ZFife 3,000
SR 3,600 | =R 500 [FAINEH 1,800 [f5A 2B 2,400
(CaANG? 500 |t B 1,200 [f5A VB 500 |z EiE 4,800
GEES 3,600 |{5-A 436 500 |f5A N 1,200 | F A 12,000
(CaANG? 9,000 [F5AINEH 4,400 [F5AINEHE 500 [ 1,200
S fetH 4,800 [F5AINEH 3,200 |f5A A 2,000 |F5ANFE 1,000
(AN 600 |51/ B 500 |5A B 3,600 [F5ANFE 500
RE® 4,800 [F5A B 4,000 |FFA B 500 |ZFZEHL 4,800
(AN 500 |t B 2,400 |54 7B 500 {542 FE 900
SRl 4,000 | = RIL 800 | 5575 2,000 |[15-ABH 500
(AN 500 |t B 500 |ZFF575 500 {542 FE 3,600
(AN 500 | A ZdH 3,000 |14 G 500 {542 FE 500




B S & S 2 S B 48
(VAN 2,000 {5 /B 7,200 |5 /A BH 500 |22 400
ERSUY 3,300 |fF 43P 4,000 |54 /1B 500 |15/ B8 3,600
N 800 |57 /\ B 500 | /5B 500 |5 /ABE 1,200
s 400 [ 43 300 [ /0B 500 |5 /3B 500
S 600 | £ [ 4,000 |EFHE 2,700 [FE% 400
SR 4,800 [f5A /B 800 |5 /A\BH 500 | ZE S 2,400
[ /ANG| 500 | A TEAY 3,600 |f5A /B 500 |15 ABE 3,600
AN 500 | =A% 17,900 [£5F 5B 500 |f$A 25 400
SREE 3,600 [f5A /B 500 |f5A4 B 1,200 |15 /2B 12,000
SRR 3,600 | = IES 500 |#F5Hk 2,000 [{5F /5B 500
SR 500 |#5A2ABHE 12,000 {54 /35 500 |5 2A\BH 2,000
[ /ANG| 500 | =IREE 3,600 |f5A /B 500 |2 E 3,900
SR 800 |54 b 900 [F5A7+BH 500 |18 ABE 3,600
(i AN i 2,400 |#5 AP 4,500 [&F 4 B 500 | 2= E g 300
B AR 400 |5 /AR 500 |82 B 500 [ 2B 4200
FA AR 500 |[15A B 3,000 |#F5EE 7,000 [B5ARAEE 4,800
S 7,200 |F5A 35 800 |15-A 3B 500 [f5AR A\ 2,000
(SRANG| 3,000 |[15AABH 500 |54 B 500 |[BHEE 500
(CA| 2,000 [f5 ARG 500 |EFR/\Bd 500 1B /NBE 500
BB 3,600 | &= HELEE 4,800 |FF5HE 500 |ZFEE 500
TR AR 2,000 | =S 2,100 [FFANEE 2,000 | AEE 3,000
BB 900 |4 2NFH 1,800 |2F5E8 3,000 | 2R 900
AN 2,000 JF5AR /B 2,000 | EF% 400 |15 /2B 500
EEEE 500 |5 455 3,600 |15 /5B 500 |5 455 6.600
(VNG 1.000 |5 20fH 2,000 |84 4358 6,000 [{5A /35 6.600
AN 12,000 {54~/ ABA 2,100 |f5R /B 16,300 |54 2 B 2,000
S E ol 4,800 [5G 500 |f5ALNBE 1,500 |15 2B 4,800
[SaNANG| 500 [FFA B 500 [FFABE 2,000 [Z=HfriE 1,200
fEAR B 4,800 [5G 2,000 |FEHE 3,600 |5 B 12,000
3B 2,000 | &= 4 2,400 |5 /NG 3,300 |ZE 5 3,600
BB 7.200 |18 AR 500 [ /5B 500 [BF /5B 2,000
(EA 2,400 | Bl 1,500 |f5A A 3,600 |5 B 9,200
S 2,100 | Hihe 12,000 |32 BH 4,400 |ZEHEIE 2,400
BB 500 [ AR 500 [ /5B 3,000 [{EF /55 3,600
S E 1,500 |42\ 500 |fFA 2 B 500 |FEikaap 1,200
SEUH 1,800 |f5A 2\ 500 |5 9,000 |5 ZNBH 4,800
BB 4,800 |15 /5B 500 [ /5B 2,700 [{8F /55 4,800
3B 2,000 |52 B 3,600 |{5A 2 B 9,800 [{5A/\BH 2,000
EAR B 1,400 |f5A 2N 1.200 | T 1,200 |54 500
EAR B 2,000 |54/ B 3,600 |Z K 5,600 |5 ZABH 500
EAR B 9,000 [ /NG 1.800 |#FEfE2F 4,000 |F5FANBH 3,600
EAR B 1,500 |f5A 2\ 2,000 |5 B 1,800 |f5A B 900
EAR B 4,800 |[f5FA B 3,600 |F % 7,600 |ZEEFE 1,800
(SN 3,200 |{SANBH 500 [FFA B 500 |FFA VB 6,000
EAR B 3,300 |52 B 1,000 |#5A 2B 1,200 |54 B 300




g2 A Eaii AH 4 B0 G2l A
A NEE 500 | AFE 12,000 [F5A /B 7,200 [ZFFKH 7,000
L HE S 500 | AFE 500 [ZREERE 4,100 [FFA2NFH 4,000
[EANE3 500 [f5AINEH 800 | {EHE 7,200 |54 436 3,600
A NEE 2,000 |f5A 4N 500 |FA B 3,200 [Z=FKbE 500
[EANE3 500 [f5AINEH 500 [fGAINEH 4,800 [FF AP 1,800
[EANE3 3,600 [F5A 2 BE 300 [FFAINEH 1,800 [F3A NP 500
[EaANG3 4,200 |54 436 4,000 [FFAINFE 4,400 |5 AUNPE 3,200
[EaANG3 600 |E i IELt 900 | {ERAF 500 |f5A NG 3,600
[EaANG3 3,300 [F5A 2 BE 1,200 |25 3,200 [P 2,000
[EaANG3 500 |5 INEH 4,700 [FFAINFE 2,400 |5 AP 2,000
[EaANG3 12,800 |{5-A VB 4,000 |ZHmSF 2,400 |5 AP 500
[EaANG3 500 |[F5AINEH 2,400 | i 4,400 |5 AUNPE 4,300
[EaANG3 4,800 |54 46 800 [F3 A 4,800 [FF AP 1,000
SHE 1,800 |{5-ANBH 4,800 [FFA VB 500 |f5A B 2,200
(EaANG3 3,300 [F5A 2 BE 3,200 |{5-A 2 FE 500 | 2,100
SHERT 3,300 [ ESEAIRAE] 3,300 | 2= {7 4,800 |[FFEZFE 600
[EaANG3 3,600 [F5A 2 BE 3,900 | Z*{Jfif 3,600 [ AP 2,000
RRE 900 | RAE 9,600 | E 3,000 [F5ANFE 2,000
FANEE 2,000 [RF¥4 6,600 |15/ B 1,800 [F5A 2B 500
o I 3,000 |[f5A4NFE 11,000 |f5A21FH 2,800 [F5ANFE 500
(CaANE? 3,600 |f5ANFE 400 |2 500 |fFA B 2,000
[CaANE? 2,000 |[f5A4NFE 2,700 [F5AUNFE 4,200 [F5ANFE 500
[N 6,000 | K% 5,000 |[{5A B 2,000 |[15-ABHE 2,000
[CaANE? 600 |54 NG 4,800 [F5AINFE 2,000 [F5ANFE 500
(CaANE? 4,800 [F5A 2B 500 |fGA G 500 |fFA B 300
Y 4,000 [F5A 2B 6,400 [F5AUNFE 4,600 |F5=EE 3,900
SEE 3,600 |f5A N6 2,000 |#HE 500 |fFA B 500
(CaANG? 500 |t B 3,600 |{5A 2 G 500 |fA2NFE 500
R i 3,600 |ARAEE(H 4,800 |FFABH 500 [F5AINEH 500
(CaANG? 500 |t B 800 | =H 500 |fA2NFE 2,600
(CaANER 3,600 |{5-A 436 15,300 |54 /1B 4,800 [F5ANFE 400
[N 2,800 |[{FAINBH 300 [FANEH 3,600 |[15-ANBH 9,600
(CaANG? 500 |t B 4,800 [FFAINFH 2,400 |F5ANFE 4,400
SRS 900 [FFA 2 B4 500 [fFAINEH 800 |FHrE 4,800
[N 4,400 [F5A B 500 [FAINEH 500 [FFAINEH 500
iR 2,000 [oR=ES 4,800 |FFABH 2,000 |ZF 8 4,000
SRR 2,000 [oR=FE 4,800 |ZFHER 600 |FFAINEH 6,000
HER 500 |t B 900 |f5A i 8,000 [FFEF 4,000
(AN 3,600 |{5-A 46 800 |ZF7% A% 3,600 [F5ANFE 1,800
BN 3,000 |1FAINBH 1,200 [F5A B 2,400 |[15ANBH 3,000
BN 500 [FFANBH 3,000 [ZE5EEY 1,800 [F5A 2B 500
aviE 500 |t B 500 |5A B 3,600 |54 2NFE 500
¥ 500 |t B 500 | ARk 2,800 |54 2NFE 500
(AN 500 |t B 4,800 |15-A 7B 5,500 |F5ANFE 2,000
(AN 4,800 | AT 3 9,600 |54 /1B 4,400 | 154 73F 4,100




1 el B X 471 X 1% S
SYETE 6,000 |F5R 2\ B 3,600 |55 10,000 |fFANBH 1,500
BT 1,200 |15 ABHE 500 |15 ABE 1,900 |15/ R 19,097
A3 500 |3 B 4.800 |{§ /B 3,600 |15 A 8,000
[SVANG| 4,400 |5 ABHE 4,000 [ ABHE 1,000 |5/ R 2,400
=B 2,400 |3 3,600 |5 2B 1,600 |15/ R 500
[VANG| 500 |15 ABHE 3,300 | EEZ 500 |18 R 500
[ANG:| 2,700 |55 A BH 3,600 |£5 AN 500 |5 ABHE 4,800
[VANG:| 500 |15 ABHE 3,000 |£5A B 3,600 [FFA/ANBH 500
[ANG:| 6,000 |z 7,200 | EEF 3,600 [f5AA\BH 500
[VANG:| 4,800 |5 ABHE 500 |F A ABE 4,800 [FFAABH 3,600
[ANG: 4,800 | EZS 3,600 |£5 AN 6,800 [fFA/\BH 4,400
[ANG:| 2,400 |55 A BH 4,400 [ ABH 500 |8 ABHE 1,200
[VANG:| 4,000 |5 ABHE 500 |S A ABE 3,600 [F5AANBH 3,200
[VANG:| 500 |15 ABHE 3,300 |£5 AN E 1,800 |1S A R 500
ZHE 4,800 |[#5 A2 BHE 500 |3 B 500 |FFAAFE 1,000
(NG| 500 |18 R 500 |8 ABE 500 |15 ABE 800
[ANG: 1,800 |5 ABHE 500 |3EZEHE 4,800 [HAA\BH 1,600
(VNG| 3,600 |5 NBH 500 |fF A ABE 1,500 |1k 4,600
(VNG| 500 |2 §HA 500 [2E4mEE 3,600 [F5AABH 3,000
(VNG| 800 |fF AR 1,200 |15 B 4,000 |FE$EE 8,300
[eVANG| 500 |F AR 3,600 |15 BH 5,000 [F5ARABH 1,200
[(eVANG| 500 | ZEFEL 4,000 [FFAABHE 4,800 [FFAABH 7,200
EEH 500 [fFA2NEH 4,800 [HamEsgmeaRa®| 3,000 (B 2,800
FEE 2,000 |15\ 5H 4,000 |[#5A 2N BH 500 |FFA B 2,000
(VNG| 3,300 |5\ BH 3,300 |JIEZE 4,800 |EgEmsmEsm| 3,000
[eANG| 500 |#EFE 3,600 |15 BH 600 |15 ABHE 500
[(eVANG| 3,600 |5 NBH 3,600 |15 BH 500 |8 ABHE 500
(eANG| 2,000 | ZE U 3,600 |15 B 500 |18 ABdE 2,400
(NG| 500 |18 A 4,400 [ ABHE 4,200 |FEZE(mE 1,600
(NG| 2,000 | ZE R 3,600 |15 2B 500 |18 ABdE 2,000
B v 4,187 |FBA A B 4,800 [ ABHE 2,000 [ ARA\BH 500
(eANG| 600 | 2=, 3,200 |15 BH 2,000 [F5ARA\BH 7,200
(eANG| 300 [ AABHE 500 |fF A ABE 500 | s 3,600
(NG| 4,800 | Z=EEHK 3,600 |Biy 6,000 |E S 2,700
(eANG| 6,000 |5 R 2\ B 900 |13 ABHE 2,000 [F5ARA\BH 4,800
(eANG| 1,000 |24 500 |fF A ABE 500 |8 ABHE 3,000
(NG| 2,800 [FEIE 3,600 |15 B 3,600 [F5ARA\BH 500
(eANG| 5400 [FEE 2,400 [F5ARABH 3,600 [FFARA\BH 500
L4 1,000 |1 1,800 |15 /ABHE 4,000 [FFA B 900
B, 3,600 |FEE 2,400 [F5AABH 900 |13 /ABd 400
[N 3,000 |5 RN\ B 3,600 |F5A N5 500 |18 ARE 1,800
R 2,400 |15 RN B 2,000 [f5A B 7,200 [ B 500
i 3,600 |5 RN B 2,400 [F5AABH 500 |84 ABHE 3,600
[N 6,600 |5R 2\ B 800 [fFA B 500 |18 AFE 4,800
L 400 115 A AEE 1,000 |15 /ABHE 2,000 [5G 3,600




g S| B2 BHH B SHH s S|
[N 1,600 |ZERESS 500 |15 4,800 |f5A /3B 9,600
[N 2,100 [f5 ARG 4,800 |F5AH B 4,800 |f5A /3B 12,800
[N 500 |15 20FH 2,000 ({56 2,100 [f5AABH 1,200
BB 3,000 [FREE 3,000 [fFA B 600 [HETT 500
[N 5,200 [f5AABH 500 [5G 3,600 | 4,800
ZRE 600 |Z=ERERE 9,600 [5G 1,200 |f5A /3B 500
[N 3,000 [f5 ARG 2,000 ({5 A6 3,000 [FHHE 3,600
[N 500 |15 20BE 500 [5G 2,400 [f5-AABH 500
BB 500 [f5A b 300 | FRESCA R A E] 2,600 |G 400
[N 500 |[FRESH 500 |53 BH 30,000 |f5A 3B 3,600
[N 2,700 ({5 ARG 2,000 ({5 A7/\BH 4,400 |15 3B 13,200
BB 12,000 |5 2A\Bd 500 |[EERREEAREAE 3,200 [ 1,500
[N 1,200 |8 £ 4,800 |t /3B 2,600 [f5-AA\BH 500
[N 3,000 [f5ARAGH 500 |53 BH 6,100 [f5A/A\BH 2,400
[N 2,100 [ ARG 500 |53 BH 1,000 |f5A /3B 500
[N 4,800 |F5AH B 2,000 ({5 A7/\BH 500 (5B 4,000
EBANEE 500 (542 B 1,200 |pes s AL 3.000 |15 AN\ 3,200
SN 900 (5B 3,000 [wiEmmmEamas| 2,000 |EEHE 3,600
[N 3,200 [5G 3,600 |5 A 2,000 ({56 1,500
[N 500 [fFAAB 10,000 ({54236 500 |5RFE2 500
FEE 3,000 | ZHE 500 | BB 500 |FFA B 500
[N 2,000 [f5:A B 3,600 [ {iga 9,000 [5G 500
[N 500 [fFA B 500 [5A B 600 [/ B 400
[N 500 [fFAAB 2,000 ({546 500 [fFAABE 900
[N 1,200 |54 3B 700 [SAABHE 500 |EESF 2,000
[N 3,600 [f5AABH 200 |5A B 4,800 |15 FH 2,100
2R3 500 |15 ABE 3,000 |£5A 2B 4,200 |EHREE 9,000
[N 3,600 [f5A B 4,800 |53 FH 3,600 ({546 4,000
(SN 3,000 [ZEZEH 4,000 |15 /B 1,600 |[{FA 2 5 500
[N 600 |54/ 500 |B5A B 2,000 [5G 7,200
BR B 500 |H 5 4,800 |5 ABE 2,000 |5 AEE 1,400
(SN 500 |ft i 3,600 |f5A NG 3,600 |54 /N5 4,400
A AP 4,800 |{5A /B 500 |f5ALNEE 1,500 |RHEAE 3,300
[N 500 |54 2,400 [f5:AABH 500 |[FEfEASAELE] 4,800
(SN 2,000 |f1F575 2,000 |{5A /B 8,500 |f5A NG 3,500
FE 500 |54 3,600 [HI=E 3,600 ({546 4,200
[N 3,600 [f5A G 500 |B5A B 500 [fFA B 2,000
IR 300 |HEEES 3,600 |{5ANBH 2,000 [tBEzgRpARAE| 6,000
(AN 2,000 {5 2B 2,000 [{5A2ABA 2,100 |F1A%E 3,000
GAAB 500 |54 800 |54 3B 3,600 |54 3B 2,800
(VAN 500 |f5A2NBE 2,000 |f5A2 B 4,400 [5G 3,600
GAAB 800 [f5:A /A B 2,100 |54 05 3,600 |54 3B 600
GAAB 3,600 [f5A B 900 |5A B 4,800 |54 B 4,000
PGS 4,800 |5 AN B 4,000 [F5A 3B 3,600 |54 3B 4,400
GAAB 4,800 [F5A/3BH 2,800 | F5A 3B 400 |E#HE AR AIRAT 300




1 B B B 471 X 1% &
[SANG:| 5,200 |52 BH 500 |15 ABE 2,000 |15 A2\ B 4,800
B NG 4,400 |15 AR AB 500 |15 A6 2,400 | Bz A EEARA= 2,000
[SVANG:| 500 |kEFRIZE 4,800 [ BHE 3,000 |5 A\ B 3,200
[SVANG| 500 |15 ABHE 2,000 [ BHE 500 | FE 2,000
[SVANG| 2,000 |52 BH 3,600 [f5A A6 2,000 |15\ B 3,600
[VANG| 4,800 [FEFERX 3,600 |55 800 |f5A A FHE 2,000
[ANG:| 1,000 |5 ABHE 500 |fS B 500 | FEES 500
[VANG:| 500 |15 ABHE 500 |E/INTE 500 |8 ABHE 11,000
[ANG:| 4,800 |5 ABHE 1,000 |F/NE 2,000 [ ANBH 4,800
[VANG:| 6,000 |5 R\ BH 8,000 |£5 AN\ 4,800 [FFAABH 1,500
22 [ B 7,400 |FEEF 2,400 [ ABH 500 |18 ABHE 2,000
[ANG:| 1,200 |5 ABHE 500 |fS B 3,300 [ A\BH 2,100
[VANG:| 2,800 |F5RABH 500 |S A ABE 7,600 [FFA A BH 2,400
[VANG:| 500 |15 ABHE 7,000 [FFAABH 500 |18 ABHE 2,000
[VANG:| 2,800 [H#1E 7,200 [/Er 10,600 [fFAAEH 600
(NG| 400 |kEzE 3,600 |fESTE 4,800 [FFAABH 500
SN 2,000 |FHAfEE 3,600 |£5 AN 3,900 [ A ANBH 500
SR NE 4,800 |5 R 500 | HE 300 | EFEE 9,600
FHEE 4,800 [HAEE 3,600 [ LA 3,600 |15\ BH 2,000
(VNG| 1,200 |[#5A 2B 5,400 [F5ARA\BH 500 |8 ABHE 3,600
[eVANG| 700 |F AR 3,200 |55 4,800 [FFAABH 3,600
FEY 500 [HERER 4,800 |fEH5AEE 3,600 |15\ BH 2,000
B 4,800 |#5A 2B 500 | fE b3 3,600 |15\ BH 3,600
(VNG| 11,000 [ 3,000 |15\ B 500 |8 ABHE 1,600
ZE2 4,800 |5 R 500 |fF A ABE 4,800 [FFAABH 4,800
FEE 1,600 |#5A 2B 2,100 |15 A\ BH 3,200 |15 AN\ BH 300
[(eVANG| 500 |F AR 8,000 |[FHEEE 500 |8 ABHE 2,200
(eANG| 3,600 | 4,800 |15 LNBH 500 |18 ABdE 1,200
(NG| 500 |2t 4,800 |15 LNBH 4,800 |sEFEEERARAT] 2,100
(NG| 4,800 |#5AR2\BH 100 |EYEFE 1,600 |F5A 2B 4,000
(SN 500 |H-EEFT 3,200 |F¢EE 3,000 |sspramEaEAE| 6,000
(SN 500 |52 B 900 |fFA B 400 [rEmssgaraE| 3,600
(eANG| 500 |5A B 4,800 | T 900 |18 /ABd 600
(NG| 4,400 [15HR2\BHE 500 [fFAINEH 3,600 | P 4,800
R 1,200 |55A A6 500 |fF A ABE 4,800 |15\ BH 1,200
(eANG| 4,500 |[#5AR 2B 4,800 |15 LNBH 400 |5 AEH 800
(NG| 6,000 |54 2,400 | FIHi 1,200 |5A 2B 500
(eANG| 1,800 |5A A6 3,000 [ 2N6H 500 |8 ABdE 4,800
[SANG| 500 |B5A AR 3,600 |FE 71 9,600 [FATF45 4,600
[N 1,200 |55A B 2,200 |15 BH 500 |BA AR 2,100
[N 300 |f5ALNBHE 3,600 [ 10,000 | ¥R F&h 4,800
FHASC 4,800 | R4 3,600 &R 12,000 |57\ 4,400
[N 500 |B5A AR 4,800 |15ALNBH 3,000 |15\ B 500
[N 500 |B5A AR 4,800 |15 A LNBH 3,600 |15 A\ BH 600
[SANG| 4,800 |£5A 2\ BH 3,600 [N 500 |BA AR 6,900




1 B B B 471 X 1% &
[SANG:| 1,200 |15 ABHE 3,000 |5 2B 2,000 |15 A2\ B 3,200
X alish 500 |15 ABHE 1,200 |15 ABE 3,600 [Pk -4 3,600
FEIE 1,800 [fSAABH 600 |5 A FE 900 |#5 A 2B 6,600
[SVANG| 500 |15 ABHE 800 [ ABHE 500 | FE 2,400
[SVANG| 500 |15 ABHE 500 |15 ABE 3,600 |15 A \B 500
[VANG| 900 |#5A 2 B 600 |FfEEE 3,000 |5 A\ B 1,000
T 600 |F5 A2 B 2,800 |50 B 2,800 |15 A N\BH 4,200
[VANG:| 9,600 [FFAABH 4,800 | FE{mAE 2,400 [ ABH 4,000
[ANG:| 2,000 |52 B 500 |8 ABE 900 |#hF-22 2,400
[VANG:| 4,800 |5 ABHE 1,500 |15 ABH 3,000 [ A\BH 4,800
[ANG: 5,400 |55 ABH 800 |15 A \BH 500 |18 ABHE 6,600
[ANG:| 3,600 |F5R B 3,600 |£5 AN 1,200 |18 R 2,400
[VANG:| 8,000 |15 A 2B 3,600 |£5 AN 7,200 [FFAABH 1,600
T 3,200 |15\ 400 |5 A AGE 5,200 |15 A 2N\BH 14,400
[VANG:| 2,700 |55 KA BH 1,800 |5 B 2,100 [ /A\BH 500
(NG| 10,000 [Flrwi 500 |#5A2ABE 600 |Fk/NFT 500
[ANG: 1,600 |5 ABHE 500 |#5A2ABE 2,700 [f5 AN\ BH 500
(VNG| 1,500 |5/ R 500 |#5A 2B 1,200 |18 R 500
(VNG| 4,200 |V zEE 4,800 [fFAABHE 10,000 [#R/NZE 3,600
(VNG| 100 [z 2,100 [ ABH 2,400 [F5ARABH 3,600
[eVANG| 4,400 |15 R 3,600 |15 BH 1,000 |[1§ AR 500
[(eVANG| 3,600 |5 NBH 4,000 [FFAABHE 4,800 [FFAABH 2,400
(VNG| 1,600 |15/ R 3,600 |15 B 800 |fF A ABHE 2,000
(VNG| 3,600 [JE4TEL 4,800 [fFAABHE 2,000 [F5AABH 3,600
(VNG| 3,600 |5\ BH 500 |15 ABE 2,400 [#RoTEE 6,000
[eANG| 600 |f5A 2 B 500 |FEE % 500 WA= 1,500
[(eVANG| 5,000 [PEZE 4,800 [ ABHE 2,400 [F5ARABH 800
(eANG| 4,000 |[#5AR 2B 500 |77 4,800 |15\ B 2,000
(NG| 500 |5A AR 1,200 |#5 A 2B 3,600 |#R3z 4,800
ZEY 9,600 |15 BH 4,800 |15 LNBH 500 |52k 600
(eANG| 500 |5A AR 3,200 [N 500 |[#RCE 2,000
ZIEH 500 |5A AR 500 |#5A Ak 500 |52k 3,600
(eANG| 500 |5A B 3,600 [ N6H 3,600 |15\ B 3,600
(NG| 12,000 |15 AN 2,100 [HEE 12,000 |#5A 2B 4,800
(eANG| 500 |ipEs 4,800 |15 LNBH 4,000 1542\ BH 1,200
(eANG| 600 |JIifUE 1,600 |f5A 2B 6,600 |15\ B 2,000
(NG| 500 |5A AR 1,600 |57 \ﬁaﬁ 3,600 |15\ B 4,800
AN 900 Tﬁﬁ/T\ N 2,000 |2 1,600 |#kH B 1,500
[SANG| 7,200 [FFAABHE 6,000 |54 \ﬁaﬁ 3,300 |15\ B 3,600
[N 600 |F5A B 500 A= 600 |F5A 2B 2,000
[N 4,800 /jaﬁ‘& 1,500 |54 \ﬁaﬁ 1,200 |F5A B 4,800
A5 600 |15 400 |B5A AR 500 |BA AR 500
e 500 HK N 4,800 |15ALNBH 4,800 [FhHE 1,500
%%ﬁ&?i 3,800 |5AR B 500 |#5A AR 500 |k HEE 500
ZRIR 3,600 |55R A5 8,000 | 40 1,200 |F5A B 500




1 B B B 471 X 1% &
[SANG:| 3,000 |5 RN BH 1,500 |15 ABE 4,600 [FFAABH 500
ZiE= 4,800 |5 AABHE 300 |15 ABE 500 |FRER & 2,000
[SVANG:| 1,200 |15 ABHE 800 |FEfk& 4,800 [FFAABH 2,000
[SVANG| 500 |15 ABHE 3,600 |5A 2B 500 |18 AR 2,400
EFEIS 1,700 |15 ABHE 300 |15 ABE 300 |fF AR 3,000
B NEH 500 |B5 AN E 2,000 |15 A6 4,800 |FhitheRpsaizEms T 600
[ANG:| 1,200 |5 ABHE 8,000 |54 /\6H 1,000 |56 2,400
[VANG:| 600 |15 ABHE 2,000 [FFAABH 500 |8 ABHE 3,600
[ANG:| 500 |15 ABHE 9,600 | e 3,700 [FRLLH 5,400

e 4,400 |15 A2\ B 500 |3 B 500 [FRIEE 1,000
[ANG: 5,300 |55R 2B 4,800 |FEE# 500 |18 ABHE 3,600
[ANG:| 8,300 |15 A 2B 5,400 |EFE4E 4,800 [FFAABH 2,300
[VANG:| 1,000 |5 ABHE 2,800 |EELD 1,800 #5326 600
[VANG:| 500 |15 ABHE 500 | 4TS 4,800 [FFAABH 5,600
[VANG:| 4,800 |5 AABHE 3,600 [ /A6H 3,000 [ A\BH 400
IR 1,200 [fSAABH 3,000 [ 2N6H 3,000 |54 N\BH 4,000
[ANG: 500 |15 ABE 800 |FEHK 4,800 [FFAABH 3,600
(VNG| 500 |F AR 500 |fF A ABE 6,200 [FRIGE 3,600
(VNG| 4,000 |15 R 3,500 | 552 4,800 [FRIGHF 2,000
(VNG| 4,400 |15 R 4,800 |FHIF 1,800 |#5A 2B 2,000
ZIEE 6,600 |54 25 1,400 [EZx40 3,600 |15\ BH 2,000
TIEEE 500 [F 4ty 500 |EZE 1,500 |#5A 2B 4,000
(VNG| 3,300 PE/ESR 500 |53k 4,800 [FFAABH 3,000
LEE 3,600 |15\ 5H 500 |[FxR= 500 |8 ABHE 3,600
(VNG| 4,000 |15 R 500 |FHE54 4,800 [FFAABH 1,800
[eANG| 11,200 |15 A6 4,800 | A 2,400 [F5ARABH 3,900
[(eVANG| 2,000 |54 5H 3,600 [f5A2A6H 3,600 [ ABH 2,400
(eANG| 800 |15 AL BH 300 |HEE 600 |15 /ABH 800
22 5,200 [JEEFET 4,800 |FE(F 1,800 |F5A 2B 4,800
(NG| 1,800 |5A A6 500 |fF A ABE A 3,200
(eANG| 500 |5A AR 4,000 [ 800 |fF A /ABHE 2,000
(eANG| 4,000 |[#5AR 2B 4,200 |[15A 2N BH 500 |8 ABHE 500
(eANG| 1,800 |5A A6 600 |15 ABH 3,900 |15\ B 500
(NG| 500 PREHEFRAH 900 |1 S /ABHE 3,600 [PhEHE 3,600
(eANG| 500 |5A AR 2,400 |15\ BH 6,000 |15\ B 600
RN 500 [heEmgEsaman| 3,600 |FE4TEE 2,400 |FFANBE 500
(NG| 12,000 |15 AN 4,800 | 2,000 [PhESE 4,800
(eANG| 4,400 PREARABFEA] 3,000 |BEME 300 |PRFE 1,800
[SANG| 1,800 |B5A B 4,000 |[#5ALNBH 2,000 |15 A 2N\B 2,000
[N 3,600 [f5AA6H 1,000 | RS 2,000 |15\ BH 3,900
[N 2,700 |15 6 8,000 [ 2N6H 500 |18 ARE 1,800
[N 500 |B5A AR 4,200 |[15A 2N BH 500 |BA AR 500
FEH 500 [frobs o e 4,800 | FHEE 4,800 |15AR2ABH 2,000
B 11,000 [F01& 2,000 |54\ BH 2,000 |15\ B 3,600
2 500 |B5A AR 500 |#5A AR 500 |BA AR 3,600




B4 B B4 B 21 X B4 &
SARNG 500 |#5A 2 B 1,500 |5 A A B 4,800 |50 BH 500
ZRFETY 600 |F5 A2 B 4,800 |15\ BH 4,400 |50 B 1,000
SR 500 |#5AR 2 B 4,400 |15\ BH 2,000 [FRIZM 3,600
2 500 |#5AR 2 B 14,400 |EHEES 1,200 |FRIT56 1,800
SR 900 |#5A 2 B 2,600 |15\ B 3,800 |50 BH 3,900
SARNG 2,000 | EVIAERERAT] 4,800 [{SAAF 4,800 [PAIRE 2,700
SR 3,000 |5 A2\ B 6,400 |15 A\ BH 2,000 |15 A N\BH 7,200
SANE 500 |#5AR 2B 3,600 | EEE 1,800 #5326 5,500
SR 500 |#5AR2A B 2,000 |15 A\ BH 2,000 [FRACEE 1,800
SANE 2,700 |15\ B 4,800 |15 \BH 500 |FFAAFE 1,500
SN 500 |#5AR2A B 4,800 |15 A \BH 6,000 |15 A \BH 500
SR 4,800 [#5A 2B 2,400 |15 A\ BH 6,000 |15 A 2\BH 4,800
EBANEE 500 |rmsrsemstrmamas 9,600 EANEE 4,000 N 3,600
SN 500 |#5AR2A B 500 |3 B 3,000 |15 A N\BH 4,800
SANE 4,800 |[#5 A2 BHE 2,800 |15 A \BH 500 |FFAAFE 6,000
SR 8,900 [fF /A 2,400 |15 A\ BH 3,200 |MMFE 4,400
SN 500 [FESCTF 600 |3 B 800 |fFAAFHE 4,800
FHES 600 | A B 900 | A ABE 500 |FFA B 500
SR NE 3,600 [FEF 3,600 [f5A2N6H 9,000 |54 \B 4,800
SR NE 2,400 |15 N\5H 2,400 |15\ BH 500 |FFA B 500
PREES 3,000 |15\ 3,600 [N 500 |FFA B 2,400
SR NE 2,000 [PR3EH 4,800 |15 L\BH 4,800 |15\ BH 3,600
MAEHE 3,600 |15 5 2,000 |15\ BH 2,400 |15\ B 2,400
ML 500 |G ABE 9,600 |15\ BH 2,400 |15\ B 500
SR NE 8,400 [5A/AFH 500 |3 ABE 4,800 |15\ BH 3,300
SR NE 2,400 |15 N5 4,800 |15 L\BH 500 |FFA B 7,200
R E R 3,600 [FRIEZ 3,600 [f5A2A6H 2,000 |PRiEE 4,800
PR 4,800 |#5AR2\BH 2,400 |15\ BH 3,600 |15\ B 8,000
SANE 3,600 |54 A6H 800 |{5-A /3B 500 |FFA B 3,300
SANE 4,800 |#5AR2\BH 5,200 |#R3E4E 900 |PRFZE 400
SANE 3,000 |54 A6H 6,000 |FRSEHR 4,800 |PREHE 500
SANE 3,600 |54 A6H 4,000 |[#5A2NBH 500 | ABE 2,100
SANE 1,600 |F5A A6 4,400 |15AL\BH 13,200 |5 /AN6H 4,400
SANE 2,000 [FRIEHE 1,800 | PRELE 5,400 |15\ B 500
SANE 1,200 |#R1E8E 2,400 |15\ BH 2,000 |15\ B 500
SANE 1,500 |55A A6 3,600 [ N6H 500 |fFA B 4,800
SANE 500 |5A AR 800 |{5-A /3B 7,200 |15\ B 500
SANE 500 |5A AR 300 |5 B 500 [PAENE 4,800
[ iz 500 |B5A AR 3,600 [N 2,400 |15 \B 500
[ iz 1,200 |55A B 500 | PRSESK 500 |BA AR 300
[N iz 4,800 |#5A2\BH 1,000 |#REHE 500 |BA AR 3,700
[N iz 7,200 |15 A2\ BH 300 |f5A AR 500 |BA AR 500
MEE 4,600 |£5A 2\ BH 600 | PR 500 |BA AR 3,600
PRISEE 4,800 | MRSk 3,600 [FRFEE 1,800 |5A 2B 4,000
[ iz 500 |B5A AR 500 |#5A AR 3,200 |15\ B 1,600




1 B B B 471 X 1% &
M E 500 |15 ABHE 1,800 |15 AR 500 | B 500
SR 4,800 [fSANBH 4,200 [PRFEZE 3,000 |#AE=F1 1,500
[SVANG:| 4,100 |PREA{E 900 |5 A 2B 500 | FE 500
[SVANG| 4,800 |5 AABHE 500 |15 ABE 500 | FE 500
[SVANG| 3,300 |5 2ABH 500 |[FREEE 500 | B 1,800
[VANG| 500 |15 ABHE 3,600 |55 3,600 |15 A \B 3,600
AT {E 2,000 |5 BH 4,400 [\ BH 1,500 |18 R 4,000
[VANG:| 4,800 |5 ABHE 3,600 |£5A /N 500 |#kEEES 500
MRAT 4,800 |5 ABHE 2,000 [FFAABH 1,200 |#hEEE 500
[VANG:| 4,400 |PREHER 4,800 [ A ABH 2,400 [ ABH 3,200
[ANG: 8,800 | PREHEE 400 115 ABE 10,000 [fF AN 9,600
[ANG:| 300 |[fEAABHE 3,200 [FRJELES 400 {54236 3,200
[VANG:| 1,000 | #AHTE 6,400 [FRELL, 3,300 |5 A ABH 4,200
[VANG:| 600 |15 /ABHE 4,000 [ ABHE 4,800 [FFAABH 500
WEE 600 |15 ABHE 2,200 [FFAABH 2,800 [FFAA\BH 500
(NG| 3,200 |52 BH 2,800 [FFAA\BH 1,800 |1S A R 2,000
USAZES 2,000 [PAHR 5% 2,100 [ A\ BH 1,200 |18 R 500
RS K 3,600 |5 NBH 3,600 [#REEHK 500 |8 ABHE 4,800
(VNG| 6,000 |52\ B 4,800 [fFAABHE 500 |8 ABHE 3,300
(VNG| 3,300 |52\ BH 4,000 [PRATEE 500 |8 ABHE 3,000
[eVANG| 1,600 |15/ R 1,500 |18 R 4,400 [ ABHE 4,800
[(eVANG| 2,400 |5\ BH 3,300 | E5 el 500 |8 ABHE 300
(VNG| 4,800 |5 R 3,300 [FRATR 4,000 [PRHE 500
(VNG| 3,300 |5 NBH 600 |15 ABH 2,400 [PRgE 3,000
(VNG| 1,500 |15/ R 1,000 |15 B 500 |8 ABHE 2,000
[eANG| 2,800 |5 NBH 800 |FRARSE 4,800 [FA¥5EH 2,000
[(eVANG| 4,800 |5/ R 3,600 [PAE(E 900 |18 /ABH 600
(eANG| 500 |5A AR 500 |fF A ABE 500 [MAETHE 2,400
(NG| 2,800 |54 A6H 12,000 [PREER 400 |5 ABH 3,200
(NG| 4,800 |#5AR2\BH 500 | MR EZE 1,600 |F5A 2B 4,000
(eANG| 500 |MAECEE 4,400 |5 ABHE 2,700 [F5AR A\ BH 2,100
(eANG| 500 |5A AR 4,800 [ ABHE 500 |PAFESE 3,900
R4 2,800 [FRECE 4,800 [ ABHE 400 |FREk 2,700
(NG| 1,500 | #AELE: 1,800 |f5A 2B 500 |18 ABdE 1,800
i 2,700 |15\ 500 | PRgmis 5,000 [#hRgKR 4,800
MR 1,600 | PREZCHE 500 |fF A ABE 800 |fF A /ABHE 1,500
(NG| 500 |5A AR 2,400 [ ARABH 3,600 [F5ARA\BH 500
(eANG| 3,200 |15 A6H 900 |13 ABHE 3,000 [ ARABH 500
[SANG| 2,000 [f5A2A6H 1,500 |#AEI4E 500 | ABE 500
[N 1,000 |MAFE(F 500 |#5A AR 4,400 |54\ BH 3,200
[N 500 |PR=E% 4,800 |FRETE 600 |Phigses 11,000
[N 500 |#RFFIL 3,200 [N 1,800 |52 B 500
[N 500 |B5A AR 300 |5A AR 4,800 |54\ BH 3,000
[N 500 |B5A AR 4,800 |15 A LNBH 1,200 |F5A B 500
[SANG| 500 |B5A AR 3,600 [N 1,500 |FRHEES 500




B2t BEH B2t B T B B2y x|
TS 3,200 [#EF5 5 3,400 |54 B 500 | bRFEES 500
[ AN s 3,000 |5 36 2,400 |55 A /35 9,600 |FFA 2B 600
[ AN s 2,400 [f5A B 4,800 |f5A 3B 800 |F5A /3B 2,400
(AN 2,700 |54 B 800 |54 B 4,800 |5/ B 6,000
[ AN s 3,600 [5G 500 |5 A6 2,000 | A% 800
[ AN s 900 |54 /3B 500 [fSA B 500 | PRAERL 1,500
[ AN s 500 [f5A B 500 |BAABHE 3,000 |f5A 2B 2,400
(AN 500 |phAF5EE 3,000 [#5A 4 B 12,000 |f5F /B 3,600
[ AN s 500 [f5A B 500 |BAABHE 1,000 |PRHERR 9,600
[ AN s 500 [f5A 3B 400 |F5AABHE 3,600 |54 2 B 4,700
S ABE 3,300 [f5-A B 2,000 |F5A /3B 3,600 |52 B 500
AN izl 600 |PAFEEE 500 |HRETES 3,600 |FkFE 3,200
S ABE 500 [FFANFE 1,600 ({5 FH 9,600 | PRHHET; 3,600
(AN 3,900 |54 B 500 |BA 2B 2,000 | FRFEES 4,000
[ AN s 12,000 [f5AZAB 500 |BAABHE 900 |f5A2ABHE 4,800
[ AN s 13,200 [f5:AAB 900 |f5A2ABH 500 |FAABHE 900
S ABE 4,400 |PA=ZE 2,800 |F5A /B 500 |FAABHE 2,600
[ AN s 500 | A B 9,900 |54 /3B 500 |PrRAEER 1,500
MFEER 500 | A B 3,200 PR IE 4,800 |F5A 3B 500
[ AN s 3,600 [FRTETF 2,700 |MAZ40 4,800 [PRFHERE 1,500
[ AN s 500 | A B 3,200 |5 B 4,200 |F5A 3B 10,000
[ AN s 500 | A B 500 |BAABHE 500 |FAABHE 500
[ AN s 500 [FRIEFE 1,800 ({5 BH 2,000 |f5A 2B 10,000
M7 500 | A A 500 |5z 2 2,100 |t 28 500
N 2,000 |5 /B 6.600 |57/ B 1,500 |15 F 236 5,600
T E 3,600 |54, B 10,000 |51 /5B 900 |5 R 2 B 400
B AR 10,000 [#k&7E 500 [f5 /A 500 |5 /A 3.200
1S /ABH 900 |15 /B 500 [kt 2,700 [{5F /3B 500
N 300 |55 B 500 |5/ 4,000 |5 /A5 500
N 500 |5 /3B 500 {5 /A 1,200 [{5F /A5 500
BB 300 [BF A 500 |5 /B 3,600 [T 3,600
N 500 |5 /3B 1,500 [ bk 5,000 [{5 /A 500
(AN 4,800 |15 B 1,500 |bh5e4 4,800 |15/ B 4,800
(AN 1,500 [f5A4\BE 500 |fBA 2\ B 600 |f5F 2B 12,000
BN 500 |54 /3B 4,800 [ /A 4,000 [PRf%E 1,200
(AN 4,300 |15 B 2,100 |#kzz B 500 |f5F 2B 6,000
s 6.000 |{5 /A5 4,000 [{8F /3B 500 |5 /5B 3,700
(AN 1,000 [f5A4\BE 2,000 |15 4 B 1,000 |15\ 500
MHEIE 2,100 |15V 4,400 |54 B 4,000 | Pk & 12,000
FA LB 2,000 |5 B 500 |B5A 2B 2,800 |54 3B 500
FA LB 2,200 |5 B 500 |PREHE 600 PR fE 3,600
HWE% 3,600 |5 B 400 [FAABHE 4,600 |54 3B 500
FA LB 3,600 |5 B 2,000 |54 3B 500 [f5AABE 800
HE 3,900 |#(E% 3,600 |FREEEE 900 |15/ B 500
FA LB 4,000 [F5A/3BH 3,600 |15 ABH 3,600 |54 3B 500




1 B B B 471 X 1% &
[SANG:| 4,200 |5 ABHE 3,000 |5 2B 3,200 |15 A \B 11,000
[VANG| 2,700 |55 RN BH 4,800 |PhZ2E 3,000 |15 A\B 500
PRE 1,200 |15 ABHE 1,400 |15 ABE 3,600 |15 A\ B 2,400
[SVANG| 500 |15 ABHE 10,000 [fFAZNBH 13,200 [fFAA6H 500
[SVANG| 3,000 |52 BH 4,800 [ A2 BHE 4,800 [PREREE 600
[VANG| 2,400 |55 BH 2,000 [FFARABHE 1,200 |#5AR 2B 1,500
[ANG:| 2,700 |55 A BH 500 |fS B 2,400 [ ANBH 7,200
PR EZF 4,800 |5 ABHE 1,600 |5/ B 500 |8 ABHE 4,800
[ANG:| 6,200 |15 A5 1,500 | #REE 4,800 [FFAABH 500
[VANG:| 7,200 [ ABH 4,000 |PREE 6,600 [fFA/\BH 4,500
[ANG: 3,600 [FR7E B 4,000 [ BHE 1,800 |52 B 900
HEE 2,200 |55 BH 500 |FREEDL 2,400 [ A\BH 3,300
HEEE 500 |15 ABHE 3,600 |£5 AN 2,000 [FAEEEH 1,200
[VANG:| 1,500 |5 ABHE 11,000 [f5A /A6 500 |18 ABHE 12,000
PR 7,200 [FREh e 2,400 (PRt 500 |8 ABHE 11,000
(NG| 2,100 |55 ABH 500 |8 ABE 4,800 [FFAABH 1,500
[ANG: 500 |15 ABE 5,000 [ ABH 2,000 [5G 5,000
(VNG| 1,400 |15/ R 2,700 [FFAABH 300 |15 RABE 2,000
(VNG| 3,600 |5 NBH 500 |fF A ABE 6,400 [F5AA\BH 8,000
(VNG| 4,400 |#PRZEE 400 |15 ABH 500 |15 AR/ABE 3,600
[eVANG| 900 | F B 8,400 |PRERZE 2,000 |FREF A 9,600
[(eVANG| 500 |F AR 4,800 [ ABHE 500 |8 ABHE 2,000
(VNG| 3,600 |5 NBH 5,000 [ A ABH 3,600 [5AR A\ BH 500
SR NE 3,200 |15\ 5H 2,000 |HAE 3,600 |15\ BH 3,600
(VNG| 500 |F AR 4,800 [fFAABHE 500 |15 /ABE 5,400
[eANG| 400 | PR 3,000 |52\ B 1,200 |15 ABH 3,600
[(eVANG| 2,400 |5\ B 4,000 [FFAABHE 3,900 [F5A A BH 4,800
(eANG| 4,800 | PREHT 300 |fF A ABE 3,000 [ ARA\BH 3,200
(NG| 400 |B5A B 1,500 |#5A Ak 500 |8 ABdE 2,700
(NG| 2,100 |54 A6H 500 |fF A ABE 4,400 |FRIEFH 6,000
MER 4,800 |#5A2\BH 3,400 |15 BH 300 |fF AR 2,400
MEEX 1,000 |B5A A6 4,800 [FPRZFK 500 |8 ABHE 2,800
(eANG| 4,800 |#5AR2\BH 500 |fF A ABE 500 |8 ABHE 13,200
(NG| 3,600 |54 A6H 500 |fF A ABE 2,800 [FFARA\BH 500
(eANG| 500 |5A AR 500 |fF A ABE 2,000 [F5ARA\BH 1,200
(eANG| 3,600 |54 A6H 1,200 |#5 A 2B 2,800 [FFARA\BH 3,600
(NG| 6,400 |54 A6 300 [FRZGE 1,200 |PhRFESE 1,800
REEZE 3,600 |54 A6H 500 |#RZEER 500 |8 ABdE 1,800
REEZE 4,800 |#5A2NBH 3,900 [MZEE 500 | ABE 3,600
[N 2,400 [{5AA6H 4,800 |[PRZEHE 1,200 |15 B 500
[N 500 |HREE 2,800 |15 A LNBH 500 |BA AR 1,000
WEE 1,500 |55A B 900 |#5A Ak 500 [MEE 1,800
[N 3,600 [f5AA6H 3,600 [N 4,800 |54\ BH 3,600
[N 4,000 |[#5AR2\BH 500 |#5A AR 2,800 |15 AN\ B 4,000
WMEEE 500 | A RS 3,300 [N 4,400 |15\ B 500




B2t e B2t BEE T BHE B2y x|
e 500 [{5A/85H 2,000 |[BA 1B 4,800 |15/ B 4,300
BBl 1,200 [543 2,100 |5 /A BE 3,300 |bhEE2E 2,000
[ AN s 500 [FFANEH 500 |PR&fiE 4,000 |PhEEIH 3,300
[ AN s 1,800 |f5A /3B 4,800 |f5A /3B 500 |#RZE+ 3,600
A 4,800 |5 /5B 500 | bhasm s 1,200 [f5R /B 4,300
AN 500 [543 3,000 |5 /1B 7,200 | 4,300
[ AN s 6,000 [PR{EE 500 |BAABHE 2,400 |54 B 2,500
PfE 3,200 [ /A B 2,000 |5/ B 700 |FhEHH 3,600
[ AN s 1,500 |f5A /3B 1,800 (5B 4,000 |F5A /3B 4,000
[ AN s 2,000 |36 500 [PA{EE 9,600 |54 2B 2,000
A/ B 4,800 |5 /568 500 | bR 2,000 |z 1,200
G ABE 500 [f5A B 4,800 |53 5 2,400 |54 B 800
S ABE 2,000 [f5-AAB 2,000 |F5A /3B 800 |f5A B 11,600
PR{mER 900 |f5A /3B 500 |BAABHE 500 |FAABHE 4,800
AN 3,200 [ R /2B 2,400 |5/ B 500 |48 12,000
[ AN s 1,500 |f5A /3B 500 |5AABHE 3,600 |f5A 2 B 1,000
S ABE 500 [f5A B 3,600 |f5A B 3,000 |F5A 2 B 300
[ AN s 12,000 |{GA B 3,300 |5 B 600 | PREEFTSE 4,800
PR{mIE 7,200 | PRHILT 2,700 | #A5RFETR 4,000 |F5A 3B 500
[ AN s 500 | A ABHE 3,600 |5 B 500 |FBAABHE 500
[ AN s 400 | PREY S 4,400 |55 2,400 |52 B 2,000
[ AN s 2,000 |f5A 2B 2,400 |F5A B 2,000 |f5A 2B 500
AN 4,000 |5/ B8 500 |5 /ABH 12,000 [ FRESC 3,600
AN 3,600 [Pk 84 2,000 |5/ B 7,200 | FkEA 9,600
PRI 3,600 |54 2B 500 [PREIER 2,700 |52 B 500
] 4,000 (5B 2,000 | PREZE 5,000 |23 B 500
[ AN s 3,600 |f5A 2B 500 |BAABHE 3,000 |52 4,800
AN 2,400 |15/ B 2,400 |15/ B 4,800 [Ptz 3,600
AN 12,000 |5/ B 4,400 |f5F 5B 2,400 15K/ B 600
5 /5B 500 [ PRI 1,500 | A B 4,800 | PRE4E 3300
N 3,000 [FREHT 4,800 |5 B8 3200 | ARE 7200
AN 7,200 |[5R /A B 2,000 |5/ B 3,600 [/ B 2,000
AN 4,800 | PRHTHT 500 [FhEEL 3,000 [5R /A BE 1,800
A 3,600 |15/ B 2,000 |[HRHUFI 500 |FhEERE 2,300
15 /5B 500 |/ /B 6000 |{5 /2B 500 |/ /B 3,600
M 6,200 |15 /B 7,200 | 12,000 |bhEE et 500
[ dAN G 9,000 |5-A /3B 400 | MRS 3,600 |54 2B 3,600
AN 400 [f5A45BH 4,800 [P 3,600 [15R/AB 500
FA LB 500 [#REZHE 500 |B5A 2B 3,900 |54 3B 4,400
P 2,700 A3 3,000 {5455 4,800 |PhEE4E 3,600
FA LB 2,000 |5 B 500 |B5A 3B 2,100 |54 B 500
= 4,800 |5/ BH 9,000 |54 /3B 8,000 |GG 500
FA LB 3,600 [FRAEAI 500 |B5A 2B 900 [f5A B 3,300
HEH 6,000 |5 B 500 |B5A 2B 2,400 | PREEAE 4,400
BB 4,800 |15 5B 4,800 |15 /ABH 2,000 [HhEEE 800




1 B B B 471 X 1% &
[SANG:| 6,000 |F5R 2\ B 500 |15 ABE 2,800 |15 A \B 3,600
PRELR 3,600 [PARKCE 500 |15 ABE 500 | AFE 1,200
[SVANG:| 3,000 |5R 2B 500 |15 ABE 1,200 |#5AR 2B 3,000
SARNG 1,600 | #ARK % 2,700 |15\ FH 500 [(EANEHE 500
SR 500 | ARk 4,000 [N B 4,000 |FREE4 7,000
PREZE 3,000 | PRI 500 |5 ARE 2,200 | PhEE4E 3,200
[ANG:| 500 |15 ABHE 4,000 [ BHE 4,000 [ BH 2,100
WEE 600 |15 ABHE 500 |5 ARE 500 |8 ABHE 1,200
MREE 4,200 |5 ABHE 500 |8 ABE 500 |8 ABHE 4,400
[VANG:| 400 |15 A 256 500 |F A ABE 7,200 [PREEE 3,600
[ANG: 1,000 | PRk 500 | FRiREE 4,800 [FFAABH 3,600
[ANG:| 500 |15 ABHE 3,800 |£5 AN\ 500 |8 ABHE 3,300
MREEE 2,000 |52 BH 4,400 [ BH 500 |8 ABHE 3,200
JSER 7,000 [ AR 4,400 [\ BH 5,000 [ A ANBH 800
MEEZE 3,600 |F5RABH 500 |F A ABE 1,000 |18 R 900
(NG| 500 |15 ABHE 1,500 |8 AR 500 |18 ABHE 2,100
[ANG: 3,200 |55 R 2ABH 6,000 [FRHEE 500 |18 ABHE 500
(VNG| 2,800 |5 NBH 2,800 [ A A\BH 800 |fF A ABHE 500
(VNG| 3,900 |5 NBH 2,000 [ ABH 500 |8 ABHE 500
(VNG| 6,600 [FEFEH 2,400 [ ABH 500 |8 ABHE 4,800
[eVANG| 4,800 [PRES 11,400 [f5A A6 1,200 |18 R 12,000
[(eVANG| 500 |F AR 2,400 [F5ARABHE 7,000 [ ABH 4,200
PREEHE 1,800 [FREE 500 |fF A ABE 500 |PR#HERK 6,000
(VNG| 500 |fF AR 500 |fF A ABE 500 |8 ABHE 500
(VNG| 500 |F AR 500 |fF A ABE 5,600 [ ABH 2,400
[eANG| 2,000 |5 NBH 2,400 [F5ARABHE 3,600 [FFAABH 4,800
PR 3,200 |15 5H 5,600 |15\ BH 500 |FFA B 1,100
(eANG| 2,000 |54 A6H 500 |fF A ABE 4,800 [FFAABH 3,000
(NG| 1,200 |55A A6 1,500 |ZEHES 4,800 it 2,400
(NG| 7,200 |15 A 2B 500 |fF A ABE 3,100 [ R A BH 500
(eANG| 4,800 |BEEERK 800 [FA B 500 |8 ABdE 3,300
(eANG| 1,800 |Gl 2,700 [FF AR\ BH 3,300 [fFARABH 500
(eANG| 3,800 [BRERLE 4,800 |ZEMESE 3,200 |5 ABH 11,000
MEE 800 [BEEFS 900 |FZEFEE 11,000 [ 1,200
IS 4,800 |#5A2\BH 4,400 |5 ABHE 3,600 [HET2E 2,800
(eANG| 500 |5A AR 500 |fF A ABE 7,200 |HErs4 500
MERT 9,900 |BRHEH 900 | k{5 4,800 /M 3,600
PRERSF 7,200 |15 A 2B 1,500 |#kanEz 4,800 |t 1145 600
[SANG| 500 |B5A AR 500 |#knszE 2,400 |15 \B 3,600
[N 4,800 |£5A2NBH 7,200 |#kF5E 3,600 |15 A\ B 1,200
[N 2,400 [{5AA6H 500 |k 2,700 |15\ B 4,400
[N 1,200 |BR#ES 500 |WkEE 8,400 [f5AH /N6 500
[N 500 |B5A AR 1,000 | ks 500 |BA AR 500
[N 2,000 |EREHAME 3,600 [WhFEE 1,000 |F5A 2B 500
[SANG| 4,000 |[£5AR 2\ BH 3,600 [N 14,000 |HEDIEE 4,000




g e B2 BEE B BHE s SEH
BB 500 |BEA A 4,300 [ ABH 4,400 |BEAANE 2,000
[N 1,500 |55 AN 1,800 |55A B 500 |53 B 500
BB 600 |EPEHE 4,400 [ AB6H 3,600 |G 500
BB 2,000 [f5ABd 3,600 |56 500 [T 3,200
BB 500 |EPEEES 3,600 |56 4,800 |BEANF 7,000
B NEH 2,000 |BHE 4,400 [ A6H 1,000 |BEAAF 2,800
S 8,400 [B[HF 4,300 [#kAEES 3,600 |G 500
[N 3,600 |G 1,200 |f5-A /3B 3,600 [f5:A/A\BH 3,200
[N 500 |BPrEEL 6,800 ({5 A6 3,600 [f5A/A\GH 500
PRI SR 4,800 |f5 A B 4,400 |G 4,800 |54/ 3,600
I 3,000 [f5AABd 500 |#@kgLiE 4,000 |BEANE 8,000
BB 4,000 |BEE&EZF 4,800 |FFAAFH 2,800 |G 3,900
[N 400 |EA A 500 |53 BH 2,800 [f5-AABH 900
[N 300 |G 500 |53 BH 500 [fFA B 500
HWEH 500 [f5A N5 4,000 [f5A 236 500 |18 ABHE 2,000
[N 2,000 |G 500 |B5A 3B 800 |51 235 4,800
[N 500 |EA B 800 |51 /3B 500 [fFAABHE 500
[N 1,500 |f5A 2B 3,600 |5 A A 1,000 |53 B 500
e 1,000 |G HERE 3,600 |Hk&EE 4,400 |BAAB 500
[N 500 [fFAAB 6,000 ({5476 1,800 |f5AH /3B 3,200
(e aANGia! 500 |54 B 500 |EEEEEAIRAE 2,000 ARG 500
PR R 2,100 |G 1,200 |f5AAF 2,000 [ 4,800
[N 1,800 |f5-A B 3,600 |5 A A 400 |5 AB 4,800
[CaaANGi: 4,800 [BFEHEE 4,800 |FsmenparEAs| 4,800 [HEE 4,800
[N 2,000 [f5:A B 500 |B5A 3B 3,000 [tz it 3,600
MEE(E 500 (BPaREE 3,300 [pommniesee cmmms 4400 |15 B 4,400
PREEAl 7,000 |54 2B 4,800 |53 FH 3,000 |HEE 2 4,300
[N 3,600 [f5A B 8,000 | TS EREARIELE] 2,400 [f5AABHE 5,200
[N 7,000 {54 /F 1,200 [BEATRA ] 5,000 [5G 1,800
BB 5,500 |f5A B 500 |@hemrEamRas| 4,000 [BR A 2,000
BB 4,800 |2 FH 10,000 |f5FAABH 600 |5 3B 3,600
[N 500 |54 2,400 ({54 /ABH 3,300 [f5:A A6 2,000
PREEE 1,000 |52 B 300 |5A 2B 1,200 |5 2B 2,400
BB 500 |54 7,200 |EEEEARAE 4,400 |5AAE 500
[N 500 |54 7,200 ({546 3,200 [f5:A A6 2,000
[N 500 |54 6,000 | =S¢t 3,600 ({546 500
[N 2,000 |BF$2E 3,600 |EAEIEHIRAE] 7,200 (SR AF 2,100
[N 500 |54 2,000 ({546 2,400 [5G 800
[N 500 |54 4,800 |51/ FH 2,400 [5G 500
PRREE I 3,000 |BPFEES 4,800 |THZEFEARAE 8,800 |G 400
GAAB 500 |54 2,000 [[EFR CAE= 2,400 |54 3B 1,000
[N 500 |54 3,000 |t N 4% 500 [t 3,000
GAAB 500 |54 1,000 [ti/NH 3,000 |54 2B 500
GAAB 500 |54 3,600 |5 B 5,200 |54 3B 500
[N 3,000 |BR4E(E 4,800 |52 B 2,400 [5G 3,000




i S 2 S it & R &8
B AR 2,800 [BF 2B 500 | L7 600 [#E51 10,000
PR 500 |3 B 6.000 |15 /\B 3,600 |15 A A 200
BB 1,600 [{8 /B 500 [ £\ 1500 [#5 A F 4,800
SRR 500 |3 B 1.600 |57 /3B 4,800 |15 /A 2,000
(/B 3.600 [EF /A5 500 {5 /AP 600 |/ 2,100
SRR 900 |iEEs 2,000 |15 /B 2400 |15 AP 3,600
T 3.600 [EF /A5 1,600 |57 /] 4.400 |15 AP 3200
FREEH 2,000 [EF /A5 500 |15 AP 2,000 |38 200
EEA 500 |5 /3BH 3,600 [ 4,800 |15 /5[] 2400
(BB 3,000 |EEEEE 800 {3/ 3.600 15 21l L
(/B 3.600 [EF /A5 4,800 |13 /AT 7.200 |15 /AP 00
e 500 |FIIEERT 9,600 |57 /3B 2,000 |3 2 200
(/B 3.000 [EF /A5 900 |15 /AP 2.000 [/ 6,900
A 500 [ /2B 4,000 |15 /NBH 4,200 |13 /3P 4,800
Pk = 4.800 {3 A B 500 |15 /A 500 1f5-F AR 5,000
B 500 |BiREtA 3,600 [ffies 2 3.200 [ >.000
A ABH 500 ({54~ /BE 600 [HfifE 7,200 [HE{E S 7,200
(BB 500 |8 2B 1200 | 3K /7B 1,500 [ (e 2,700
(R 500 |8 2B 800 /5 /5P 7.000 {3 A 3,200
PR 1600 |8 AR 3.600 [{EF /B 3.000 [P/kE 1800
(BB 2,000 |B AR 3.600 |8 /AB 4.000 | B 3,600
PRREA 4,400 |/ 1500 {84/ 3B 6,000 [AFEC 4,800
RS 2,000 | A5t 9,600 |51 /B 3.200 | ABH 2,000
B /5BE 500 |5 /5B 900 #5755 500 | A A 3,600
(VNG| 500 |BlEEE 500 | HE 3 300 |HEF2 i 4,000
A6 500 |[F5A 2N 500 [5ARABH 3,600 |54/ B 500
B /5BE 3,000 |5 /2 B S CEIA 500 | A A 2,000
B A6 500 [F5A B 2,000 |fFA 2 B 3,600 |5/ B 3,600
FA LB 2,800 |BRRESE 3,600 |FFA LB 500 |15 ABHE 4,500
A 4.800 |3 /A 500 i 7 3.600 15 A g
AT 6,600 |EFEE 500 |B5A B 500 {5423 3,600
AR 2400 | BB 1600 [{&F /ABH 4.800 15 /2B 200
BR B 800 |5/ B 2,400 [FHARZABE 3,600 [ 1,200
ER /B 3,000 |FREES 800 |15 43P 500 {5 3,600
AN 2,700 |Gl g R 5,000 |2 12,000 |5 2N5H 500
FRERI 300 |BlEEE 4,000 [F5A 3B 2,100 [HREE 400
AT 3,600 |5/ 8.000 [} B4 2,000 #5347 00
(AN N AN 3,600 |54 75BE 500 [StiREE 2,800
ER AR 4,800 | 5B 2,100 [{57 22 500 5 /A st
R E L] 11,000 [ermmmama] 2400 [ER A 3.300 |52 1,200
RN BERAT] 3200 [/ 12,000 |t 5 L 2.400 |54/ 200
& AR 4,800 |5 /5B 2,700 |57/ 8,100 {3 /1 f 5,600
15 AR 3,600 | 67558 3,600 i & B 7400 |15 A 3,000
B AR 2,100 |3 /5B 500 [ A 7.200 | aut
RN 800 | &5 3,600 |15 ABH 1,000 [f5A 2 B 200




B2t BEH B2t B T B B2y BHH
[N 600 |F5A A6 6,000 |54 ABH 4,200 |15 3B 1,000
[ AN s 9,000 |54 3B 7,200 ({5 A 500 [fFA B 2,000
S AL 2,000 |SECPERARAT] 4,400 15K AEH 500 AR 3,600
[ AN s 500 [f5A B 500 [HtfiekFe 3,600 |52 500
[N 2,800 |&EHFEEARAE 4,000 |JtiekET 4,800 |15 B 600
[ AN s 1,200 ({5 A2 FH 2,400 |55 A /35 500 [fFA B 500
[ AN s 3,600 [5G 4,400 |55 300 |[f5A B 2,400
[N 3,600 |E8EEE THRAE 1,800 |f5-A /3B 500 [fFA B 500
[ AN s 2,400 [f5A B 1,000 |JitifE T 4,800 |F5A /3B 500
[N 3,000 [E 2 300 |52 BH 2,100 [f5-AABH 500
S EATR /N E] 4,800 |f5A 3B 6,000 |F5A /35 3,600 |52 B 500
[N 2,100 |G 2,000 ({5 A6 5,500 [AtaiE 1,200
BRI TEE| 4,800 (SR AR 2,000 [fFA2NBH 4,000 |52 BH 2,300
[ AN s 2,100 [ {FHT 4,800 |55 3,000 |f5A 2B 1,800
[N 2,400 |G 3,000 [ifiFE & 500 (5B 2,000
ISR AR A F 4.800 |15ANEH 500 (152N B 500 [HE[E= 3,600
YN 3,800 |EfKTIREsRAERF 2,700 |54\ 1,200 |52 B 500
[ AN s 3,600 |54 2B 14,000 |54 B 2,400 |5 2B 500
HHEE A SRR R Y 7,600 [15AA\FH 11,600 [iEEEqy 3,600 |ALE$Y 4,000
HEE A R RO Y 4,400 (GEIN RSNG| 5,600 |15 7\EH 500 |52 B 3,600
HELE A AR 900 (542 B 3,900 |15 \EH 1,200 |52 B 2,000
[ AN s 3,600 |54 2B 4,100 |55 1,800 [f5A B 4,800
[ AN s 10,000 |G B 500 |JiizH 4,800 |F5A 3B 900
T AR R TR A F) 4,000 |5A N B 4400 |[15AAFH 500 |52 B 2,000
TR AR 2,400 |BEFRSY 4,800 [f5A/36H 2,000 |t 4,800
[ AN s 4,000 |NFEEARAE]] 3,600 |FFA AR 500 |FAABHE 800
[ AN s 5,200 |54 2B 500 |BAABHE 4,800 |F5A 3B 2,000
[N 4,400 |5 B 5,000 ({5476 500 [fFAABHE 4,800
[N 3,000 [f5A B 500 |B5A B 3,200 |3 A B 800
B AR 500 {54 K TAZFF|  7.200 [{BF /A0 3,600 [ AR 3,600
CEN 9,000 |5 [ 6,000 |5 /55 2,400 |5 /55 2,800
[N 500 |54 12,000 |EtHEFEARAE 2,400 R 300
(CANE 500 |EmdsmsreARAs| 3,600 |EESGEAIRAR| 4,800 |[HEEEET 2,100
AR 2,800 =% 2,000 ({5476 1,500 |5 2B 8,100
VNN 2,000 |EAN\EE K00 |=irsyeEHmmEmARAT 2,100 |15 \6E 500
[N 3,600 [F=EF 4,000 |f5AH 2B 3,600 ({546 500
FALBH 4,000 |F=FI- 500 |mmEEpsmmnARAT | 4,800 |[15A NG 5,400
[N 1,600 |2 B 500 |B5A B 4,800 |53 B 500
FA LB 500 |F5BAABHE 5,000 | 2L HIRAE] 300 |f5A B 3,300
GAAB 2,000 [f5AAFH 2,000 [f5:AAFH 2,700 ({546 500
FA LB 1,200 |FE i 3% 3,600 [f5A 235 3,600 |HEEEE 4,600
GAAB 4,800 |52 B 2,000 [EREAIRAE] 1,600 |5 2B 3,600
GAAB 500 |54 1,500 |51 2B 2,400 (1546 3,600
BT 400 [EIEHE 500 |BAABE 2,400 |15 /3BH 500
(YN 1,800 | F5AABH 5,500 |saEssmemanas | 10,000 [FEERES 400




g BEH B2 BEH B BEH s S
BB 4,800 | =) 4,800 |ZEARREEH R/ E] 1,800 |15 A5 800
[ aaANGis 1,000 [(EANBH 1,500 (BB 3,000 |FFA 235 2,000
G AGE 12,000 |5 AR B 3,600 |[#5A A 3,600 |54 /35 7,000
[ aaANGis 4,800 [fEANBH 4,800 |50 BH 2,000 |54 235 600
il %) 4,800 [fEANBHE 300 |50 BH 500 [f5ANFH 500
S AGE 1,200 [(EANBHE 500 |50 B 500 [5G 4,400
[ AN s 2,000 |#5A 2N 500 [f[{HES 3,200 |36 3,600
S AGE 7,200 |56 500 |53 BH 2,000 | A 235 4,000
S AGE 500 [fEANBHE 500 |53 BH 2,000 | A 235 4,800
S AGE 500 [fEANBHE 11,200 |54 AGF 3,200 |54 3FH 500
S 1,200 [(EAN\BH 4,000 |53 1,000 ({542 BH 600
S AGE 4,800 [fEANBH 500 |f7=5% 4,400 |B5A /35 500
S AGE 800 |15/ B 500 |53 BH 2,800 | A /35 500
S AGE 500 [fEANBHE 4,800 |5 /35 500 [fFA B 4,400
A AGE 3,300 |#5A/NBH 2,400 | ful{iplf< 3,600 |54 /3F 3,000
A AGE 500 LS 4,800 |55 2,000 |LREEE 500
A AGE 1,200 [(EAN\BH 5,000 |FFA 235 12,000 {5 A6 500
SN 4,300 [fFAAFH 2,800 |0 4,000 |35 3,600
[CaaANGi: 3,600 |{FREH 500 [B5A B 11,000 [HLEE55 11,000
[CaaANGi: 2,400 |FpeT 300 |52 BH 1,200 |5 A AFHE 1,000
BN 1,200 [EEEEE 5,600 |Fa[H 2,000 2B HEEARE] 1,000
Bl Z4 2,100 |{Z=EEH 500 |7 <52k 3,600 |FFA /35 2,800
SN 3,600 |5 36 1,800 ({5 AN FH 300 JZ¥ AL 4,800
XN 500 [BERHEARRAH 1,600 |f5AH /3B 8,400 [empsmsarA=| 9,600
[CaaANGi: 500 [fFAAB 12,000 |54 /AFF 1,100 [f5AAFH 4,700
BN 500 [fFA B 500 [fa[5eEns 4,800 |2 2,400
o7 = 500 [FFAAFE 500 |BAABHE 500 |gEeperara=] 3,000
BB 2,000 |Fine s 1,500 |f5AAF 500 |EAAE 6,000
[CaaANGi: 8,000 [f5-A/35 500 |B5A B 500 [fFA B 3,600
eSS, 2,800 |FFAAGH 3,600 |5 B 6,000 |fFAABH 4,800
BEEEE 2,000 |giiRsi A e 2 AT 4,800 |f5AAFH 400 |F5AAE 2,000
Ef56¥% 3,000 |5 A ABH 500 |fFA NG 2,000 |G 3,000
BB 12,000 |gu&Tsn 2,800 [Fr] Hiflif 3,600 |[fFA B 3,900
BB 500 |FFA NG 4,300 [fu{EF% 4,000 |F5AAE 3,000
(AN 2,400 |54 /B 2,000 [{5A 2B 500 |4 748 4,000
SR ABH 5.400 |15 Z5BH 3,200 |4 500 |5 2B 2,000
SRR 500 [{52ABH 4,800 |fH1EE 500 |40 3,600
(AL 3.200 |5 /ABH 5,200 |5 /B 400 |15 ABH 600
BN 1,500 | psaA s 300 |54 2ABH 4,000 |4C1E5E 4,000
GAAB 3,600 | RESCHREDE] 2,400 |FTE LS 3,600 |56 1,000
B (5% 4,400 {5/ F 2,800 |54 3B 900 [f5A /B 5,000
[N 1,200 |15 AFH 1,200 [fo[E5& 1,800 [f5AAFH 3,200
[N 4,300 |FE A 2,000 |5 A B 4,400 |55 AAE 4,400
[N 2,000 |fFAAGH 4,800 |15 A AF 3,000 &L=+ 4,800
GAAB 1,000 |Eaeaaarss] 2,800 [flfEE 4,800 |F5A 3B 300




g e B2 BHH B BHH s S
B E 3 2,400 |f5-A A Bd 3,000 [fFAEH 2,000 [ 2,400
FANF 500 |EmsarEamAas] 3,600 [BBR AR 3,600 |4 pE 300
G AGE 2,000 |#5A/\BH 3,000 |MZE SR AT 800 |4 /35 11,200
[ aaANGis 3,600 |#5A /N 500 |50 BH 1,800 |44t E 1,200
G AGE 500 [FEANBHE 2,700 |fufHEZE 500 [f5ANFH 4,400
[N 3,300 | mammas 1,200 |fuf&s5 3,600 |4CHES 500
BANE 500 |f5AABH 5,400 [fo] ettt 2,400 [ 2,000
BHANE 500 [f5A B 10,800 |F[REES 4,800 [ A6H 3,900
BB EF] 500 ["EiEARAPEAE] 9,600 |F5A/3F 500 [fFA B 500
S AGE 500 [fEANBHE 600 |51 /3B 2,000 |54 23FH 800
AR\ 500 [EEEEmERAE | 6,000 [BR AN 5,700 [f5-AA\BH 5,000
S AGE 500 [fEANBHE 800 |51 2B 2,700 |55 A 35 1,600
B 1,100 |15 A5 3,600 |5 226 6,000 |4 e 2,400
B NEH 2,000 |ZE&RAFE A E] 2,400 |[tTHE RN AEIRAE 1,600 [f5A B 500
A AGE 900 [E=Fk 3,600 |£5A G 800 |51 235 3,600
BPEL SR 1,000 |15 A5 1,800 |5 A AFH 1,800 [f5:A B 4,000
A AGE 3,000 |52\ 4,800 |11 6,000 |5 23F 5,000
SN 500 [fFA B 500 [HEHA 3,900 |54 236 1,800
[CaaANGi: 300 |5 2B 3,600 |f5AH A 500 [fFAABHE 2,000
[CaaANGi: 500 [FEER 500 |B5A 3B 3,600 |54 /35 4,800
ERARE 12,000 (&6 3,600 |52 BH 500 |EAAE 400
SN 2,000 | &% 500 [5A 3B 4,800 |35 900
PR 4,800 [f5A B 500 [5A B 3,200 |55 /36 1,200
B4 1,000 |ZHH5 12,000 |H1EE4m 3,000 [ A6d 500
BFANE 4,000 [FEXF5 500 | A B 500 |EAAE 1,200
B AmER 3,600 |G 4,800 |F5AAF 3,000 |EHCote 4,400
SN 3,600 | #5436 9,000 |54 3,200 |54 36 500
[CaaANGi: 3,000 |#5A /NG 500 |B5A B 2,000 |56 3,600
BB 1,300 {5 B 4,800 |EZREEZE 3,600 |[fFA B 2,100
SR A 500 #5510 500 |B5A B 4,800 |05 1,600
ERN 400 B 500 [mecEmEaRaE| 3,900 [{5RAE 4,200
HH11 % 2,700 |FFAABH 500 |fFA NG 3,600 |fFA NG 1,800
SR A 600 |5/ F 1,800 [f5AA\FH 1,800 |54 FH 4,800
HEEE 2,400 |FFAAGH 3,600 |H%EEE 3,600 |=F55% 2,400
SR A 500 [ NF 500 |B5A B 300 |F5A 2B 3,000
BB 500 [HHELE 4,800 | 2T 3,000 A ABH 4,400
[CaaANGi: 500 [ NFH 1,200 ({54 FH 3,600 |55 /3F 600
SHECH 3,300 |Fatrts 4,800 |15/ B 4,200 |15F /B 3,600
(SN 1,200 [f5A 2364 500 |[rermmmama=| 1,800 |SZERE 3,600
(AN 500 |54 B 2,000 |54 B 4,800 |E56E 4,800
GAAB 500 |5 AF 500 |B5A 3B 4,800 |54 3B 7,500
(CEYAN: 9.900 |5 /\BH 5.600 |54 /\BH 1.800 | Eta1= 6,600
A 500 |#$A2ABH 300 |FtEsm 3.600 |Eta%HE 2,800
HHRk 500 |G 4,800 |15 A AF 600 |B5A A6 4,800
EHSENA 3,200 |#5A G 400 [FA B 800 |54 2B 3,600




B4 SHH B2 S B X s S
G AGE 4,000 |[#5A 2B 2,000 |15\ B 3,200 |15 A NFH 500
[ aaANGis 500 [FEANBHE 500 |5 NBH 500 |56 500
BANE 500 |5 ABH 2,000 |56 1,000 [ A6d 7,200
[ aaANGis 1,000 |#5AR 2 B 2,400 |15\ B 1,800 |f5 A2\ BH 500
G AGE 2,000 |15 A2\ B 1,000 |5 A B 500 |5 2ABE 500
S AGE 3,600 [FaEEE 500 |50 B 4,800 | = 5% 500
BANE 7,200 |15 A5 2,000 |F&BEHIH 1,500 |[fFA B 500
BHANE 2,000 |[f&ik7E 4,000 B3 500 | AN 500
S AGE 2,000 |FikE 2,400 |BE4fEE 3,600 |4 23FH 500
IR 3,400 |fREfS 4,400 [ A6H 500 |=EAL 500
A AGE 500 |F&a i 9,200 |55 A3 2,000 | A 235 500
AT 4,400 |FZ4EFE 10,000 [ A6d 2,700 | =355 2,400
BHANE 1,200 |15 A5 1,200 [ A6H 4,800 |55 1,800
S AGE 2,000 |15\ B 2,000 |55 235 3,000 |FFA 235 2,400
A AGE 2,000 |15\ B 4,000 |53 3,600 |5\ FH 2,000
A AGE 500 |AREE 2,800 | B A /05 7,200 |F5FA /35 500
A AGE 500 [fEANBH 500 [N B 2,000 | A 235 9,600
tHIEIE 3,500 | #5436 1,800 |5 2ABH 600 [fSANBH 3,000
[CaaANGi: 500 |FfEE 3,600 |f5AH A 7,200 | =i 3,200
(CA| 2,000 [F&fEES 4,800 [s@EgegaEa®| 3,000 (BN 2,400
BN 4,800 [f5A 2B 6,000 [EaHESAERAT]| 4,000 [(BARAG 3,000
SN 2,000 | £ 236 1,500 ({54 FH 4,700 |25 2,200
SN 2,100 |54 26 4,000 |5 NF 4,800 | SHiE 2,700
SR 3.600 | A B 3,000 [ rsEmmamas| 5,600 [BRAR 800
[CaaANGi: 500 | A ABE 3,200 |[f5A A 9,600 |54 /35 2,000
XN 500 |54 2B 2,800 [T ARG AERAT| 4,800 |15/ 3,600
SN 3,100 |54 36 4,800 [BFA /N5 4,800 |SHER 3,600
[CaaANGi: 8,000 |51 /G 500 |5 ABE 600 |51 AFE 500
HHZE4f 600 |5/ F 3,300 |#5AH A 2,400 |5 /N6 500
LSS 500 [BFA B 500 |5 ABE 4,800 |r= R 3,600
HFANE 1,200 |15 B 800 |5 A B 1,200 [f5A B 3,600
B2 N 4,000 [f5A B 3,600 |fFA B 4,800 |F5AAE 500
FANE 7,200 [R/NiF 1,800 |f5AAF 3,600 |[fFA B 2,800
EHEETT 10,000 #5235 400 |52 800 [r=iPd %= 4,800
SR A 2,800 |fRyciT 2,400 |fHAE4A 500 (BB 1,100
HHEE 1,200 |15 B 500 |[fiEE 2,400 |3 NG 3,600
HFANE 3,900 |FFAABH 4,800 |f5AAF 2,000 |G 6,000
SR A 3,600 |#5A /G 500 |ZEF5 4,800 |F5A 3B 4,800
[ iz 2,000 |#5A /G 500 |5 N5 4,800 |{5A 2B 3,200
HH4E A 2,400 |#5A/AFH 3,300 ({51 26F 500 (BB 500
[N iz 2,100 |#5A/AFH 3,000 ({51 /36F 2,400 |15 \B 4,800
[N iz 500 |5 AF 6,000 |{5-A /B 4,800 |E A EE 600
HHREDS 4,400 |ER7KJ 7,200 [FEEE 3,600 |[fFAABH 500
[ iz 2,400 |15 /35 6,000 |{5A /3B 3,300 |15\ B 2,000
[ iz 500 [FFA B 3,600 [543 6F 3,000 | S s 3,600




B SFH B2l SHH B2l SHH B EFH
BB 4,400 |15 AFH 500 |5 A6 3,300 |menimarss—asn@E| 3,600
HER R 2,400 [{8F /B R 2,000 |3 4 4,600
BB 600 |15 A ANB 500 |FFEEE 600 |EAAF 4,800
(YA 600 |ERE4f 600 |EEARABE 3,000 |5 ABE 1,800
LR 4,800 |15 4NEE 4,000 |ZRHE 4,800 |5 A\BE 500
(YA 1,600 |15\ BH 1,800 |15 A 2NEE 3,600 |5 ARABE 10,400
(AN 500 | ABE 1,500 [ZEREEHE 800 |5/ BH 900
(YA 11,800 |fRARE 3,000 [f5A 2 B 1,800 {5 /\BH 4,800
BB 500 [f5A b 6,000 |f5-A B 1,200 [f5A A5 3,600
(YA 500 | ABE 2,000 [$5HFE 1,000 | ST 600
BB 500 [f5A b 4,400 |5AAFH 300 [5G 5,000
BN =5 2,700 |15 A6 500 |5 A6 4,000 |=ERaE 2,700
SURE 500 |55 A ANB 3,600 | A ABH 500 |f5A 3B 3,600
SUEEE 3,600 [f5AN6d 2,000 |f5A B 4,800 |FBAAF 4,000
[ aANGia! 500 [f5A b 500 |15 A6 2,400 |3 A ABH 4,200
SeFEELL 2,000 |15 AEH 4,800 |57 4,000 |BEANE 4,800
SuHi& 600 [f5A b 500 |5 A6 500 |f5A 3B 800
SEER 500 |54 B 500 |54 A6 2,100 |3 ARG 4,800
BB 500 |54 B 4,400 |I5AAF 1,200 [f5AAF 500
SUEZE 12,000 |56 500 |54 A6 500 |52 B 3,600
SR EE 8,000 |tRFEE 2,800 |451EL 500 |FFA B 500
SUAERE 1,300 [tRF51% 500 |54 A6 3,600 ARG 500
A ABH 3,000 [EZREWE 1,200 |S3aE 4,800 |B5AAE 800
A ABH 500 |54 B 3,600 |&5HHF] 500 |52 B 1,500
BB 500 |54 B 3,600 |&S5FRRar 800 [f5:A A6 4,800
BB 500 |54 2B 500 |54 A6 500 |EEEE 900
(A 1,800 |15 2\BH 3,900 [5A B 4,800 | B3L 4,800
CE 500 [{BF /5B 1.800 |5 2B 2400 [ AR 500
BB 900 |15 /B 4,800 |5 255 500 |15 /5B 4,300
(A 2,700 |5 Fd 3,600 |5 B 3,600 |52 BE 500
(A 1,500 |15 2B 4,800 |15 2NBE 500 {5 A2 B 500
BB 500 |ERIGZE 500 |54 A6 2,000 |G 500
BB 500 [FRETE 6,500 |54 ABH 1,200 &&= 2,000
(AN 1,600 |{RthFE 500 |&5ZEH 9,600 |E7E L) 1,000
BB 500 |FFA NG 1,000 |f5A A5 7,200 | = H R 500
(A 4,300 |#R4E 3,600 [f5A A B 500 {5 A2 B 1,800
(AN 3,700 |5 Fd 3,200 |58 4,400 |15FN6E 500
SiREE 3,200 |5 A ABH 500 |54 A6 2,000 [=BET 4,800
[N 4,800 |tR=Eh 3,600 |3 A B 500 |=EERE 600
[N 2,400 |FFAAGH 500 |fFA NG 4,800 |F5AAE 900
(VA 4,800 |fh%s 800 |15 A\BE 1,200 |15 AFH 300
[N 500 |FFAAGH 4,700 |15 A AF 400 |F5AAF 500
[N 4,700 |15 AFH 4,000 |f5AAF 500 |BEAAE 4,800
[N 2,700 |fFAAGH 4,800 |15 A AF 2,000 [=EE5 4,800
[N 800 |5 A B 3,600 |5 B 500 |BEAAE 4,800




1 B B B 471 X 1% &
[SANG:| 4,800 |fRESE 3,600 |&5REE 3,000 |EIREEEUVNZEE] 3,600
[VANG| 3,600 |55 2ABH 500 |15 ABE 800 |f5 A2 FHE 12,000
[SVANG:| 2,000 |fRBkan 300 |15 ABE 3,300 |15 A \B 4,800
SARNG 1,200 [#RFkES 7,200 |15\ 5 500 |=REZS 2,400
FEMEEARAT] 6,700 [BRAR 500 |15 ABE 3,100 |5 A \B 2,700
[VANG| 500 |15 ABHE 500 |15 ABE 4,800 |15 \B 500
[ANG:| 6,000 |FRESE 3,000 |£5 AN 4,800 [FFAABH 3,900
FELA R 3,000 |#5A2N6H 2,000 |15 A\ BH 2,400 |ElEEEtEH AT 2,000
[ANG:| 800 |5 ABHE 4,800 [fFAABH 2,000 | =T 1,500
FEH R E] 4,800 |5 ABHE 6,000 [FFA\BH 2,800 [fFA/A\BH 4,800
5,500 |15/ B 600 |15\ 300 |15AR A B 2,000
[ANG:| 1,600 |15 ABHE 500 |fS B 4,000 [ BH 2,100
viiEEE 4,300 |5 ABHE 500 |55k 2,400 [F5AABH 3,600
[VANG:| 8,800 |fRiER 500 |SEE 8,000 |f5 A/ E 5,200
[VANG:| 600 |15 ABHE 500 |F A ABE 500 |8 ABHE 4,000
(NG| 500 |15 ABHE 600 |S5E= 12,000 [fF A6 3,200
BEERE 300 |ERIES 4,800 [fFAABH 1,600 |{S AR 2,700
(VNG| 2,700 |5\ BH 4,800 [fFAABHE 3,000 [F5ARABH 500
(VNG| 2,000 |5 NBH 4,800 |$SEE 500 [FRES 4,800
AeensaIRAE] 8,900 [EBARAR 2,000 [ ABH 2,000 [F5AABH 4,800
=T 300 |[FA AR 500 |fF A ABE 4,100 [FFAABH 500
[(eVANG| 500 |F AR 2,000 [ ABH 500 |8 ABHE 10,200
(VNG| 3,600 [tREMH 2,000 [ ABH 4400 PRES 5,200
(VNG| 500 |fF AR 2,700 [FFAABH 7,200 [ ABH 2,400
EFEE 7,200 [FA B 1,500 |18 R 9,600 [FFA\BH 600
[eANG| 500 |F AR 6,000 [FFAA\BH 900 |18 /ABH 3,600
[(eVANG| 3,300 |5\ BH 3,600 |15 BH 1,200 |18 R 500
(eANG| 500 | s 2,400 [ ARABH 3,600 [FFARA\BH 4,000
BESCAERAT] 3,600 [BRAR 4,800 [ ABHE 3,600 [F5ARA\BH 4,800
(NG| 2,000 [f5AA6H 500 |fF A ABE 500 |4 ERAEIRAT ] 4,000
(eANG| 1,800 |5A A6 1,800 |f5A 2B 500 |8 ABdE 1,200
(eANG| 3,600 |54 A6H 800 [fFA B 1,200 |5A 2B 500
(eANG| 3,900 |54 A6H 500 |Z®l16=2 4,800 |ERREEEE 5,000
(NG| 12,000 |15 AN 1,200 |#5 A 2B 4,400 |EFEEARAT] 3,200
(eANG| 800 |15 AL\ BH 2,400 [F5ARABH 500 |8 ABdE 4,200
(eANG| 3,600 |54 A6H 500 | = fif¥1 4,800 | S FONEELRY 1,900
eSS 3,600 |54 A6H 3,600 |15 B 1,800 |FA 2B 3,600
(eANG| 600 |5 A B 3,600 |15 2B 7,200 [ BH 500
i E 4,800 |#5A2NBH 7,000 |54\ BH 500 | ABE 3,600
k=32 600 |ERg 4,000 |[#5A2NBH 7,700 |54\ B 6,000
[N 600 |5A B 500 |#5A AR 500 |BA AR 3,600
(e EF T 500 | ERRH 2 3,600 [N 500 |18 R 4,400
[N 2,000 [f5A2A6H 11,000 [ 2A6H 3,600 |15 A\ B 4,800
[N 2,400 [{5AA6H 500 |#5A AR 2,000 EEERARAT] 4,800
[SANG| 4,800 |£5A 2\ BH 1,200 |5A A B 500 g AEIRAE ] 2,100




B4 SHH B4 S 21 X B4 S
SARNG 800 |f5AR /A BHE 4,800 |15 2\BH 1,000 [fEAN\BH 3,600
SR 800 |f5 AR/ B 500 |5 NBH 500 [(EANEHE 2,000
SR 5,200 |FREES 6,000 |15\ B 500 &=L 4,800
SARNG 500 |#5AR 2 B 500 |5 ARE 4,800 |50 BH 3,300
SR 1,500 [(EANBH 1,000 |ZEfEE 2,400 |50 BH 500
SARNG 2,000 |15\ B 2,800 |15 A\ BH 500 [(EANEHE 1,500
mEmErnsEmtanas | 4,800 |fREEEE 4,500 |5 35 7200 [ reEmams| 1,600
B 500 |5\ 500 [rmremnesmrmmaesnirzn 1,600 |15/ B 2,000
SR 12,000 |ER%525 3,600 [ /A6H 50,000 |EEKAE 5,000
SANE 2,000 |15\ B 3,600 [ /N6H 3,600 |15 A N\BH 2,400
A AGE 600 [fEANBH 000 sy TrEE| 4,400 |[FEER 500
SR 2,000 |15\ B 1,600 |f5A2ABHE 1,200 |56 3,000
BHANE 500 |f5A A BH 1,200 |Es AR A 0 |B5EA NG 9,600
SN 800 |15 AR/ BH 2,800 |iff & {5 2,000 |15 A N\BH 500
SANE 7,200 |15 A2\ B 3,600 |BHE 3,200 |fEFHE 3,600
SR 500 |#5AR2A B 900 |AS{E = 1,200 |5 A6 3,600
ER el 1,800 [fRaiEL 3,200 [f5A/N6H 2,400 |15 A N\BH 500
SR NE 500 | A ABE 600 |3 B 600 |fFA B 6,000
SR NE 800 |f5 A FH 3,600 [f5A2N6H 500 |FFA B 2,000
SR NE 2,000 |15\ 5H 800 |fG-A 3B 800 |G B 9,600
SR NE 1,800 |#5A 2 B 3,800 |EHE 800 |FEE4 600
SR NE 900 | A B 500 | BB 400 |5 ABH 1,000
SR NE 500 | A ABE 2,800 | EALZR 1,000 |#5A 2B 2,000
SR NE 3,600 |[(REH 3,300 [f5AA6H 400 [FEZEH 3,600
SR NE 1,500 |#5AR 2B 500 |3 ABE 500 |FEEIRE 800
SR NE 400 |5 A 4,000 |EINE 2,800 |15 AN\ BH 500
SR NE 500 [fRIEE 4,300 |15\ BH 500 [FEIAE 1,200
SANE 500 [BFA B 1,800 [f5AA\FH 500 |fFA B 4,800
EElE 2,400 [f5A 2B 4,000 | & 7ZR 1,800 |[fFA B 500
FEEIS 7,000 [ ABH 2,000 |EEE 500 |BEAAE 1,600
SANE 500 [ NF 10,800 |5/ 6H 500 |fFA B 800
SANE 500 [ NF 3,200 [ N6H 6,400 |15 B 4,800
SANE 400 [R5 800 |{5-A /3B 500 |fFA B 1,200
(CEYAN: 500 |5z 1,200 |5 /AB 500 |3 /AB 3,600
BB 2,400 |15 5B 2,000 |32 3,600 |3 AN 2,000
SANE 600 |5 /NF 500 |5 ABE 2,800 |15\ BH 4,000
(AN 500 |#ZE5 1,500 |E-EH] 3,600 [{5A 0B 3,000
SANE 2,100 |#5AH /G 500 |5 ABE 500 | ABE 900
(G 3.600 |5 /ABH 1,200 |5 /AB 400 |53t 3,600
[ iz 4,800 |ERE05# 500 |55 500 |BA AR 4,000
[N iz 500 |5 AF 3,600 |51 A 1,800 [f5AN\BH 1,800
[N iz 5,600 |#5A /A 4,000 |55 4,800 |5 B 4,000
B NG 500 |52 B 2,000 |5 A B 3,600 |5E AJBL 4,800
B NG 3,200 [f5A 2B 1,200 | B 4,800 |48 2,400
BB 500 |fRsh B 7,800 |54 ABH 1,500 |f5A B 800




T EE T o Eali) S T XA
[ AN s 3,600 [5G 500 [fSA B 9,600 [5G 900
[ AN s 400 |54 3B 2,000 ({546 8,000 |5 A ABE 2,400
[ AN s 500 |FRIESH 1,500 |f5A /3B 4,000 |15 23FH 1,800
[ AN s 3,600 [5G 3,600 | B HETH 1,000 |5 ¥H 6,000
A e | 4,400 |[1BAR N 1,800 [f5A A BH 1,200 [f5AN B 400
[ AN s 8,000 | A B 600 | Emits 3,600 |G 500
Bk 4,000 [FREEZE 8,400 |5 A B 4,000 |F5A /3B 500
FANEE 3,600 |15 A B 500 [F5ABE 500 |FR{BL 500
FANEE 900 |tREEH 500 [FEERE 500 |fFAINEH 500
FANEE 4,800 |TRE 2,800 |5 ABH 500 |fFA2NEH 8,000
FA LB 3,600 |G 5,000 [F5RESH 500 |5RITHH 3,600
FA L 3,600 [5G 5,000 |F5A 3B 1,800 [f5-A B 4,800
FANEE 500 |faiEzE 3,000 |5 400 |f5A B 3,600
FA LB 7,200 |fRIEETS 3,600 |& T %a 1,200 [f5AAFH 4,800
SN 4,800 [fiEEH 3,300 |5 B 20,800 |55-A B 500
FA LB 4,800 |f5A 3B 500 |=+-4H 6,600 |51 2B 4,000
FANEE 500 |t 3,000 |5 8,000 |f5A N 500
[N 500 [fFA2NEH 3,600 |53 500 |55 [FE 4,800
%—H 4,800 [FRE 500 |& A #ATRAE] 1,800 [f5A/ABH 12,000
FA LB 4,400 [f5AABH 900 |5A 2B 8,000 |GG 1,800
{SaNANG| 4,800 | FRaEEM 7,200 |5 A BHE 2,100 |5 ABH 500
FANEE 500 [fFA 2B 500 |54 B 3,600 |FESCE 4,000
[N 500 [fFA2NEH 3,600 |52 2,000 |15 2ABH 500
[N 500 [fFA2NEH 500 |54 B 2,000 |15 2ABH 500
BN LR 2,100 |54 2B 4,800 [F5A 3B 4,800 |F5A 3B 500
{SaNANG| 300 [fREEER 500 [r= 5 1,500 [f5A A6 500
FANEE 8,800 |fFA 4B 5,000 |[{5A B 500 |fFA2NEH 4,000
FALBH 3,200 |52 BH 3,600 [f5A 2 B 500 |FA2ABHE 5,600
[N 500 [FFA B 3,000 |fSFANBH 2,100 |[15-ABHE 500
BB 500 |54 /3B 500 |54 /3B 3,600 [{5A /3B 1,600
EN 4,800 |5 \B 1,100 |54 /3B 4,000 |5 /B 500
BB 3,600 |15/ 500 |3 A /3B 3,600 |15 /3B 500
[SaANG| 2,400 |F5A N 3,600 |FFA LB 500 |15 ABHE 500
ENE 500 | /A 2400 |5 /A 12,000 [fF A /BH 500
EAIE 4,800 |5 \B 7,200 |5 /A5 3,600 |5 /B 3,600
EPACT 500 [1ER A B 500 [FEFEE 4,800 |5 ANBE 500
R AR 2,000 |15 7558 2,700 |54/ 4,800 [f5- A AFi] 7,200
FA LB 500 [ B 2,800 |sRFEIS 900 | EHET 800
FA LB 500 [FREHN 1,600 |7REE5 2,800 |1§A /3B 4,800
FA LB 500 Eﬁlu BH 13,800 |54 B 4,000 |15A 3B 500
5t AT {f 4,400 |F5 A6 4,400 |54 B 600 |ZZ X T7 300
RS 2,400 [f5A B 400 |F5A B 4,800 |15A 3B 4,800
GRIGHE 12,000 5'5 5 i 2,300 |1§-A B 4,000 |15A 3B 2,700
SRIEE 12,000 [f5A B 200 |5k 11,200 |GG 500
GRS 500 [EEH 8,600 [f5A 2 B 4,400 |15A 3B 500




g2 A Eaii AH 4 B0 G2l A
[EANE3 1,200 |[{5-ANBH 8,800 [f5A 2 Fd 500 {542 FE 2,100
TRk EE 3,000 |54 500 |fFA B 1,000 |f5AAFHE 500
[EANE3 500 [f5AINEH 500 |iR3EEE 1,800 [FFA NP 500
A NEE 500 |sEHRE 7,000 |15A 4B 2,000 [FFA2NFH 4,800
[EANE3 1,000 {5 2\BH 4,800 [REHE 1,200 [F3 AP 2,400
[EANE3 2,100 [F5A 2 BE 4,800 |54 36 800 |f5A 1B 2,700
[EaANG3 500 |[f5A B 3,000 |{5-A 2 FE 2,000 |f5A 2 BE 300
[EaANG3 500 |EIisa 3,000 |{5-A 2 FE 3,200 [P 500
FANEE 900 |fFAABHE 500 |54 B 1,500 |22 1,600
[EaANG3 300 |3Rem 7 7,000 [FFANFE 500 |f5A NG 500
[EaANG3 500 |[F5AINEH 2,800 [FFAUNFE 2,000 [P 500
FANEE 400 [{GA B 1,000 [7RIEF] 2,400 |[15AABE 2,000
[EaANG3 500 |[f5AINEH 500 [fFA G 2,400 |5 AP 3,600
[EaANG3 3,000 [F5A 2 BE 500 |fFA NG 1,800 |f5A /1B 3,000
s Fid 2,000 |f5A /N 2,000 |{5AABE 500 |ZEZE 2,700
REE 1,200 |52 2,000 |[{5AABE 3,000 [SE5E 500
[EaANG3 500 |[F5AINEH 500 |fFA NG 2,000 |5 ANFE 500
[CaANE? 500 |fA2NFE 300 |fGA G 3,600 [F5ANFE 4,800
TRV 2,400 |56 3,600 |{5-A 2 G 500 |fFA B 3,200
FANEE 15,600 |[{GA 5 500 [F5A B 2,000 |2l 2,000
{SaNANG| 500 | &l 3,000 |5RAETT 2,200 |[15-AABE 500
[CaANE? 1,200 |f5A /1B 1,200 | Rl #s 500 |ZEPkAE 500
[CaANE? 800 [ A FHE 3,600 |{5-A 2 G 500 |fFA NG 800
[CaANE? 20,000 [FFANFE 1,500 [f5A NG 2,800 [F5ANFE 4,800
TRUIE 7,200 |5R4ERE 4,400 |F5AEE 5,000 |[15-ABHE 2,000
(CaANE? 3,600 |f5ANFE 10,000 |f5A21F 300 |GG 500
[CaANE? 500 [sR@in 1,500 [f5A VB 4,400 [F5ANFE 4,800
(CaANG? 900 |54 B 300 |fGA N 500 |fA2NFE 2,400
RAA 4,800 [F5A VB 1,200 [f5A VB 500 |fA2NFE 4,800
(CaANG? 400 |[f5-A2 6 800 [f5A i 7,200 [F5ANFE 600
(CaANER 3,300 |{5-A 436 4,400 [F5AINEHE 2,000 [F5ANFE 1,200
(CaANG? 11,000 |54 2 B 500 |f5A 1,800 | MR 2,100
(CaANG? 500 |t B 500 |f5A N 400 |54 3B 800
SR(HE 1,600 [F5A B 2,000 [FRfirEL 4,800 |FFABH 500
[N 500 [FFA B 100,000 [f5A VB 500 | 2,000
(CaANG? 3,600 |{5-A 236 500 |f5A N 2,100 [F5ANFE 500
RE(E 4,400 [F5AINEH 1,200 [f5A VB 3,600 [F5ANFE 500
SR Fii 7,200 |[{GA B 1,000 |5REEFT 3,000 |[15-ABHE 500
(AN 300 |5/ 500 |54 B 2,400 |F5ANFE 4,800
R 500 |t B 500 |5A B 4,700 |54 7\F 500
TREFES 2,000 |{5-A 46 500 |5A B 800 |2 4,800
(AN 5,400 |{5-A 26 500 | 1,200 | AHEE 300
(AN 2,400 |57 800 |54/ B 2,000 |{5A 25 500
IS 500 [FRIETE 3,600 |f5FA VB 2,700 |FEHEE 6,000
BN 7,200 |{5A B 8,000 |FRIE\E 2,400 |15ANBH 1,200




1 S B X 471 X 1% S
REE) 3,000 |5 RN BH 500 |15 ABE 2,000 [ZREEES 500
[VANG| 7,200 [FFRABH 2,000 [5G 1,000 |15 R 500
[SVANG:| 1,000 |5 ABHE 4,800 [5ELE 2,000 [ ANBH 800
[SVANG| 500 |15 ABHE 2,000 [ BHE 4,800 [FFAABH 5,200
[SVANG| 500 |15 ABHE 500 |sEEEE 1,200 |15 R 1,800
[VANG| 3,600 |F5R2ABH 3,200 |[FREE 500 |18 R 500
[ANG:| 500 |15 ABHE 4,400 [FEREEH 2,100 [N BH 6,000
[VANG:| 500 |FRIRE 4,800 [fFA/A\BH 2,000 [ZRRE~E] 3,600
[ANG:| 2,000 |52 B 12,000 #5425 8,000 |f5 A/ E 3,700
[VANG:| 500 |15 ABHE 500 |F A ABE 500 |8 ABHE 500
[ANG: 500 |15 ABHE 500 |FEEET 4,800 [FFAABH 500
[ANG:| 2,000 [FEHIE 8,400 |15 A\ 2,800 [FFAA\BH 3,600
[VANG:| 2,000 |52 BH 500 |S A ABE 1,800 |1S /AR 2,000
[VANG:| 500 |FEIRE 7,200 [FFAABH 500 |4 500
TR 900 |15 A2k 4,800 [ A A\BH 600 |15 ABHE 500
TR 500 |#5AR2A B 500 |3 B 500 |FFAAFE 2,000
[ANG: 500 |15 ABE 2,800 [FFAA\BH 500 |18 ABHE 500
(VNG| 2,000 |5 NBH 500 |fF A ABE 500 |ZRREHN 500
(VNG| 500 |F AR 4,800 [fFAABHE 900 |RERL 2,300
(VNG| 2,400 |5 NBH 2,000 [ ABH 300 |fF AR 3,600
[eVANG| 4,800 |5 R 4,400 |5 ABHE 2,400 [ERESS 8,400
[(eVANG| 500 |F AR 3,600 |TREEERAN 4,800 [FFAABH 500
(VNG| 7,000 TR e 900 |15 ABH 3,600 [RpE 400
TRFERE 900 |E £ 4,000 [FFAABHE 2,000 [F5AABH 900
(VNG| 500 |F AR 500 |fF A ABE 2,000 [F5AABH 4,400
[eANG| 500 | SRR 800 [FA B 3,600 Mgk 6,000
REHE 3,600 |5 NBH 4,000 |FREESS 9,000 [ A\BH 1,800
5E g 600 |15 3,600 |15 B 5,000 [F5ARA\BH 1,800
(NG| 3,600 |5 RN B 500 |fF A ABE 3,200 [ ARA\BH 4,800
(NG| 500 |18 A 7,200 [f5ARA\BHE 500 |18 ABdE 4,800
(eANG| 2,000 |5 RN B 4,800 [ ABHE 11,200 |{5A 2B 1,200
(eANG| 3,000 |5 RN B 2,100 [ ABHE 2,700 [F5 AR\ BH 4,800
(eANG| 3,600 |5 RN\ B 800 [fFA B 500 |8 ABHE 500
Gt 4,000 [f5A2ABHE 1,400 |15 500 |BS A By 4,800
R 3,600 [ B 3,600 |3 2400 15 2] 4,800
(eANG| 500 |18 1,200 |15 B 800 |fF A /ABHE 3,600
(NG| 1,600 |[1SA A 4,800 [ ABHE 4,800 [FFAABH 3,600
(eANG| 900 |15 AN 800 [fFA B 1,500 |18 R 1,200
TR EEE 500 |15 500 |15 ABE 1,000 (15286 5,900
[N 500 |15 7,200 [FREEE 7,200 |56 500
[N 4,400 |E#ET 6,600 [TREEFR 1,000 |56 By 800
[N 6,600 |[FRISHE 3,600 [ES R 3,600 |15/ BH 2,000
GIEhl 4,800 [ ABH 500 |15 ABE 1,600 [f5 A 2N6E 3,600
[N 1,500 |1 600 |FEHRER 3,600 |15/ BH 1,900
[SANG| 2,000 |5R 2B 500 |18 ABE 3,600 |15/ BH 900




1 B B B 471 X 1% &
[SANG:| 3,600 |F5R2ABH 2,800 [fFARABHE 2,000 [HEmEARAT] 4,800
TREERR 4,800 |5 AABHE 4,000 |7 BEFE 1,200 |5 R 3,000
SR 500 |#5AR 2 B 1,000 |5 A B 500 [FF R 500
TREERE 500 |FRETS 4,800 [fFA2ABHE 500 |18 AR 3,300
BE A% 7200 [15FR NS 6,000 |54\ 6,200 |f5-A /3B 3,200
[VANG| 2,000 |52 BH 4,000 [ ABHE 500 |FFEESE 4,800
TRAMIK 800 |FREES 2,400 [FREEZE 6,000 [f5A\BH 500
sRIAE 3,200 |52 BH 300 |sREESL 10,000 |4 FKARAF ] 1,100
[ANG:| 1,200 |53REE 800 [FEEESE 3,600 [f5AA\BH 4,800
[VANG:| 1,200 |5 ABHE 1,200 |[{S AR 3,000 [ A\BH 2,000
[ANG: 2,000 |5R A BH 500 |FREEE 6,000 [f5 A\ BH 500
[ANG:| 3,600 |F5R B 1,200 |[{S AR 1,000 |18/ R 2,000
[VANG:| 2,000 |52 BH 1,200 |18 ABE 4,800 [FFAABH 1,800
TRAELE 3,600 [FREEE 500 |FERHZEEX 3,200 |5 ANBH 3,600
[VANG:| 14,400 |15 2264 500 |F A ABE 3,600 [T 4,800
TR 300 |[fEA AR 6,000 [FF A\ BH 3,300 [Tk 3,300
[ANG: 2,700 |55 = 2,400 [ A\BH 500 |18 ABHE 1,200
(VNG| 4,800 [TESE 5,000 [ A ABH 2,000 [F5AABH 500
TRIEYE 900 |FEREEL 3,200 |15 B 900 |18 /ABHE 4,800
SR NE 13,400 |55 & s 1,500 |5E¥E T 500 |sHESCES 5,300
[eVANG| 1,600 |15/ R 3,200 |15 B 500 |8 ABHE 500
[(eVANG| 3,000 |5 2NBH 400 |15 ABH 1,500 |5E RS 3,000
(VNG| 7,000 [\ BH 2,000 [ ABH 2,200 [F5AABH 500
(VNG| 4,400 [FERE 900 |15 ABH 4,800 [FFAABH 3,600
(VNG| 12,000 |15 AN BH 6,000 [TRELEE 3,000 £ E#E 6,300
[eANG| 1,800 |5/ R 8,700 |5EREREE 500 |HFHF 3,600
[(eVANG| 4,800 |5/ R 400 |15 ABH 12,000 {5 AN B 4,400
(eANG| 2,400 |54 A6H 3,600 |15 B 825 |1F A ABHE 500
(NG| 1,200 |55A A6 2,400 [ ARABH 1,200 |5A 2B 500
(NG| 3,000 |34 A6 6,000 [FEREEAL 4,000 [FFAABHE 1,000
(eANG| 7,200 |15 A L\ BH 4,000 [FEREAL 500 |8 ABdE 4,800
(eANG| 500 |5A AR 3,600 |15 2B 500 EE)E 4,800
(eANG| 600 |5A B 6,200 [FFAA\BH 4,800 [HEish 2,800
5T E 7,200 |15 A 2\ BH 2,000 [ A\BH 3,600 [F5ARA\BH 300
(eANG| 9,800 |15 AL BH 900 |13 ABHE 500 |8 ABdE 500
(eANG| 1,800 |5A A6 500 |fF A ABE 500 |8 ABHE 500
TR 1,600 |5EFK 3,600 |TRREFS 7,000 [ ABH 1,500
(eANG| 500 |5A AR 1,200 |sEFEE 300 [sHEmEs 1,500
[SANG| 2,100 [f5AA6H 3,600 |F5A N5 3,600 [FFRA\BH 4,800
[N 2,800 [{5AA6H 500 |fS A ABE 500 |18 AFE 4,800
TEEIE 500 |B5A AR 500 |fS A ABE 1,800 |15 /ABHE 3,400
[N 500 |FEEZ 500 |fS A ABE 3,600 [HESEHE 1,200
[N 1,500 |5EHSF 300 |13 ABE 500 |18 R 4,800
[N 500 |B5A AR 900 |13 /ABHE 3,000 [fFR2A\BH 2,000
[SANG| 3,600 |FRIRC 4,400 [F5A B 4,000 [FFA B 3,600




B! B B! B Bt S oXas B! $HH
TR AR 1,000 |54/ 64 3,600 |TERREEIR 1,400 |15 AR 4,800
FAAR 3,600 |13/ BH 11,000 |14/ 500 |8 B 800
TR AR 500 |sE#IEE 2,000 {5 A B 500 [siEBe#zE 1,000
s < [ 6,000 |13 /B 2,100 |15 A4 B 800 [3HEHe 7 3,900
TR AR 500 [fFA N5 3,600 |5 AN 500 |8 ABE 10,800
TR AR 3,600 |13/ BH 3,600 |5 AN 500 |8 B 6,000
SR 600 |51/ 5H 500 |54 3,600 |15 B 500
TRIESE 500 [f5A N5 6,000 |15 A B 4,800 |54/ 500
SR 6,000 |13/ B 1,200 |FERERE 2,000 |15 ABH 1,000
S AR 6,000 [FRHEE 3,600 |15 AN 500 |fFA B 4,800
R 2,100 |15 /2B 500 |sEEFHE 4,800 |54/ 600
SR L& 600 |sEAEAS 3,600 |15 AN 4,800 |54/ 500
S AR 1,200 |54 /064 500 |54 3,600 |15 ABH 500
TRES 4,800 |54/ 6 3,600 |15 AN 4,800 |54/ 500
TRIEEE 6,000 |[FRFfEE 600 |5EF 4,800 |54/ 1,200
SR AL 3,600 |13 /A B 2,000 {5 A B 4,800 |54/ 2,100
SREEHT 300 |5 A A6 500 [FREEFH 1,500 [f5A 256 6,000
s B 2,400 |FRHERE 1,200 [FREEFH 3,600 |FEHHA 1,500
TR AR 3,600 |15 B 500 |54 2,200 |iEZ0# 3,600
TREAL 500 [fFA B 2,000 |iREE 7 3,300 |15 ABH 2,100
FAAR 9,200 |f5A /B 600 [TREE 2,100 |15 AR 1,600
FAAR 6,000 |15 B 4,800 [f5A/36H 500 |fFA B 1,500
RS 3,300 |15 B 500 |54 10,800 | EHYE 12,200
TR AR 4,800 |f5A /B 2,000 {5 AR 3,800 |15 ABH 400
TR AR 2,100 |15 B 7,000 |TREE IS 3,600 |15 ABH 500
TR AR 500 [fFA B 4,800 [FEFE L 500 [HERZE 4,800
FAAR 500 |sRE ALk 4,800 [f5A/36H 1,000 [HERES 2,800
FAAR 500 |18 B 9,000 [3RAT¥E 6,000 |15 B 500
FAAR 3,600 |7EFHiHE 4,800 [FREIE 4,800 |[f5A /N6 500
SRAKER 1,000 |15 ABH 8,000 |FEHFF 2 2,000 | 1,800
SRk 3,600 |f5A 3B 2,000 iR~ 2,000 {5 AR 1,000
FAAR 12,000 [fFA 2364 500 |54 B 300 [ERSER 7,000
FAAR 500 |18 B 4,800 [f5A /364 1,200 |15 ABHE 500
FAAR 2,400 |f5A /3B 500 |54 B 4,800 |[f5A A6 400
FAAR 500 |18 B 3,600 |15 AN 500 |fFA 3B 3,200
FAAR 400 |5EAEEE 3,600 |15 AN 1,200 [HE4571 1,600
FAAR 4,000 |52 B 3,600 |15 AN 3,600 |15 ABH 2,000
FAAR 3,600 |f5A 3B 7,200 |15 B 8,000 |15 2,000
(AN 500 |18 A 4,800 [HALBISARAT| 4,800 HEEH 2,000
(AN 6,900 |F5A /35 2,000 [fFA 2B 3,600 |EEFH 400
TRFEDE 3,600 |5/ 11,200 |f5A 2B 800 |15 B 1,500
FA LB 500 |B5A AR 3,600 |fHETT LA 800 |f5 A B 500
(AN 500 |18 A 4,800 [f5AH B 600 |15 A 500
TEFEE 3,600 |53 500 |#E¥EEERE G 2,600 (IS ABE 4,800
(AN 4,800 |iREZE 4,000 [f5ABH 28,000 [ I£Ed 1,200




T EE Gl R Gl R Gl S|
[ AN s 1,800 |f5A /3B 4,800 |t 3B 3,600 |5 2B 4,200
{SANG| 500 [FRHrEL 500 |5AABHE 500 |HEEEE 3,300
[N 4,800 |Hmts 3,300 [f5A 26 5,000 [15A 4B 3,600
{SANG| 2,000 |f5A 4N 6,000 |15-A4NFi 4,900 [FFA2 B 9,600
[ AN s 8,000 | A B 1,000 (5B 3,600 |52 B 1,000
[ AN s 4,000 |f5A 3B 1,000 |f5-A /3B 3,000 [FEAEAI 4,400
FA L 500 [ BH 9,000 |ERGEIFEAIRA E 1,800 |F5AABH 500
{%Kg\ﬁaﬂ 6’()()() %“Kﬁﬁﬁ 1,6()() SR TRARAT AR AT 1,200 T%L/]T/A\ﬁ,ﬁ 3,20()
TRAGEE 3,600 [5G 4,000 |ERCCRIARAE 600 | 4,800
sRIEA 500 |SA B 9,000 [FFA2 B 2,700 |- 1,600
{SANG| 4,800 |f5A B 1,600 [F5A 2B 900 |fFA 2N BH 2,300
{SaANG| 2,000 |5RIATT 3,600 | AN 500 |fFA2NEH 1,200
S ABE 4,800 |f5A 3B 2,800 |E (L 1,000 |f5A2ABHE 1,600
TRAREL 5,500 |54/ 4,800 | & £4F 3,300 [FFANFH 2,000
{Sa/ANG| 500 |SA B 9,300 [FF-A2 B 5.400 [FFANFH 500
RIS 1,600 |5REETR 1,600 |Eifi%e 2,100 [543 1,500
S ABE 5,400 TEEES 4,400 |HFEL 2,600 |15A 4N 3,300
(SRANG| 500 [fFA2NEH 2,200 |EEFS 4,000 [FFA2ABH 1,500
(SaNANG| 2,000 [F5A2NFH 2,400 [FFAABH 3,500 [FFANBH 2,400
[ AN s 1,200 |5RFEHH 2,700 |15-A 3B 800 |5 55 2,400
[ AN s 1,200 |5A 2B 4,800 | Elig 4,800 |15A 3B 2,400
(SRANG| 500 [fFA 2B 600 |54 2B 1,200 [F5A 2B 2,400
(SRANG| 3,600 [FFA2NFH 500 |54 B 500 |fFA2NEH 3,900
[ AN s 3,600 |5RIEH 1,800 |5-A2ABHE 1,700 |HEBaes 3,600
[ AN s 8,800 | 7RI IEI 4,000 |tGA 3B 3,000 |f§A 3B 300
(SaNANG| 3,000 [FFA2NFH 1,500 [F5A 2B 3,600 [FFAANBH 500
il 3,600 [FFA2NFH 2,000 [FFABH 500 |fFA2NEH 4,800
FALBH 7,000 |1GA B 500 | =75 500 |FA2ABHE 500
FA LB 4,000 |54 B 2,000 |1§A 3B 2,400 |1§ANBH 600
TRRER 400 |FEFEHT 4,800 |tGA B 500 |FA B 300
TRRIH 4,800 |f5A B 3,000 |E &L 1,800 [FEEEAD 3,200
[N 600 [FFA 2 B 3,600 |fFANBH 500 [ 5,400
TRR & 2,400 |52 BH 3,600 [f5A 2 B 3,000 |f§A4NBH 500
[N 800 [F5A B 3,600 | 400 |F5A VB 4,400
TRREE 4,000 [FERKEE 4,800 |tGA /B 3,600 |f§A4NBH 3,600
FALBH 5,000 [f5A 2B 4,800 |H B 3,600 |54 2B 500
FALBH 4,800 |f5A B 500 |BAABE 3,200 |1§A43BH 500
FA LB 3,200 |5RFETT 2,800 |{§-A 3B 500 |FA 2B 800
(SN 500 [FFA B 4,800 |FFABH 500 |15 ABHE 7,200
BN 7,600 |f5A B 300 | 3,600 [P 4,800
AT 500 [FFANBH 3,300 |fFA B 2,400 |[15ANBH 3,300
(SN 500 [FFANBH 3.200 |fFA B 4,800 |FFA B 1,200
HEREA 2,400 [f5ABH 4,000 |GA L B 4,800 |BZ7EH 2,200
HERESE 500 [FFzE 2,700 |EREER 4,800 |BZ7EH 3,600
(SN 500 [FFA B 4,800 |F3A B 4,800 [FFA B 4,800




1% S 1 X E X 1% S
BB 3,600 [f5:AN6H 3,000 |ZFFHAFE 3,600 |G 3,600
(AN 2,400 |[EFHEE 4,800 |55A2NBE 2,000 |FfEE 2,400
s fe 2% 4,800 |[fFA NG 2,400 [N 500 [BRELH 5,300
BB 500 [f5Abd 3,600 |56 4,800 |BEANF 500
AN 800 |55A 2 B 800 |5A/ABE 5,000 [ ABH 7,000
AN 500 [ETEEJEL 3,600 |15 A5 1,200 |15 ARABHE 4,800
SN 4,000 |EF1EEE 3,000 |52 BH 500 |fFA N5 500
S 4,800 |[fFANEE 2,200 |5 A ABH 1,500 |f5:AAFH 4,800
BB 4,800 |[fFANEE 900 |EPEE 500 |53 B 2,600
[ aANGia! 900 |FF4ELE 4,300 |FFFEZE 2,100 (B PIRE 500
SHCAE 3,000 [EFEE 5,000 |f5A B 300 |BR>PIE 3,600
EH IR 500 [f5A b 3,600 |fFA B 500 |FEEE 12,000
BB 300 | IS A6 500 |5 A6 400 [P 4T 500
e 1,000 [FFE=E 4,800 |F5AAFH 2,400 |G 500
[ aANGia! 10,000 {564 500 |15 A6 2,000 |FEAKES 500
BB 3,600 [f5AA6d 1,600 |F5A B 6,400 |G 4,000
(AN 12,000 |15 AR 2NEH 800 |f3 A /A6 2,000 |BE{G 2,400
A ABH 600 |54 3B 500 |54 A6 500 |52 FH 5,600
(VNG| 500 |F AR 2,600 [FFAABH 3,600 | B fep4E 4,200
A ABH 3,600 |G 300 |54 A6 3,200 |3 ARG 4,400
(e aANGia! 6,400 |G 500 |54 A6 1,500 |Ps v 4,400
BB 4,800 |56 3,600 |FhEEH 3,200 |15 A4 BH 1,200
A ABH 3,600 |G 2,300 |EhFEIH 3,600 |G 8,000
BB 2,000 |EFERE 4,400 |FrEEE 4,000 [FFA A6 4,000
BB 4,300 |5 AAB 600 |54 /A6 500 [BEE G 4,800
S TIELE 600 |54 B 1,000 |f5A B 1,000 [f5:A B 3,700
BB 1,000 [FFEsE 4,800 |F5AAF 900 |54 3FH 2,000
BB 3,700 |FFAABH 2,100 |FFAABH 3,000 A ABH 400
BB 500 |FFA NG 7,200 |FFA NG 500 |5 28BH 12,000
B NG 7,000 |5A A 1,000 |f5A A5 500 [BTZE 1,200
BB 1,800 |[1§ A 800 |5 A/ 6 500 |55 500
BB 4,800 [ BH 500 [f5A A6 500 |BFATIE 2,000
SFH R 3,600 |fFAABH 500 |EReEEIE 1,800 [f5A B 500
BB 3,600 |EFREAL 4,000 [ ABHE 2,400 [PHZZ{ 4,400
BB 500 |FFA NG 2,000 |5 A B 500 |5 2BH 2,000
BB 500 |18 500 [f5AA6E 500 | B 7R 3,600
S5 300 [ETREME 2,400 |15 A4 BHE 2,800 |15 A4 BH 3,000
BB 500 |FFA NG 3,000 |fFA B 3,000 [BFAE 2,400
[N 3,300 |fFAABH 500 |[fFA B 500 |BEA B 3,600
BB 5,900 |EFREEL 500 |FREEE 4,800 [FFAABH 5,300
BB 2,000 |5R 2N B 2,400 [FFRA\BH 4,800 [BHARR 3,000
BB 3,200 [FrREsE 500 [EFEEER 400 |15 B 3,300
R 1,300 |15 B 3,600 |5 A ABH 3,600 |[fFAABH 500
[N 1,200 [ETEHE 500 | ZEHE 500 |BEA B 2,400
PR 800 |5 A B 500 | &R 4,000 |F5AAE 13,000




1 B B B 471 X 1% &
[SANG:| 2,000 |52 BH 500 |FhERE 3,600 |15 A \B 3,600
[VANG| 4,400 |5 ABHE 500 |EPmEEE 11,200 [pfEZE 4,800
R 500 |15 ABHE 4,800 | FPHEERR 7,200 [BFHEH 3,600
[SVANG| 500 |15 ABHE 1,500 |15 ABHE 3,600 |15 A \B 2,800
5 H 500 |15 ABHE 5,000 [FFARABHE 5,000 |5 A\ Bd 3,600
[VANG| 500 |2k 3,200 |5A 2B 4,000 |15\ B 2,000
[ANG:| 500 | 2,700 [F5AA\BH 6,600 |BTiHY 10,400
[VANG:| 500 |15 ABHE 500 |S A ABE 9,000 |BHiZE 1,800
BFREE 1,200 |5 ABHE 5,000 [FFAABH 500 |8 ABHE 2,000
[VANG:| 900 |#5 A2 B 1,600 |FPEGEE 3,600 [F5AANBH 1,200
[ANG: 500 |15 ABHE 1,200 |FFE Ak 300 |[fE AR 9,600
[ANG:| 500 |15 ABHE 5,100 [Flr&4E 900 | Bt & 2,000
[VANG:| 500 AR 3,200 |#5AN\E 4,800 | BI04 4,800
=1 2,700 |15 2\6H 500 |3 B 4,800 |B55 1 1,600
[VANG:| 500 |15 ABHE 500 |F A ABE 600 |15 ABHE 500
SFEE 1,200 |5 ABHE 400 115 ABE 9,600 [BHFE40 3,600
[ANG: 1,500 |5 ABHE 500 |8 ABE 4,800 [FFAABH 2,400
(VNG| 4,000 |5 R 600 |FEEE 500 |8 ABHE 500
ST fA 3,600 |5 NBH 400 |15 ABH 500 |8 ABHE 3,300
ST e 1,800 |15/ R 3,600 |15\ B 3,600 [ ABH 9,600
ST 4,200 |15 R 1,200 |[1S AR 3,000 |PBEFHEL 2,400
Faali=die) 4,800 |#HiEELr 2,100 [ ABH 3,800 [ ABH 3,600
(VNG| 4,800 |5 R 3,600 |15 B 1,200 |18 R 4,400
(VNG| 500 |fF AR 500 |fF A ABE 300 |fF AR 2,000
(VNG| 2,400 |5 NBH 500 |fF A ABE 3,200 [ AABH 500
[eANG| 500 |F AR 2,000 [ ABH 3,600 [FFAABH 3,600
[(eVANG| 2,000 |5\ BH 600 |FhEHZE 4,800 [fHFEE 500
ST A 2,000 |54 A6H 800 [fFA B 500 |18 ABdE 2,000
(NG| 2,500 |54 A6H 3,600 |15 B 300 |fF AR 500
(NG| 500 |5A AR 2,100 [BFE3E 500 | Beki 55 G 500
(eANG| 4,400 |5 ABHE 2,000 |15 BH 6,600 | B 75 7,200
(eANG| 2,400 |54 A6H 500 |fF A ABE 2,400 [ ARA\BH 500
(eANG| 500 |EFESE 4,000 [ ABHE 500 |8 ABHE 3,400
(NG| 3,600 |54 A6H 4,500 [ ABHE 4,800 [FFAABH 500
AT 3,600 |54 A6H 8,000 |15\ BH 1,500 |F5A Ak 11,200
(eANG| 2,000 |EHEHE 3,600 |15 B 300 |fF AR 3,000
(NG| 3,200 |54 A6H 4,800 [ ABHE 500 |18 ABHE 4,800
(eANG| 2,100 |54 A6H 1,200 | P 3% 4,800 | 400
[SANG| 4,400 [EAIER TA/E=| 1,600 |BRJ7%E 3,600 |PEFHE 3,600
[N 500 |B5A AR 4,000 |[#5A2NBH 2,100 |15\ B 2,000
[N 500 |B5A AR 3,500 [f5A2A6H 8,000 [BFF5EH 5,100
[N 2,000 [EFF5 3,600 [N 500 |BA AR 1,500
Failild 3,200 [Fh/N8% 500 |#5A AR 2,100 |PFE= 3,600
[N 500 |B5A AR 2,400 |15\ BH 500 |BA AR 500
[SANG| 500 |B5A AR 500 | S &= 3,600 |15 BH 3,600




1 B B B 471 X 1% &
[SANG:| 6,000 |F5R 2\ B 9,600 [fFA2\BH 500 | B 500
[VANG| 500 |15 ABHE 4,000 [ ABHE 1,600 |#5 A2 FE 500
PR 500 |#5AR 2 B 300 |5 ARE 3,300 |50 4,800
SEAE 1,600 |8 HER 500 | B 4= 2,100 |15 A\ B 500
[SVANG| 500 |15 ABHE 500 |15 ABE 500 | B 3,600
S E 500 |15 ABHE 500 |15 ABE 600 |5 A2 B 500
[ANG:| 3,600 |52 BH 500 |fS B 500 |5 ABHE 2,000
[VANG:| 500 |FTHEE 2,800 | /M5 500 |8 ABHE 500
[ANG:| 500 |EPt-$4 5,000 [FFAABH 500 |8 ABHE 1,500
[VANG:| 3,000 [EELAF 1,600 |{5 AR 1,800 |1S AR 500
[ANG: 4,800 |5 ABHE 500 |15 ARABE 1,600 |15 R 2,000
FEM 500 |15 ABHE 4,600 [fFAABHE 2,400 [ A\BH 1,100
[VANG:| 2,000 |52 BH 400 115G 1,500 |[{§ AR 500
EFEZ 6,000 |ZpEE 1,200 | B skl 2,800 |PFFEEE 4,400
[VANG:| 2,700 |55 KA BH 500 [BEA A 4,800 [FFAABH 400
EFEH 400 |15 A 256 800 | B KBl 5,700 (P75 4,800
[ANG: 500 |15 ABE 3,000 |£5A N 4,200 [FFAABH 3,000
(VNG| 500 |F AR 4,000 [FFAABHE 500 |8 ABHE 6,000
(VNG| 7,200 |FBRIE 4,800 [fFAABHE 3,600 [F5AABH 500
(VNG| 1,200 |15/ R 500 |fF A ABE 3,900 [ ABH 2,700
[eVANG| 500 |F AR 2,400 [F5ARABHE 3,000 [F5ARABH 12,000
[(eVANG| 500 |F AR 4,800 [ ABHE 500 |8 ABHE 5,000
(VNG| 4,400 |15 R 4,800 [fFAABHE 4,800 [FFAABH 4,800
(VNG| 1,200 |FhEE 1,000 |15 B 500 |8 ABHE 3,000
(VNG| 3,600 |5\ BH 2,000 B2 H 7,200 | R B 1,500
ST 3,900 | & 2,400 [F5ARABHE 3,600 [FFAABH 12,000
R 7,000 |54 2B 1,600 |#5A 2B 400 | B = Hit 3,600
(eANG| 500 |5A AR 1,200 |#5 A 2B 1,800 B 2,100
(NG| 600 |5A A6 500 |fF A ABE 500 [T 800
(NG| 5,400 |54 A6H 500 |fF A ABE 500 |18 ABdE 1,500
EF R 1,800 |5A A6 500 |fF A ABE 4,400 |BRooE 500
(eANG| 1,200 |55 85 600 |15 ABH 4,000 [P EEAE 2,000
(eANG| 600 |5A B 500 |fF A ABE 500 |8 ABHE 4,800
(NG| 4,800 |FFF5JEL 500 |fF A ABE 2,700 [F5 AR\ BH 4,200
(eANG| 2,000 |54 A6H 500 | P JEL 2,400 [F5ARA\BH 4,000
BT sE 3,600 |54 A6H 500 |BH=CE 3,600 [FFARA\BH 500
(NG| 500 |5A AR 500 | Bisfe 500 |18 ABHE 4,800
(eANG| 900 |5A B 3,600 |15 2B 5,600 [FFARA\BH 2,800
[SANG| 500 |B5A AR 2,400 (P& 3,600 [Bf{EST 3,900
[N 3,600 [f5AA6H 5,200 |15 A BH 3,000 |15\ B 2,000
[N 1,200 |55A B 3,200 |F H % 500 |BA AR 3,000
[N 4,800 |#5A2\BH 300 |f5A AR 500 |B{ER 3,600
[N 500 |B5A AR 3,600 [N 500 |18 R 4,400
[N 3,200 |Fh 5ot 3,600 [N 500 |B{EE 3,600
[SANG| 4,800 |EF588E, 400 |F5A B 3,400 |FEEER 3,600




B4 SHH B4 S 21 X B4 S
SARNG 500 |#5A 2 B 3,300 [f5A A6 300 |50 BH 3,600
SR 3,600 |15 A5 4,000 |[#5A 2B 4,800 |BREERR 9,800
SR 500 |#5AR 2 B 3,600 [f5A A6 500 [B{ERE 4,400
SARNG 3,600 |15 AN B 3,600 [f5A A6 1,200 [(EANFH 4,000
SR 3,600 |F5A /N 3,600 [f5A A6 2,400 |50 BH 500
SARNG 2,800 [{5 A\ B 400 [P H Bl 300 [P 3,300
SR 500 |#5AR 2 B 1,200 |#5 A 2A B 3,300 |15 A N\BH 4,800
SANE 3,600 |EFEHE 9,600 |15 A\ BH 500 |FFAAFE 5,000
SR 1,200 | ZFBHEE 3,300 [ /A6H 900 |3 B 2,000
SANE 600 |#5 A2 B 2,100 Bt 4,800 |54 B 2,100
SN 1,800 [FFE A 4,000 |5 2\BH 2,400 |15 A N\FH 500
SR 1,200 |5 A2\ BHE 500 |3 ABE 4,800 |15 A N\BH 4,800
SANE 3,600 |15 A\ B 3,000 [f5A2A6H 500 [Pl 900
ST 3,300 |FHASE 7,200 |15 A2\ BH 400 |5 AFF 4,800
SANE 4,800 |[#5 A2 BHE 500 |3 B 500 |FFAAFE 1,500
SR 5,900 |#5A /N 3,300 [B{LEE 12,000 |Bith E, 3,600
RN 8,000 [fF A\ 2,600 |F A5 5,000 |15 A N\BH 1,200
SR NE 3,000 |Fh75 5 13,200 |[#5 A2 500 |FFA B 4,800
SR NE 500 | A ABE 500 |3 ABE 1,800 [Ptz 500
SR NE 12,000 [EFiEZE 3,600 [ 2N6H 12,000 |5 A AF 4,800
SR NE 7,200 |54 25 1,200 |#5A 2B 8,400 [BHEE 3,600
SR NE 1,200 |[#5A 2 B 400 |FF A ABE 4,300 |15\ BH 500
SERCE 500 | A ABE 6,200 |15\ BH 500 |fFA B 1,600
[CaaANGi: 500 [fFAAB 3,600 |f5AH A 4,000 |MErsEmEsn 2,000
SR NE 6,900 | ZEHF A 2,100 |15\ BH 3,600 |15\ BH 500
SR NE 500 | AEE 1,200 |#5A 2B 3,600 |15\ BH 900
SR 500 | AEE 500 | BB 1,200 | 4 5,600
SANE 500 [BFA B 3,600 [ N6H 3,000 |15\ BH 4,400
SEE 500 |EE & 7,000 |FH5ARE 3,300 |15\ BH 2,700
SANE 500 [BFA B 500 |5 ABE 3,600 |15\ B 500
SANE 500 | EPE 3,600 [ A6H 2,400 |15\ B 500
SANE 10,000 [f5A/N6H 13,200 [ /N6H 3,600 |15\ B 2,400
SANE 2,000 |5 /AFH 1,600 ({54 FH 3,600 |15\ B 10,500
SANE 3,600 |#5A /G 500 |5 ABE 4,000 |15\ B 3,200
YRR 5,200 |#5A /NG 4,000 |[#5A2NBH 2,400 |15\ B 500
STAHE 2,000 | ZE 3,600 [BHESER 2,400 |FESEAE 3,600
PP EE 4,800 [FFA/NFH 500 |5 ABE 800 |FH E iz 4,000
SANE 2,000 |FhE 500 |5 7k G 2,000 |PRE 7 500
[ iz 5,000 |[#5A/AFH 3,000 |#5AH A 3,000 |56 600
[ iz 12,000 |FPFS3E 7,200 |k £ 2,700 |FH5EES 8,400
SFIEAE 1,500 [5AAFE 500 |5 N5 4,800 |52 3,600
[N iz 800 |51 25 2,000 |06 500 (BB 3,600
o = £ 2,400 |#5A/AFH 500 |55 500 (BB 2,400
[ iz 2,100 |#5 A /AFH 500 |55 500 [BFEZE4E 500
SRR 4,800 |5 NFH 500 |5 N5 2,100 |06 3,000




i o i S i S i S
i AN 300 |5 ZABH 500 [ 25 B8 12,000 |8 /3 B 500
(VA3 500 [543 500 [ /ABH 3,100 (B2 6,000
VAN 3,000 |45 2,000 S4B 8,400 {5455 1,000
i AN 500 |5 /3B 4.800 |15 /B 3,600 [ /2B 4,800
AR 2,400 |5 K 500 [ /A 500 [ AR 3,600
VAN 500 #5R/ABE 2,400 |8 /A 500 15K/ B 1,200
5T {EE 9.000 |ZPFFE S CEA: 500 [ /A58 2.000
ST A 500 [fFA B 20,000 |F5ANBE 500 |52 BH 3,600
(VAN 3.300 |5 /2B 400 |57 /5B 500 [ Bt 300
VAN 500 | 7.200 [ A 1,600 |52 B 1,200
EEA 1.400 |15 25 B 2400 [ F /0B 1,300 |15 /5B 500
(VNG 500 |5 /2B 4,400 |15 /NBH 500 [BRIG(E 4,800
B 2.000 [EF A5 2.000 {5 /5B 500 [Btad 1,500
EEA 3300 [ AR 12,000 |5 /0BH 2,400 #5558 1,500
[ AVANd 2,400 {5 A /ABA 1,800 | Foihy 1,800 |5 /5B 3,600
VAN 4,800 {3 A /AB 3,600 | EE 500 [15R 2 B 500
VAN 500 |3 A 4,700 |3 /A 500 [ /A 7.200
P 1.800 |31 3.900 |8 B 3,300 {5 /5B 4,800
ETAEFSY 3,600 |FhdEfe 3,000 [F5A 2B 3,200 |BRT&E 1,800
(VAN 3.300 |f5 A /3B 1,200 |15 /B 5300 [BRtA S 400
A 500 |5 43 2,100 {5 /A 4,800 |15 /B 3,000
AN 500 f5R/ABE 9.600 |BE%E 4,400 |15 /ABE 500
R AESE 500 |FFZRIE 4,800 | 400 |5 2B 12,000
FlEE 3,600 [{EF /A 2,000 |55 3.600 [ AR 300
FA B 500 |FpFEHD 3,000 [fFAABH 2,000 |5A /A B 4,200
B R e 1200 [EF /A B 3,600 R AR 500
CEwAL 3,600 [FhEE 4400 [ /5B 3,600 {5 /A58 5,000
CawAL 500 [FBEESS 500 |5 ABH 8.800 |{5 /AP 600
CEwAL 500 [FhEES 2,000 [T {E 10,500 [Bita5 3,300
CawAL 2400 |8 ABH 500 |8 ABH 2000 |5 /AP 4,800
CawAL 4.800 [{EF /5B 500 [BiariA 4,000 [BitAbE 4,800
CEwAL 500 [BF AR 3300 [BEEFX 3600 |5 /ABH 3,600
B AR 1,800 [/ /AR 800 [ {5 £ /3B 2,400 |5 5B 2400
CEwAL 2,000 [t 2000 |8 /ABH 1.800 |15 /B 3,600
CER 2000 |55 600 [/ /B 4,200 [BETAHE 3600
CEwAL 6.600 |15 /B 2800 [S R /0B 4,800 [t % 3,600
CEwAL 4,800 |52 3,600 |5 /AP 5000 [Bitfa% 4,800
R 3,600 |35 500 [ A 1600 [ /5B 500
N 4,000 [ /5B 500 |5 /A B 4,800 |5 /A B 500
R 500 [ /A 2,800 |5 A 4,800 |5 /AP 1600
B AR 7,000 |07/ 500 |7 A 1,000 [ AB 1200
151/ B 4.000 |5 /5B 500 [BRADTE 3300 |5 /ABH 600
RN 2,400 [ SR 3,600 {3 /AR 500 [B1ESE 500
151/ B 2400 [8F/ABH 4,800 |18 /5B 3.600 [Bitta 3,000
15/ B 2800 [5F /2B 3,700 [BARAR 500 B 9,600




g2 A Eaii AH 4 B0 G2l A
e 4,300 |5 B 800 [FFA 2 B 500 |15AABdE 7,200
[EANE3 4,800 | PR 4,000 |46 500 {542 FE 500
[EANE3 500 |BsEEEd 4,600 |54 36 2,000 [FFANFE 1,200
BRIGEE 3,600 [F5A 2 BHE 8,200 [f5A 2 Fd 3,000 | B e e 4,800
[EANE3 600 |[F5AINEH 3.600 [BRESS 2,400 |5 ANFE 3,300
BRIGHE 4,800 |54 436 2,000 |54 2 FE 5,200 [FF AP 500
FANEE 800 |fFAAFHE 3,900 |FREAE 1,800 [F5A 2B 4,800
BRIER 3,600 [PREENS 800 [F3 A/ 1,500 |f5A 2B 300
[EaANG3 4,800 |54 46 1,000 [f5ANFE 2,000 [P 7,200
Ei=wE 4,800 |PREAT 3,600 [P EE 3,000 [P EEA 3,600
[EaANG3 2,400 [F5A 2 BE 5,100 [FANFE 4,800 [FF AP 1,800
[EaANG3 3,000 |BREH 3,600 |{5-A 23 2,400 |BREEAN 2,100
BRIGHE 2,100 |BRZ7E 800 [F3 A 4,800 [FF AP 4,400
[EaANG3 4,800 [FRE5E 3,600 |{5-A 23 3,600 [ ANFE 500
PR {EH 3,600 [F5A 2 BE 3,300 [P EEHE 9,600 |5 AP 500
[EaANG3 3,200 [F5A 2 BE 3,200 |{5-A 2 FE 4,800 [FF AP 500
BRIagE 4,000 |54 2B 3,200 |{5-A 2 FE 4,400 |5 AUNPE 500
[CaANE? 1,800 |f5A /1B 7,000 [FFAUNFE 500 |PRAEES 2,400
(CaANE? 500 [REE 3,000 |BRAE 4 4,800 [FFANFE 500
(CaANE? 4,800 [F5A 2B 3,000 |BRAEFE 4,800 PR 2,100
(CaANE? 2,000 |BREZ 4,800 [F5AINFHE 2,000 [F5ANFE 2,000
[CaANE? 8,000 |54 2 FH 4,500 [F5AINFE 2,000 [F5ANFE 1,800
BRasE 6,200 [FRE=ER 12,000 |f5A 3B 500 |fFA NG 900
[N 5,000 [P R 4,800 |F5ABE 500 |fFA2NEH 3,600
bR 5 liE 300 |5 FE 1,600 [f5AINFE 4,000 [F5ANFE 500
(CaANE? 11,000 |f5A 2B 2,000 [FFAUNFE 12,000 |f5A /1B 3,600
PR EL o 3,000 [BRES 1,000 [f5AINFH 1,500 |f5A /1B 500
(CaANG? 4,800 | B R4 2,700 |BfARFE 8,000 |{5A 2 FH 500
[N 1,600 [F5A B 500 [fFAINEH 4,500 |FFA B 2,000
[N 1,800 | P& 3,600 |f5ANBH 4,000 |FFA 2B 500
[N 3,000 |F5 3,200 |fFA VB 3,300 |[15-AABHE 4,400
[N 7,000 |{GA B 2,000 |{5AABHE 1,800 [f5A 2B 400
(CaANG? 500 |t B 2,400 [F5AUNFE 6,000 |5 NFE 3,600
(CaANG? 3,900 |{5-A 4 6 3,600 |{5A 2 G 500 |fA2NFE 500
(CaANG? 3,600 |{5-A 46 1,000 | B 3,600 [F5ANFE 500
[N 500 |BR S s 1,600 [F5A B 4,800 |FFA2BH 3,000
PR A 500 |BR R 3,200 |fSA VB 1,800 |Psfan 2,400
(CaANG? 900 |51 B 3,000 [PRAELH 500 |fA2NFE 1,200
BN 500 [FFA B 4,000 |FFAABE 4,000 |FFA B 3,300
PREHES 3,600 | BT (R 3,000 |FRZE 4 300 [F5A B 4,800
BRHATE 3,600 |{5-A 46 2,400 |BRZAT 1,200 |f5A /1B 1,000
PeREH 26 2,400 |15AINBH 2,800 |{5A B 2,400 |[15ANBH 1,600
BeRHT 5 1,800 [f5A 2B 3,600 |f5FA VB 500 | PR EEgH 800
(AN 8,000 |54/ B 500 |5A B 1,200 | B AR 2,000
BN 500 |PRETE 4,000 |FFA B 4,800 |FFA B 500




1 S B X 471 X 1% S
[SANG:| 3,200 |52 BH 2,000 [Pz e 1,000 |15 ARABHE 4,800
BB s 16,000 |15 /55 2,000 [ ABHE 500 |BgigRE 4,800
[SVANG:| 2,700 |55R 2B 4,800 [ BHE 1,500 |15 ARABHE 500
[SVANG| 3,600 [FEHEE 600 [P E 2 500 |15 ABE 2,400
[SVANG| 10,000 |15 2NEH 3,600 |5 2B 2,000 [ RABH 500
[VANG| 4,000 |5 ABE 7,000 [FFARABHE 2,000 [F5RABH 2,500
B TR TR 3,600 |52 BH 4,000 [P 242 1,800 |1S A R 500
[VANG:| 8,000 |15 A 2B 500 |S A ABE 4,000 |B¥s 3,600
ek g 3,600 |52 BH 2,400 [ ABH 500 |8 ABHE 2,000
Bk s 2,400 |55 ABH 12,000 |5 2B 3,600 [F5AANBH 2,000
[ANG: 2,000 |5R A BH 400 |BEEDL 500 |18 ABHE 500
[ANG:| 9,000 [ ABH 2,400 [ ABH 2,100 [ ABH 500
[VANG:| 2,000 |52 BH 500 |S A ABE 500 |BEETHE 500
[VANG:| 500 | B B 40 400 115 B 500 |BEET B 3,600
[VANG:| 1,000 |5 ARABHE 5,400 [BHEFE 600 |15 ABHE 3,000
(NG| 6,000 |52\ B 500 |8 ABE 4,400 |PiE 4,800
[ANG: 500 |Bgi 55 2,800 [FFAA\BH 500 | B kA 1,200
(VNG| 3,300 |5 NBH 400 |15 ABH 500 |8 ABHE 3,000
(VNG| 12,200 |Fs 504 500 |BOEE 4,200 [ ABHE 2,400
(VNG| 3,600 |5 NBH 800 [fFA B 500 |8 ABHE 7,200
[eVANG| 2,400 |5 \BH 2,700 [ ABH 8,600 |15\ BH 1,000
SR NE 500 | A ABE 900 |51 25 1,200 |Psia%E 4,800
e 7,000 [\ BH 2,800 [PHEREL 500 |8 ABHE 3,600
(VNG| 2,400 |5\ B 8,400 |15/ BH 1,600 |1S /AR 3,600
B 1,200 |pgi 558 1,800 |15 B 3,100 [ ARABH 2,000
[eANG| 3,200 | B 5. & 2,000 [P 900 |18 /ABH 4,800
B 3,600 |5 NBH 2,000 [ ABH 500 |8 ABHE 3,600
(eANG| 4,000 [ 2ABHE 1,200 |15 B 2,100 [ ARABH 500
B e 800 [P 1,500 |15 AABE 500 |55 600
(NG| 500 |18 A 500 [f5AA6E 4,000 [PFERS 5,000
(eANG| 4,000 |BHEIFEEF 3,600 |15 B 2,000 [ ARA\BH 600
(eANG| 500 |18 A 1,200 |15 B 5,000 [ 2A\BH 3,000
(eANG| 600 |15 2,400 [F5ARABH 500 |55 500
(NG| 4,400 |BAEE 600 |15 A6 2,000 [f5ARA\BH 2,400
(eANG| 3,600 |5 RN B 4,800 [ ABHE 500 |55 3,000
= 500 |18 4,000 [ ABHE 2,000 [F5ARA\BH 500
(NG| 3,000 |5 RN B 1,200 |15 B 500 | PR 3,600
(eANG| 2,000 |5 RN B 4,800 [ ABHE 500 |55 2,000
PR A 4,800 |BHAETE 5,600 [fFAR2A\BH 3,600 [FFRA\BH 500
B R 1,200 |18 4,000 [ ABHE 2,000 [\ BH 1,800
BCRAE 500 |15 7,200 [f5RA\BH 500 |18 ARE 2,400
PR ZE 500 |15 3,300 |15 BH 2,000 [FF R\ BH 3,600
e 2,400 |15R N B 7,200 [f5RA\BH 3,600 [FFRA\BH 100
[N 500 |15 4,000 [ ABHE 3,300 [fFARABH 4,800
bR 2,100 |5 RN B 11,000 |#5A2AB 500 |18 R 12,000




1 B B B 471 X 1% &
[SANG:| 500 |PEESES 500 |15 ABE 500 |FFEE 4,100
[VANG| 3,600 [BHESES 500 |15 ABE 2,000 |52\ BH 7,200
[SVANG:| 4,400 |5 ABHE 1,500 | B g 3,900 [PHEEAf 500
[SVANG| 500 |15 ABHE 4,800 [fFA2ABHE 2,000 |15 A\ B 300
G aan 500 |15 ABHE 500 |15 ABE 500 | B 9,000
[VANG| 3,600 |F5R2ABH 7,200 [fFARABHE 3,600 |15 A \B 1,000
B Bk 500 |15 ABHE 500 |fS B 6,000 [f5A\BH 500
[VANG:| 2,000 [P 2 7% 1,200 |5 AN 4,800 [FFAABH 500
[ANG:| 500 |15 ABHE 1,600 |BR{E7E 400 {5436 6,000
[VANG:| 4,800 |5 ABHE 3,200 |£5 AN\ 500 |8 ABHE 3,600
[ANG: 500 |FE&E 6,000 [FF A\ BH 3,600 [Pl 1,800
SR 500 |#5AR2A B 2,000 | FeEEFT 3,600 |15 A N\BH 2,400
[VANG:| 3,300 |F &1 & 4,800 [ A\ BH 3,600 [F5AANBH 500
[VANG:| 3,600 |52 BH 3,000 |£5ANE 1,800 |1S A R 500
DR 300 [ ABE 900 |15 ABE 8,000 [BBuls 3,000
(NG| 2,800 |F5R A BH 4,800 |BRERSK 6,600 [fFA/\BH 4,800
[ANG: 500 | PR &R 2,700 [F5AA\BH 3,300 [fFAA\BH 2,000
(VNG| 500 |F AR 3,600 [P EdE 6,000 [FFA A\ BH 500
B =205 5,000 |5\ BH 2,800 [ A A\BH 500 |8 ABHE 5,000
(VNG| 500 | P& SE 300 |F A ABE 3,600 [ ABH 500
[eVANG| 2,100 |5\ B 800 [FA B 11,000 [fFA2A6 2,000
[(eVANG| 500 |F AR 3,200 |15 B 2,800 [FF A\ BH 9,000
(VNG| 2,100 |5\ BH 6,000 [FFAA\BH 1,200 |18 R 500
(VNG| 500 |fF AR 4,800 [fFAABHE 4,000 [FFAABHE 2,000
(VNG| 500 |F AR 500 | o pa s 7,000 [ ABH 9,000
[eANG| 500 |F AR 500 |fF A ABE 500 |8 ABHE 500
[(eVANG| 4,800 |5/ R 3,600 |Bifi A 7,200 [BHAZIEE 3,300
(eANG| 2,400 |54 A6H 500 |BRBIE 3,600 [FFARA\BH 2,400
PR =12 600 |5A A6 500 |fF A ABE 500 |8 ABdE 4,800
BRiEE 3,600 |54 A6H 1,200 |#5 A 2B 4,800 [FFAA\BH 500
BR{ZEX 3,600 |54 A6H 3,000 |15 B 500 |8 ABdE 800
(eANG| 800 |15 AL\ BH 3,300 |15 B 3,000 [ ABH 500
(eANG| 500 |5A B 500 |fF A ABE 500 |8 ABHE 9,000
(NG| 2,700 |15 A6H 500 |fF A ABE 2,100 [ AR A\ BH 500
(eANG| 500 |5A AR 500 |fF A ABE 500 |8 ABdE 6,000
(eANG| 4,800 |#5AR2\BH 3,600 [BHF I 4,800 [FFAABH 500
(NG| 3,600 |54 A6H 600 |15 /ABH 2,000 | Bt =5 600
(eANG| 30,000 [fFAR 2 BH 4,800 [ ABHE 800 |fF A /ABHE 2,000
[SANG| 4,200 |[#5AR 2\ BH 500 |#5A AR 500 |FEEH 3,000
[N 600 | PRk 3,600 [N 3,600 |15 A\ B 8,400
[N 1,500 |55A B 3,600 [N 500 |BA AR 500
BilE B 3,200 [f5AA6H 500 |#5A AR 1,200 |B5A B 800
[N 300 |[f5ALNBH 500 |#5A AR 600 |F5A 2B 500
[N 3,600 [f5AA6H 500 |#5A AR 4,500 |BfEfHE 4,000
[SANG| 300 [BH&L 500 |#5A AR 3,600 |15 BH 4,800




1 B B B 471 X 1% &
P (% 3,000 |5 RN BH 3,300 |55 2,400 |15 A \B 500
EREES 3,600 |15 2\6H 2,100 |15\ FH 500 [PEEER 2,700
[EHEES 3,600 |F5R2ABH 300 |5 ARE 500 | B Egr i 3,300
[SVANG| 1,000 |5 ABHE 500 | B2 1,600 |#5A 2B 2,000
[SVANG| 500 |15 ABHE 3,600 |5 2B 500 | B 9,000
[VANG| 2,000 [BHEZETT 3,600 |55 8,400 [fF AN 3,600
[ANG:| 500 |15 ABHE 3,600 |BEF 600 |FFFEE 2,400
B AT E 2,000 |5R A BH 500 |BRIEZE 4,800 |BRzEE 900
[ANG:| 3,600 |52 BH 500 |8 ABE 400 [PHEERA 5,000
[VANG:| 300 [ ABE 6,000 [FFA\BH 2,000 [ A\BH 600
CiE 4,800 |BREF 4,400 |BHGE 12,000 [fF A6 2,800
[ANG:| 500 |15 ABHE 500 |fS B 500 |8 ABHE 4,200
Bk (T 2,700 |55 A B 500 |S A ABE 12,000 | BT 3,600
BT 500 |#5AR2A B 7,200 [FFAABH 500 |18 ABHE 3,000
[VANG:| 2,400 |55 BH 1,800 |5 B 500 |8 ABHE 2,400
(NG| 2,800 |F5R A BH 500 |8 ABE 500 |18 ABHE 3,000
[ANG: 2,400 [BEEES 1,500 |8 AR 2,400 [PHEFE 300
(VNG| 3,300 [BERE 1,800 |15 AABE 4,800 [FFAABH 6,600
(VNG| 600 |1 S ABHE 2,100 [ ABH 500 |8 ABHE 4,800
[ S 600 |1 S A B 500 |fF A ABE 1,200 |18 R 1,000
B 7 600 |1 S ABHE 3,200 |15 B 700 |15 ABHE 5,500
[(eVANG| 5,200 |5 NBH 300 |F A ABE 13,000 |BEES & 4,800
(VNG| 1,200 |15/ R 500 |fF A ABE 3,600 |BgipSEE 1,800
B h 1,600 |15/ R 1,600 |5 B 3,000 [F5ARABH 3,600
ek i e 4,800 |5 R 2,400 [ ABHE 1,000 |18 R 1,800
[eANG| 30,000 |[#5A 2 B 1,900 |15 B 6,000 | B uEHE 1,500
[(eVANG| 500 |F AR 2,000 [ ABH 500 |8 ABHE 2,300
(eANG| 3,000 |54 A6H 500 |fF A ABE 1,400 |Ps1EGE 600
PR T 1,600 |55A A6 500 |BREE 4,800 [FFAABH 500
Bei ek 1,200 |55A A6 4,800 [ ABHE 500 |18 ABdE 1,500
(eANG| 4,800 |#5A2\BH 4,800 | B 2,400 [F5ARA\BH 3,600
(eANG| 2,400 |54 A6H 500 |fF A ABE 3,600 [FFARA\BH 3,600
(eANG| 600 |5A B 500 |fF A ABE 1,200 |Bidgit 4,800
(NG| 3,600 [FEIE4L 2,000 [ A\BH 2,000 [f5ARA\BH 500
(eANG| 2,400 [FEIEAL 500 |fF A ABE 500 |8 ABdE 500
ek 12,000 [P AR 3,600 |15 B 4,000 [FFARABH 300
(NG| 6,300 |54 6 1,800 |f5A 2B 1,800 |FA 2B 300
(eANG| 3,200 |15 A6H 2,000 [ A\BH 500 |BEEZE 3,600
[SANG| 600 |5A B 500 |#5A AR 500 | ABE 500
[N 12,000 |15 A AEE 7,200 |BRE 500 |BA AR 500
B2 2,100 [f5AA6H 4,000 |[#5A2NBH 900 |52k 3,600
[N 600 |5A B 500 |#5A AR 300 |15 R 12,000
[N 1,000 |B5A B 500 | BEE 4,400 |54\ BH 2,000
PRZEEE 4,400 |#5AR 2\ BH 500 |#5A AR 800 |BHEE & 4,000
PR Z53)E 4,800 |£5A 2\ BH 2,000 |BBE 900 |FEEE(E 3,200




R S R S R S R S
B AR 500 [EA AR 3,600 R 4,200 [ F /B8 600
[ AN s 3,000 [f5A B 3,600 |BEBEE 6,000 [5G 500
[ AN s 2,000 [BREEE 4,800 |f5A 3B 500 |54 3B 3,600
[ AN s 500 [f5A B 2,400 ({5 A6 2,000 [f5-AABH 1,200
B 600 [{3/B 3,600 |5 /5B 500 {82 4.800
EERa 500 [ AR 2,400 |57 /A 500 [fE /5B 4,000
B AR 7.000 [ 5P 3,600 |9 /5B 6.000 | A 4,800
B AR 4,800 |57 /5 500 | /B 500 [ B 1800
[ AN s 400 |53 B 3,600 |BBEE 1,200 [f5AAFH 500
PREZ(Z 500 [f5A 3B 4,000 |5 23 5 2,400 | P Bt 1,600
B AR 600 [ /B 500 | 2B 4,000 | {5 /A 6.000
B AR 500 [ /AR 4,800 |5 AR 500 [ /B 4,000
B AR 2400 [T 3,600 |5 /5B 2,000 |5 A 500
B AR 3,300 |5 AT 4,800 |5 /AR 500 [ B 7000
[ AN s 500 |PHERE 12,000 [f5:A /36 500 |FREEE 2,400
TR 500 [ A 3,300 | UL 500 |8 2B 5200
B AR 4400 |57 /A 2,000 | {5 A 500 [z 3.600
bz 500 | 2B 4,000 [ 6,300 |5 /5 500
B AR 500 | 2B 500 |t 500 |8 /B 500
B AR 500 | 2B 2.000 |5 5B 2400 |5 A 500
B AR 3.400 |3 5B 500 [ /B 500 |8 AB 2,000
B AR 3.600 [ 1600 [ /A58 6.000 |5 A 3,600
B AR 500 |{EF 2B 800 |5 /AP 8.000 |5 /5B 13200
B AR 1,000 [BF /AR 1,800 [H4AE 7,000 |5 AR 500
B AR 3,600 |5 5B 3,600 |5 /5B 500 [ 2B 7.000
[ AN s 1,500 |FEFER 3,000 | PR S 500 |BREEN 4,800
B AR 2.400 |7k 4,800 [ {5 /AB 3,700 |5 A 6.000
B AR 600 |{3F /5 3,600 | HFiAE 3,600 |5 5B 2.000
B AR 3,600 [HEES 6.000 [BH] 1200 [ /AR 500
P E 4,800 [FFAEFS 3,600 |5 B 4,800 |F5A 3B 2,000
[ AN s 1,600 [f5AABH 2,400 | P 1 500 |Pri&ERZE 6,600
P =P 4,800 (5 /3BH 1,000 (5B 500 |PR4E 3,000
P E AL 1,800 |FRIEFH 3,200 |5 B 5,000 |F5A 2B 500
B AR 3,600 |35 /5B 1000 [ /A58 1,800 |32 500
P FE 4,800 (5 /3BH 5,700 |PeRzHLIAK 5,600 |54 3B 2,000
[ dANGis 7,200 |55 B 7,200 |FR 3,600 |54 2B 500
P AN 12,000 |fGA B 600 |f5A 2B 500 |FA B 3,600
PRE (= 2,000 |5 B 2,000 |F5A 2B 2,000 |PzEiE 2,300
FA LB 3,600 |5 B 4,000 |BREZAL 4,400 |15A 3B 3,600
FA LB 3,600 |5 B 3,600 |FREE 5 8,400 |BR#A(E 3,600
e 1,800 [T 3,600 | /A 4,300 [ /A 4,800
bR % 500 |3 /AR 500 [ /5B 3,600 | il 6.000
A% 3,600 |3 /5B 9.900 [ /A B 500 [/ /5B 500
FA LB 2,400 |5 B 6,000 |FRZE 500 |FA B 500
FA LB 500 [FFA B 4,800 |tGA /B 4,800 |FoiJELZE 3,600




1 B B B 471 X 1% &
BB 1,000 |[fFAANEE 1,500 |FRZETE 5,200 [ 1,800
B fe 2> 3,000 [P 51 85 2,000 [ ABHE 1,800 |#5A 2B 1,800
[¥EDY 3,600 |F5R2ABH 2,100 [P 4,800 |15\ B 500
B IE 4,000 |5 ABE 12,000 [fFAZNEH 1,500 |#5AR 2B 500
[SVANG| 1,200 |PEE: 4,800 [ A2 BHE 8,400 [fF AN 3,600
G| 600 |15 ABHE 3,200 |5A 2B 11,000 [fFA2A6 12,000
[ANG:| 2,500 |55R 2B 500 |fS B 3,600 [F5AANBH 2,400
[VANG:| 8,000 |15 A 2B 4,800 [fFA/A\BH 2,400 [FFET 6,600
[ANG:| 6,600 |15 R\ BH 4,800 [fFAABH 2,400 [ ABH 3,200
PRfEE 10,000 |FEZZ & 4,800 |15 \BH 3,000 |15 A N\BH 500
[ANG: 500 |15 ABHE 9,600 [FFA/A\BH 400 {54236 4,800
[ANG:| 4,800 |5 ABHE 1,800 |15 /ABE 500 |8 ABHE 1,000
=3 3,600 |F5R2ABH 2,400 [ A\BH 500 |8 ABHE 4,800
=2 400 | Bk 500 |8 ABE 2,800 [fFAA\BH 2,900
[VANG:| 2,100 |52 B 500 |F A ABE 2,400 [ ANBH 500
[GE=3il) 3,600 |F5R A BH 4,800 [ A ABH 2,400 |15 A \B 500
[ANG: 4,000 |5 ABHE 1,200 | {&{= 2,000 [RESS 4,800
(VNG| 1,200 |15/ R 7,200 [FFARABHE 3,600 [F5AABH 500
(VNG| 400 {54236 11,000 [f5A A6 3,600 [F5AABH 500
(VNG| 500 |F AR 500 |MEE 1,800 |1S AR 500
SR NE 4,800 |f5A 2B 3,300 |BMEZE 500 |FFA B 3,600
[(eVANG| 3,000 |FEE{= 3,600 |15\ B 2,000 [F5AABH 2,000
(VNG| 900 | F Ak 2,100 [ ABH 8,600 |15 /B 500
(VNG| 500 |fF AR 1,200 | R 6,400 [F5AA\BH 2,000
(VNG| 3,000 |5\ BH 3,600 |15\ B 4,800 [FFAABH 500
[eANG| 4,800 | =155 3,600 |15 BH 1,800 |1S AR 300
[(eVANG| 500 |F AR 7,200 [fFARABH 1,200 |18 R 4,600
(eANG| 500 |EEEUR 6,000 | % HME 4,200 [FFAABH 500
(NG| 500 |5A AR 1,200 |#5 A 2B 9,600 |15 2\B 3,000
(NG| 3,600 |54 A6H 7,200 |4 B & 4,800 [FFAA\BH 1,800
(eANG| 2,000 |54 A6H 9,600 [fFA\BH 3,600 [FFARA\BH 3,600
(eANG| 4,800 |#5A2\BH 3,600 | EAEEY 1,000 [517HE 4,800
(eANG| 3,600 |54 A6H 500 | EfHEE 4,800 [FFAABH 500
(NG| 500 |5A AR 550 |18 ABE 9,600 [fFAR/A\BH 3,600
(eANG| 3,000 |EZEETE 2,100 [ ABHE 6,000 (5 &% 500
(eANG| 500 |5A AR 1,000 |#5A A6 2,000 [F5ARA\BH 3,600
PR 4,800 |#5AR 2B 3,600 |15 B 2,000 [f5ARA\BH 4,800
(eANG| 6,400 |54\ 7,400 [F5ARA\BH 9,300 [SFE 4 500
BREEFI] 2,000 |28/ 7,200 |15\ BH 500 |18 ARE 500
G5 3,600 [f5AA6H 3,600 [N 500 |BA AR 4,800
[N 500 |B5A AR 1,600 |#5A 2B 500 5T 3,600
[N 500 |B5A AR 500 |#5A AR 500 |18 R 2,000
[N 2,700 |15 6 50,000 |#5A AR 2,000 |15 2N\F 4,200
[N 4,800 |£5A2NBH 2,400 |15\ BH 500 |EEZFHE 1,200
[SANG| 500 |B5A AR 1,800 | 3EH 4,800 |54\ BH 4,800




1 B B B 471 X 1% &
[SANG:| 2,100 |52 BH 500 |15 ABE 500 [F2 HJEL 6,000
[VANG| 12,000 #5286 1,200 | &4 3 2,400 |15 A\ Bd 2,400
[SVANG:| 2,100 |50 B 3,600 |5A 2B 500 | FE 4,800
[SVANG| 4,400 |5 ABHE 2,400 |GAC 3,600 |15 A \B 500
[SVANG| 500 |{#EFE 3,300 | & 4,000 [F2iass 3,300
PRESH 4,400 |{BEHE 3,600 [MEE 500 | B 3,900
[ANG:| 2,700 |55 A BH 4,000 [ BHE 500 [FE7Eis 4,400
[VANG:| 1,200 |5 ABHE 1,600 |5/ B 500 |8 ABHE 1,000
[ANG:| 3,000 |55R 2B 900 |15 ABHE 500 |FERKJEL 1,800
[VANG:| 4,800 |5 ABHE 2,000 (842 H 2,400 [ ABH 500
Cli=sE] 1,200 |{HiglizE 2,400 [ ZEF5 3,000 [F2AEZ 2,100
[ANG:| 500 |fHikzaE 2,100 [ A\ BH 500 |FEEEEE 6,600
[VANG:| 500 |15 ABHE 2,100 | % i 2,000 [FREFS 2,800
[VANG:| 500 |15 ABHE 500 |8 ABE 4,800 [FFAABH 4,300
[VANG:| 500 |15 ABHE 2,000 [FFAA\BH 3,600 [FEH0F 2,000
(NG| 2,000 |5R A BH 500 | B EE 600 |FEEE% 2,400
[ANG: 4,800 |5 ABHE 500 |8 ABE 4,800 [FFAABH 2,000
(VNG| 500 |F AR 500 | pEAE 2,100 [F5ARABH 4,200
(VNG| 1,200 |15/ R 4,800 [fFAABHE 4,400 [ ABHE 3,600
G 800 |{HiRESF 1,500 |#5A A6 3,600 |15\ BH 500
[eVANG| 6,000 |{#75% 4,300 | E RS 4,800 [FEHESE 3,000
[(eVANG| 3,600 |5 NBH 4,000 [FFAABHE 3,300 [FEE5E 4,800
G 500 |F AR 500 |fF A ABE 2,100 [F5ARABH 8,300
Bk 2 2,700 |5\ BH 1,800 |15 AABE 500 |FEfREE 2,000
(VNG| 2,400 |5 NBH 600 |15 ABH 3,500 |5 AABH 1,900
Bige s 2,000 |9z ARAT|l 3,600 |BAA G 1,200 |18 R 500
[(eVANG| 3,600 |5 NBH 11,200 [fSA A6 500 |FEEEES 2,400
(eANG| 2,000 |54 A6H 2,400 [ ARABH 500 |18 ABdE 2,400
PR AT 2,800 |54 A6H 6,200 [FFAA\BH 2,100 [ AR A\ BH 12,000
(NG| 500 |5A AR 2,400 [ ARA\BH 4,400 [ ABHE 500
(eANG| 500 |5A AR 800 | &2 11,000 |{5A 2B 400
(eANG| 3,100 |54 A6H 3,600 |15 2B 1,000 |FA Ak 11,400
(eANG| 3,600 |54 A6H 400 |15 ABE 3,600 [FFARA\BH 9,000
(NG| 4,800 | S5t =Y 1,200 |#5 A 2B 500 |FEFEL 500
(eANG| 500 |55 a4 800 [fFA B 500 |8 ABdE 500
(eANG| 3,600 |54 A6H 2,000 [ A\BH 7,000 [ BH 5,600
(NG| 500 |fHEFEARAF] 4,800 |55 ARE 500 |FEFZE 1,200
PREFE 4,800 |#5AR2\BH 2,000 [ A\BH 3,900 [F5ARA\BH 500
[SANG| 500 | SR8 EE M 8,400 [ /\6H 4,800 |54\ BH 3,600
[N 7,000 |ZsE AR AT ] 1,600 |5 /ARE 4,800 |FEIEET 4,800
PRETER 3,600 [f5AA6H 1,200 |5 A A B 2,100 |FEREZE 3,600
PRETER 500 |B5A AR 1,500 |#5A 2B 2,100 |15\ B 2,700
[N 2,100 [f5AA6H 1,200 | IlE 2,100 |15\ B 500
PHEFER 2,800 [{5AA6H 3,000 [N 500 |BA AR 500
PREER 2,900 [15AA6H 900 | % 58 2,400 |15\ B 1,200




e B 218 S 1A S e e
BB 300 |EA /1B 7.400 |5 /5B 10.200 [/54 235 3.600
AT 500 |Bpm e 1,800 |54/ B 500 |esesrm AR | 4,800
B 4,500 |{5F 2 B8 1,800 |15 A /AP 7,200 |5 255 500
CEAY 500 |18 /5B 500 |56 3.600 [ /50 10.400
A NEE 2,000 |BemepEmamas| 7,000 |[fFARAE 500 |fFAINEH 4,800
BB 2,400 |15 /\BE 2,000 | & 555 500 |5 AR 12,400
Pekes 5. 6,000 |[F5A 2B 4,800 |FFABE 3,000 [FFA2NFH 2,400
S E 1,200 [f5AR 2\ BH 3,600 [fFA 2B 500 [FEEASCAIRATE 400
BB 500 |5 /5B 2,400 | ¥ FEE 2,700 [#EH AR /A E] 3,600
BRAR 2,000 |asasmmaRas| 3,300 [{FRAR 4,300 {54 B 500
i 2,800 |F5A 2B 2,100 [HEEF3E 2,100 [F5AANFH 500
(AN 600 |5 2ABE 1,800 |5/ B8 3,300 [{5-A 2B 2,400
N 2,000 |55 3,600 |3 1 2,000 [R5 4,800
B 3,200 |23 3,600 | /A 3,200 |HERREETT 2,000
SR ABH 3,600 |f3A /AP 3,000 |42 B 4,600 |HERRREAIRAE | 3,300
FANEE 500 | ABE 4,800 |FFABE 1,800 [F5A 2B 1,800
(SN 500 [2ZERHEARAT| 4,800 |[{FA /AR 1,200 [EERTHARAE]| 3,200
SRR 840 |15 /5 2.800 |4 4,000 {8256 4200
EEAY 4,800 |f5 A /5B 600 |13 43P 2.000 |15 Z3F 4,800
1SR 2100 |18 /2B 4,000 [f5F2ABH 3,600 [ /2 B 900
Per e v 2,400 |[15AABH 1,500 | %4 5 4,800 |HErAE H AR 800
5B 4,800 |54 F75 1,800 |52 BH 1,200 |56 6,000
GRS 5,000 |[15AABH 500 [fFAINEH 500 |15 ABHE 500
R AB 3,300 [543 500 {5 B 500 |5 23 2,100
bR 4,800 |5 2NBH 500 | 4 EEEH 3,300 |5A 2 B 500
IS 1,200 |32 B 1,200 |[{&A /A6 3.600 |f5A /3B 200
B L 500 [ 43R 600 |#5F /AP 900 |15 Z3f5 2,000
IR 7,200 [{5 R /A B8 4,800 |15 /3B 4,400 | ETRESH 200
BN 4,000 [FER/NEE 4,800 |5 A\BH 3,000 [rekussiestAmas 4,800
[N 2,400 |[15AINBH 11,000 |f5A2NBH 4,200 |FFA 2B 11,200
ERERN 6.000 |{FA I B 500 | Bz 4,800 |FFABH 600
R AB 500 [ E8 500 |3 B 3,000 |35 5,400
SR ABH 1,200 [0 3,600 |FFA 23R 500 [f5A 2B 2,400
R 3,000 [E2173E 1.200 |15/ B 500 |15 23] 4,000
[N 4,000 [F5A B 500 [FAINEH 2,100 |[15-ABHE 7,000
NG 500 |15 /55 500 | sse 9,600 |5 /B 2,000
(CeVAN:id 1,600 |540é% 10,000 |5 Z5BH 600 |f5A 23 200
(AL 500 |54 B 1,200 |32 BH 3,200 |54 2 B 10,800
(VAN 500 |5 B 2,400 | 853 9,600 |1FAZNBA 4.800
(VAN 600 |15 /B 1,200 {5 /ABH 4,800 |54 b 200
AR 500 | 13.200 |5/ 800 |f5A B 2,400
BBl 1,800 [{5F /2B 3,600 |5 A /ABH 500 |54 Z2BH] 4,800
(CaANGz 3,600 |SZIEHk 2,000 [F5A2NBH 500 |mesrseRmERAE| 7,000
Bl 12,000 {545 3.600 | 200 {51 3B 2000
EPACT 4,800 [15R /B 3,000 |15 ARA\BH 500 |BIEERREARAH 300




iR S s & g & it S
(/B 1,500 |8 A A58 3,000 |8 /A 500 1f3-F 2AF 1,600
EEAL 6.400 |52 18 75 3,600 |34 /3B 8,000 |55 /3B 800
BREEER 500 |3 4.800 |{§ /B 2400 15 AP 200
B AR 3300 [ZELE 3,600 {543 4,800 {5 25 7,000
(/B 1,500 |8+ A58 500 {525 500 |f-F 2AF g
[VANG| 500 |24 500 |15 ABE 500 |15 ABE 500
A 3,600 |15 /2B 1.500 [{5 2B 500 |53 /2B 3,600
R4 4,800 [EFR /A B 4.800 [EAR A 300 B FEEEZ T 3,200
(/B 1000 |8 2B 1,500 [ /A 5.000 [ /A 2,10
(/B 9.000 |8 /B 6.000 | &4 47 3.600 [ /A 1200
BREEE 600 |5 /b 7.800 [ H 500 {5 F A 20
AN 3.800 |15 FR/\EH 500 |15 /ANBH 500 |#arrEmnARAE 1,200
(AN 1,200 |5 4FE 3,600 |5 A G 12,000 {544 2,400
BB 500 [ /2B 2.900 |57 /5B 1,600 |4 43f] 7,200
(/B 3.600 [EF /A5 500 |15 /AP 4.800 |13 /AP 8,000
T 1.500 |54/ B 5.000 |[15-AR NG 500 |mEmasstamas| 7,000
(/B 4.800 [{8F /A B 3,000 |5/ 7.000 |15 2000
EEA 1.200 [EF /B 4.800 | &5 4.800 15 AT 12000
R ABE 400 |E2ES 500 [ 2B 500 [FepERLnAIRAT] 3,600
EE 2,000 |5 2] 1.200 {84/ 2,000 15 2] 3,600
(BB 1,200 |5 /A1 6.800 |14/l 2,000 |5 R 1% 5,300
(BB 500 [E4 3,600 |15 2] L100 {3 2 8,00
BB 500 |8 /2B 3.000 [{EF /3B 300 |5 2B 2,000
EE 3,300 |5 A 3,000 [{5A 500 {134 /3 4,000
e 4,800 |5 A 4.800 |15 AP 300 {5 200
A 2,000 [&/2AE 500 [{5F AB 500 {5 AT 200
bR 1,500 | (& /AB8 900 |51/ F 500 {5 A il
EEA 500 B2 2% 4,500 |87 /3B 7,200 [£3-F 73] 6,000
e 4,800 [ AR 1.000 |{8F /] 900 |55 4,800
(/B 500 {8/ B 500 [/ /5B 7,000 |34 /A5 2400
AR 1,000 /2755 500 [{&F A 800 |15 - /AT 110
EEN 500 |8/ B 500 |13 /3B 2,900 |15 /B 7.000
ER /B 2,000 {57 /5B 500 |15 45 4,800 {# A5 3,600
(/B 500 [s/3k 500 [/ /3B 12,000 | B 500
A 500 |58z 500 Lz 2,000 |/ B 1200
B A6 500 [F5A B 500 |5 ABH 3,600 |5/ B 3,600
FAR B 500 |5/ B 3,200 |15 256 3,600 [f5A 2 B 10,800
YA 500 |52 500 [3HerkiE 3,600 [f5 A 8,000
S AR 4,800 [ /5B 500 [ 3.600 {34/ 2400
EF AR 11400 [&/5240 2400 |57/ 2400 B 5,000
EPACT 500 [s285Ek 300 [BAA6E 300 |f5A 5 200
(& AR 2,100 |5 500 [{&F A 500 {5 AT 200
M 2100 |25 500 |5 R /3 500 |#8 R A LS00
AN 500 |5 B 2.800 |{5 /B 500 |AEHTHE 4,800
G 500 [EF AT 3,600 [5F /AP 500 |5 43P 200




g SHH B2 S B X s S
G AGE 3,200 |#5A /N 2,700 |50 B 2,000 VEISH 2,000
[ aaANGis 3,600 |F5A /N 2,400 |50 B 500 |56 4,400
G AGE 500 [EmamstTeaRsE 3,600 [hFaite 500 [(EANEHE 4,000
[ aaANGis 3,200 |#5A /N 4,200 |5 B 500 [/ 4,800
G AGE 500 [FEANBHE 3,600 |[#5A A 2,000 |15 A 2NFH 500
S AGE 500 [FEANBH 2,800 |5 B 600 |f5 A 2B 500
S AGE 6,000 |F5A/\BH 300 |52 BH 1,500 ({5 AN FH 3,600
EBANEE 3,600 |ErrE R AR A 9,600 |15\ 4800 |52\ Bd 6,300
S AGE 1,800 [f5ANBH 2,400 R 7,200 |FFA /35 3,600
S AGE 400 [ M1 6,000 | h# i 2,700 |55 A 35 4,400
R 4,800 |24 ¥ 3,000 |JiEkkE 7,200 |F5A 3B 500
[k 500 [ /2B 4,400 |15 /NBH 1,200 |f34 23f] 4,800
S AGE 4,800 [fEANBH 500 |53 BH 500 | =T 2,400
S AGE 800 |56 2,100 | B35 4,800 |[FH T 4,800
A AGE 1,200 [(5AN\BH 3,600 |£5A G 3,200 | = THi 3,600
A AGE 500 [ %8+ 2,400 | B35 2,400 |55 35 500
P RIS 500 [ F-3 400 [FA B 500 [fFAABHE 2,900
SN 500 [fFA B 300 FEE 500 [fFA B 12,000
[CaaANGi: 500 [fFAAB 500 [B5A B 4,200 |53 500
AL 500 & /NE 500 |fF A ABE 4,800 [ T25 1,200
BN 500 [fFA B 500 [5A 3B 3,200 |54 36 3,600
SN 3,000 | B 3,600 |f5AH /A 2,800 |36 600
SN 2,400 | £33 6 2,400 |53 4,500 |35 900
[CaaANGi: 500 % TohE 2,000 |3 2,000 |54 235 4,800
[CaaANGi: 1,500 [f5A 2B 500 |B5A 3B 500 [fFAABHE 4,000
BN 500 [34.00 6,000 |53 3,100 |F5FA /36 500
SN 500 [fFA B 2,100 |40 8,000 |13 6,000
[CaaANGi: 500 [BFA B 12,000 |#51 /G 2,000 | Ath 500
[CaaANGi: 2,000 | & SCF 5,400 |06 500 [&F2= 2,000
PHET & 500 |28 53 900 |FFHE 2,000 |26 500
[CaaANGi: 2,000 |#5A /G 6,600 |55 300 |5 A AFE 4,800
SR A 500 [ NF 1,200 ({54 B 3,200 |55 /06 800
SR A 5,400 |51 /AFH 3,600 |#51H A 500 |fFA B 6,400
Pl 2,100 |#5A /G 3,600 |#5AH A 2,300 |5 /N6 7,200
SR A 500 [ NF 3,600 |#5AH A 4,800 |25 500
SR A 3,600 |#5A /G 3,200 |#5AH A 4,000 |2 4,000
[CaaANGi: 500 [ NFH 4,800 [FFA /N5 500 | =S 3,300
SR A 500 [#sEEEE 2,800 |FEidEE 1,800 [f5AAFH 4,800
Pek R, 3,600 |#5A/AFH 3,300 |i#5 7= 2,800 |56 1,800
GAAB 3,200 |3 3E5% 9,600 |55 2,000 | = A 300
GAAB 3,600 |#5A /A 3,600 |51 A 500 (BB 500
GAAB 500 |2 TEfE 4,000 |55 7,200 |50 3,300
GAAB 6,000 |#5A /A 3,600 |#5AH A 3,600 |15 A\ B 2,400
PR 255 500 |8 KA 500 |55 2,200 |59 3,300
GAAB 500 | AT 4,400 |55 500 [fEAAFE 2,700




1 B B B 471 X 1% &
BRIRS 2,100 |52 BH 2,000 [FFARABHE 4,300 |15\ B 3,600
[VANG| 5,200 |52 BH 500 |15 ABE 3,300 |15 A\ B 500
[SVANG:| 4,800 |5 ABHE 500 |15 ABE 3,600 |15 A\ B 5,300
[SVANG| 3,200 |5AR A B 2,400 [FFRABHE 3,600 |15 A \B 600
[SVANG| 500 | % 2 LR 400 |5 AFE 2,000 |15\ B 500
B NEH 500 |5 bd 500 |FFtrIE 1,800 [ A6d 3,000
PS5 6,000 |F5R 2B 500 |fS B 7,200 [FFAABH 2,000
[VANG:| 800 |5 ABHE 4,800 [FEsEE 1,600 |52 B 500
[ANG:| 6,000 |F5R 2B 500 |8 ABE 2,800 [ i 1,500
B H 3,600 |52 BH 400 115 ABH 500 |8 ABHE 500
[ANG: 1,800 |5 ABHE 1,000 |52 B 500 | 1,400
[ANG:| 3,600 |F5R B 4,800 |EHER 4,800 [FFAABH 3,200
[VANG:| 2,000 |52 BH 500 |S A ABE 2,000 |15 A2\ B 4,800
[VANG:| 500 |15 ABHE 900 |15 ABHE 500 |5 EERS 4,800
=HE 7,200 [ ABH 9,000 [FFAA\BH 500 |5 ABHE 3,600
(NG| 500 | = 2,000 [ A A\BH 6,000 [f5AA\BH 800
[ANG: 2,000 |5 BH 3,600 |£5 AN 1,800 |1S A/ R 4,000
(VNG| 500 |F AR 4,800 [fFAABHE 1,600 |1S /AR 3,300
SR NE 3,600 | E=E AT 400 |5 500 [ A 500
(VNG| 4,400 |15 R 100 [E & )E 1,200 |18 R 4,800
[eVANG| 3,600 |5 NBH 7200 |EERE 800 |fF B 600
R 3,600 |5 NBH 500 |fF A ABE 1,200 | =g 3,600
(VNG| 4,200 |15 R 4,800 [fFAABHE 1,800 |1S AR 4,800
=HIE 3,600 |15\ 5H 500 |3 ABE 12,000 |52 500
(VNG| 200 |F AR 6,600 [FFAA\BH 4,200 [ ABHE 2,000
s 4,000 |15 R 500 |#5A2ABE 300 |EEE 1,200
[(eVANG| 3,600 |5 NBH 1,600 |=f%— 2,100 [F5ARABH 1,800
IS 500 |5A AR 4,800 | = EZR 6,000 |15 B 2,000
ESanied 3,900 [ &4 500 |fF A ABE 3,600 |15\ B 500
Eroanii 500 |EEBIZE 4,800 [ ABHE 400 |5 ABH 3,600
(eANG| 300 |[f5A LB 1,600 |#5A 2B 14,400 |15\ B 3,600
AN 600 |5A A6 3,600 [ N6H 4,800 |54\ BH 4,000
Eebil 300 |[f5ALNBH 500 |#5A Ak 1,200 |5A Ak 500
(NG| 2,000 [ERKE 500 |#5A Ak 4,800 |15\ BH 2,000
(eANG| 3,600 |54 A6H 9,600 |54\ BH 500 |52k 600
E b 7,200 [ AR 4,900 |15A2\BH 400 |5 AEH 500
(NG| 1,800 |B5A A6 500 |#5A Ak 2,000 |15\ B 500
wIESY 3,900 |54 A6H 3,600 [ N6H 300 | & HERA 2,100
[SANG| 4,800 |#5A2NBH 500 | & ERR 3,400 |15\ B 300
[N 2,400 [{5AA6H 1,800 |#5A 2B 500 |BA AR 3,600
[N 2,000 [EFKEE 2,000 |15 B 9,800 |15\ BH 500
[N 600 |5A B 4,500 |[#5A2NBH 300 |[f5A B 4,800
w2 g 2,800 [{5AA6H 500 |#5A AR 7,400 |54\ BH 600
=R 3,600 [f5AA6H 500 |#5A AR 500 |BA AR 3,600
[SANG| 500 |B5A AR 500 |EEHE 1,500 |&8 9,000




Gl S it X it X it o
[N 2,000 |f5A 4N 500 |5AABHE 500 |FAABHE 500
{SANG| 2,100 |f5A 4N 500 |5AABHE 500 | B 900
[N 500 [E=FETT 800 |15-A B 400 [5G 800
{SANG| 3,600 |f5A 4N 500 |5AABHE 500 [=E & 2,200
[N 500 | =% 5,600 |15A VB 2,000 |15A 4B 4,400
[N 500 |5A B 4,400 [15A VB 4,000 |[15A 4B 500
(oA 500 [fFA 2B 500 [fGAINEH 3,600 |f5A 2 BE 8,000
A EE 3,200 |[15AABE 2,000 |54 2 FE 500 [FEAINEH 6,000
A B 4,000 |F5A 2B 500 [fGAINEH 400 [F5A 2 BE 500
A B 6.000 |15 \BH 4,800 |54 N6 1,800 |{5-A B 500
A B 1,500 [F5A 2 B 6,000 |54 2 Fd 500 [FEAINEH 500
(oA 500 [==ZEA] 500 [f5A 2 B 2,400 | =308 3,000
{SANG| 300 |[fSA B 500 | = A 14,300 [f5A B 2,000
{SaANG| 1,200 |f5A 2B 500 | E=EHr 4,300 %K“Eﬁ 2,000
{Sa/ANG| 2,100 |f5A /N 500 | AT 4,400 |EEEETE 4,800
=T 400 |FFA B 2,200 [FFAANFH 15,000 |[{5A 25 2,000
{SANG| 300 |=ES 3,600 |EfiE 6,000 | fEtfE 2,500
A NEE 3,000 | EET 3,000 |EtE= 400 [5ANFE 3,000
SAEE 4,800 |54 3B 2,100 |E=0fa 7,200 |54 B 3,600
SAEE 4,400 |54 B 300 |f5A 2 B 500 {542 FE 1,600
SANEE 2,800 [F5A 2 BE 1,500 |Eifi4i 3,600 |f5A 2 B 500
A NEE 500 |54 FE 500 |[f5A 2 B 500 {542 FE 1,500
A NEE 900 |54 2 FH 500 |54 2 B 500 {542 FE 500
A NEE 1,200 |[{5-ANBH 2,000 |54 2 B 2,000 |54 BE 500
SAEE 8,000 [f5A 7/ BH 500 |54 2 B 300 |54 2 B 3,200
SANEE 3,600 [F5A 2 BE 4,800 |54 B 500 |42 FE 4,400
[CaANE? 1,000 |f5A /1B 500 |[f5A 2 B 4,200 [F5ANFE 500
(CaANG? 6,000 |54 FH 500 [fFAINEH 1,200 |{5-A2NBH 500
B2 800 | =3 4,800 [fFA 2 B 2,700 [FFANBH 3,600
[N 3,600 |FFA N 1,500 |5 ABH 500 | =RE%S 1,800
T 800 | == ELE 3,600 |FFA B 500 |15 ABHE 500
(CaANG? 2,800 |54 B 1,800 |15-A 3B 500 [FFANEH 4,800
(CaANG? 2,000 |54 B 500 [fFAINEH 500 [FFAINEH 900
(CaANG? 9,300 |54 B 2,400 |54 BE 500 [F5AINEH 3,000
R AR 4,800 | B A5 7200 |EF AR 300 [ B 500
Sl 500 [EF AR 7200 |EF AR 2000 |EpEZ 3,600
BB 2,400 [ /5] 600 | /5 1,000 {9 /5B 500
RN 2,000 |97 5y 6300 |{ /A 500 [/ /A 3,600
EBRAH 900 {5 /3B 2,700 [ /AB 500 | fe e 4,400
BRI\ 2,000 |55 Ei5E 5,000 [F5ANBH 500 [{SA B 500
ERRT 1,200 |5/ R 4,800 |=HER 3,200 |51 2,000
RN 1,800 fﬁﬁBE 3,900 | B4 500 |FFA VB 500
ER N 2,800 |15 F 2 B 4,800 [F5AINFH 500 [{SA B 4,800
ERRT 8.000 |15/ B 900 |5 /AEH 3,600 |[15-AABH 500
ERRE 500 1B, E 500 | Sty 1,200 |55 4,600




Gl A Eaii AH 4 B0 G2l HH
[EANE3 2,700 |15 ABE 1,800 [F5A 2B 500 [FAINEH 500
m,ufiﬁ 4,800 | = AL 2,700 |15-A 4B 10,000 |[{5A 25 5,200
=Vl 4,800 | = AL 2,700 |15-A 4B 8,800 | A B 800
L 2,800 |EAME 3,600 [fFA 25 500 |=E= 3,300
AR 1,200 |f5A 2B 500 |FA B 3,000 [FFA2NFE 3,600
ElNin 7,700 [EHAREE 3,600 |E= DT 2,000 [FFA2 B 1,600
=vliiliZ 500 | ABHE 900 |f5-A 3B 600 |[{5-A 2 FE 3,200
A EE 500 [F5AINEH 500 |f5A 2 B 1,000 |E=d=E 500
A B 12,000 [F=EHE 2,400 | =R 2,400 |5 AP 2,700
A B 500 |k 3,300 {5 A2 FE 500 |[f5-A 2 FE 800
A B 500 |[F5AINEH 500 |f5A 2 B 6,000 |5 AP 1,000
5o 3,600 |15-AABE 500 |EhtEE 500 {542 FE 500
A B 500 |[f5AINEH 3,600 |{5-A 2 500 {542 FE 1,000
FANEE 500 | =A% 2,000 |{5AABE 500 |fFAINEH 4,000
=bok= 4,800 |E 3,600 {51 B 500 |EEEE 1.500
A B 9,000 |FFA 2B 1,800 [s=HEEH 3,400 |5 ANFE 900
A B 1,800 [F5A 2B 500 | AfERHE 3,600 [ AP 2,000
A NEE 500 |54 FE 500 |54 B 4,800 [FFANFE 500
SAEE 500 |54 FE 2,000 [F5AUNFE 3,000 [F5ANFE 4,800
SAEE 900 |E %k 2,100 [F5AUNFE 1,200 |f5A /1B 5,400
BT UL 3,200 |56 2,000 [FFAUNFE 2,000 [F5ANFE 300
A NEE 500 |54 FE 1,500 [f5AINFE 3,300 [F5ANFE 4,800
5175 U] 1,500 |f5A /1B 6,200 [F5A B 3,300 [F5ANFE 8,000
A NEE 500 |54 FE 3,600 |{5-A 2 G 500 |t 3,000
SAEE 1,200 [=HRT 3,900 [#5F 3,600 |f5A 2 B 500
SANEE 4,800 [F5A 2B 9,600 | E= 2= 1,200 |f5A 2B 3,300
SANEE 4,800 [F5A 2B 900 |54 B 2,000 | Bl 2,100
BANEE 4,800 [FERE 300 |54 B 500 {542 FE 4,400
[N 3,600 |EEE i 3,600 |fFA VB 6,000 |15-A/NBH 2,000
BANEE 500 |t B 500 |EAET 900 |42 FE 500
BANEE 500 [=ZEIT 4,000 [FFAINEE 3,600 |E5 {5 2,100
[N 3,200 |E=0RK 1,800 [F5A 2B 2,800 |[15-ANBH 600
[N 500 [FFA B 3,600 |fFA VB 7,500 |EZE+ 9,000
[N 7,200 |[{5A B 800 [=ESL 500 [F5AINEH 4,800
[N 2,100 |[{SAIBH 400 | RV 2,400 |[15ANBHE 500
[N 2,700 |[{SA LB 500 |EEUH# 3,300 |[15-AABHE 900
b 4,000 [F5A B 2,400 |[15A B 2,000 [FAFEE 500
(CaANG? 500 |t B 500 |54 B 900 |42 FdE 3,000
Vs | 500 |t B 2,000 |=HGE 500 {542 FE 500
(CaANGz 2,000 |{5-A43FE 2,000 [FFAINFE 500 [FFAINEH 2,000
ERRT 500 [1ER B 4,800 |[{5AR /AN BH 4,800 |5 ANBE 3,000
EPACT 500 [EFR B8 500 [BR B 3,600 [5G 1,800
(AN 1,200 [f5A 3B 500 |EAEHT 600 | A BB 600
B 3,000 |1FAINBH 500 [FFA B 100 |[15AABH 3,600
R 3,600 |5 /\EE 500 | Bt 500 |52 B 500




Gy B EaliE B i HH i X
AN 400 [F5AABH 1,800 [f5A /B 500 {542 B 500
e AN 500 |5 ANBH 2,400 |15\ 500 [ SR ARAE 400
A 1,800 |5 AN 500 |E=ER 600 |51 B 5,400
A 500 |5 2NBH 1,500 [f5A /B 3,600 |52 B 2,800
A 3,000 |52 B 2,000 [f5A2NEH 500 {542 B 1,200
A 500 152 B 400 | E5%H5E 3,600 |52 B 3,000
AN 4,000 [FEHEF 500 |54 AR 500 |[{5A 2 B 4,000
AN 3,600 #5235 2,000 [F5A2NBH 500 [{5A 2 B 300
Eibaia) 4,800 [f5A /B 3.600 [FFAABH 1,800 |{BFAFRAE] 4,200
AN 2,400 |E5{E 1,200 |15 NBH 500 |[{5A 2B 3,300
EHE 2,400 |15 /ABH 12,000 | BETS 4,800 [#rtfETRARAT| 3,700
(SANLE 500 |52 3.300 [FFAABHE 500 |[{5A 2 B 5,600
R 3,600 [{5FR/A\BH 1,500 |- AR A\BH 1,200 |itmsmriemse e 4,800
EAND Y 3,600 |55 500 |EEEsE 4,400 |5 ANBH 1,000
AN 1,600 |f5A /A B 2,400 | 3,600 [f5A2NFH 2,400
FA AR 900 |54 B 8.000 [FFAABH 800 |54 AR 2,700
FA AR 3,600 |52 EH 900 |54 B 3,000 |5 2NBE 5,600
SR AB 11,600 |f5A /A B 3,600 |54 B 600 |HiiAARAE 2,400
SEHH 12,000 |f5A /B 4,800 [FEEFF 4,800 [F5A/NBH 3,200
EAR B 500 |[15A B 3,600 |{5A 4 B 3,000 [f5A2NBH 4,800
BRSNS 3,000 |15/ \B 4,800 |Ea=s 1,200 [ (e egmmamas 3,000
wlaHE 3,000 [FFAABH 3,000 |52 B 2,000 |52 BH 2,400
SR ABH 3,300 | HE T 7,200 |EEE5E 2,100 [f5A2NBH 2,400
wlGEE 2,700 [FFA B 500 AN 800 |[fFA B 4,500
TR LB 3,600 |5t 4,800 [f5A/NBH 500 [1SA B 4,800
TR AR 3,600 [FFAABH 800 |15 BH 4,200 |5 A5 4,400
TR LB 1,600 |E b 3,600 |52 B 3,600 |52 B 4,000
T EE 4,800 |E=dpifiE 500 |EapEl 1,600 |F5A 2B 4,400
FA LB 1,700 [E5526H) 900 [EHEH 3,600 |f§A /3B 500
FA LB 1,600 |fF5A B 2,000 |1§A 3B 600 |f5A 2B 2,800
FABE 1,500 |54/ BH 500 AN 6.800 |FFA/NBH 3,600
BB 3,600 |54 /B 2,400 |54 /B 2,400 |54 /B 4,800
ARG 8,000 |54 B 500 |E=ERE 3,000 5T 3,600
FABE 500 |15/ B 2,400 | IEH 1,500 |#5 T2 600
(AL 2,400 |15 5B 1,200 |36 4,800 |13 /A 8,400
FABE 4,800 [F5AINBH 500 AN 4,800 |5 ANBH 500
(SaANE] 4,800 [F5AZNBH 4,800 [FFA/NEH 600 A2\ 4,400
SR B 1,000 [f5AZNBH 600 |[FFA /B 1,800 |f5A B 500
BRI 2,100 |EHISE 900 |EIETE 1,200 {54 2ABH 3,600
BB 1,200 |8 /1B 3,600 |5 255H 500 |5 oa b 3,600
ERRT 2.400 |15/ B 2,000 [5R /A B 3,600 [FFAANBH 800
ERRT 1,500 |5/ R 500 |5 B 500 [FFAINEH 4,000
EU/AYN 2,700 |54/ B 500 |BAABE 10,800 [f5A /B 400
ARG 2,100 |f5A 2 BE 500 |15 ABH 6,000 |5/ B 2,000
ARG 500 [FFA /B 6.000 [FFANBH 3,600 [f5A/NB 500




21 S 21 S g G S
EA B 2,000 [f5 K /\BH 2,700 | 3,600 |[#5FHEL 3,600
EA B 5,000 [f5R/ABH 3,500 2,000 |5 /NBH 5,200
EA B 4.800 |ERE 12,000 500 [ /ABH 2,800
{SANG| 1,800 [f5A/3FH 6,600 500 B3 00E% 500
EA B 500 [f5A/ABH 1,000 500 [ /ABH 3,600
EA B 500 [f5AR/ABE 500 300 [#5000E 3,600
{SaNANG| 3,300 | 2,400 2,400 |54 B 500
A NG 2,400 (5 /\BH 500 2,000 |15 £ 1,200
= 3,900 [EHE 2,000 300 [#5-0E 400
= 300 [EHTT 4,200 12,000 |45 H#% 3,600
EEAGE 500 [{5A 2B 900 400 |f5-A 2B 200
(AN 3,600 | RS 2,000 6,600 [{5-A /B 500
LA 4,700 |5 ABH 1,800 4,800 |5 AUNBH 3,200
A NG 1,200 |5/ B 3,200 500 |5 ZABH 2,000
N 600 [EFR 2 B 4,300 2,700 | #5513k 500
) 4,800 |15 /ABH 5,400 2,000 |54 INBH 4,800
AT 500 | &S 2,000 400 |{5A /3B 3,600
AN 3,000 |E3HES 500 4,800 [#5PU4E 300
AN 5,400 | &K 500 3,600 |fFA /B 300
AN 1,200 |15/ B 500 2,300 |#5FF 4,000
R 3,600 | A 2\5E 500 | 4,800 |54 INBH 4,800
AN 4,800 |15 NEE 400 500 |fFA B 500
BN 2,000 |54 2\5E 500 500 |[#ET 2,800
Bi{EEE 1,500 [543 2,700 3,200 |15 A /A 500
AN 1,200 [15R /A 500 500 |f5A B 3,600
wHRE 1,600 |15 ZABH 2,000 500 |52 B 500
(YA 4,800 |5/ B 500 500 |55 1,500
TR 4,800 |f5A3BH 500 500 |34 71fi] 1,000
AN 2,000 |15 K256 300 500 |[{SA 2 B 500
Gl 500 |5 A5 500 2,000 |f5-A~ /B 200
RN 2,400 |15AR/NBH 500 3,600 |52 500
EPACT 6.400 [/ B 2,400 2,000 |15-ANBHE 500
ERRT 600 |5/ Ed 4,000 4,300 |FFAABE 4,800
FAAB 3,600 |EEiHIEE 500 500 |52 B 500
BN 500 |E=HEE 500 500 | ABE 1,200
= Giisiss 3,700 |EEiIEE 500 6,000 |45 [E5 1,200
ERRT 1,600 |5/ B 4,800 3,300 [FFAABH 500
RN 2,400 ﬁ:/T\ NG 500 3,600 [FFANBH 5,600
EPRT 2.000 |15/ B 2,000 9,100 |51 2A\Bd 1,500
ELHE 2.400 [ /B 12,000 4,800 |5 /A 3,600
1SR 1,200 |#5- A 4,800 4800 [+ 3,000
R 4,800 |shiEs 1,200 1,600 [f5A 2564 4,000
=k 2,000 |ERER 3,600 4,400 |54 NBH 1,000
BB 500 {51 /B 400 800 |5 23f 200
EHERTT 1,200 [BF /B 3,300 800 [fFA /364 900




Bl XA B! B Bl B Bl B
SR 900 |f5A 2 FH 1,800 [f5-A B 500 |FAABHE 3,600
S AR 300 |5 2B 500 [F5A B 500 [HEsE 3,200
HET 3,000 [5G 500 [fSA A6 500 |54 3B 2,800
S AR 11,000 |[{GA B 400 [FAAFHE 500 |F5A B 500
ExboNed 1,600 |54 /3B 12,800 |f5-A A B 3,600 |52 B 1,200
SR 600 [ A/3FH 500 |F5A 3B 2,400 |15A 4B 500
FA L 500 [ BH 500 |fFAABHE 12,000 |55 & 3,600
(CANLz 1,200 |f5A /B 500 |54 AR 3,600 #5752k 500
FA LB 500 [N BH 3,600 | AN 800 |fFAABHE 3,600
SN 3,600 |f5A 2B 2,700 |15-A 3B 2,400 |54 500
FA LB 2,000 | =B 2,400 |15A 3B 6,000 |54/ B 500
E=Uiaton 300 |5 2B 4,200 |[{5ANFH 4,800 |15-A4NFH 500
{SANG| 2,800 |f5A 2B 4,800 |15A VB 7,200 |[15A4NFH 3,600
FA LB 500 [N BH 6,000 |15-A 3B 500 |15 ABHE 500
{Sa/ANG| 1,600 [f5-A3BH 500 |fFAABHE 4,800 |15A4NFH 500
FA LB 2,800 |EEH = 1,200 |f5AABH 4,200 |[15A4NFH 500
S ABE 1,900 [FEGME 4,800 |EVHZE 1,200 [f5AAFH 3,000
(SRANG| 600 |fFAABHE 1,200 |fFAABH 500 |15 ABHE 4,800
[ AN s 2,100 |EBEFE 4,800 |'E Il 4,400 |2 4,000
il 3,200 |#EAZE 2,000 [5A2NBH 2,500 |2EF 6,900
FA LB 500 |fFAABHE 3,500 |FFA B 1,800 |fFAABH 500
SN 500 [fFA B 7200 |erssmmaras| 4,800 [(BARNG 10,000
(SN 9,000 |5A 2 B 000 |[smsemmmemamas| 22,400 |[FBAR NG 500
BrE 4,000 (5B 4,000 |5 23 5 1,800 B4 2,700
[ AN s 300 |t5A B 3,600 |4 EEA TR H] 4,400 |2Fi 4,000
b 1,600 |fFAABHE 1,800 |4EEEIPRIRAE]] 3,000 |[{5ALNFH 3,600
FA LB 9,600 [FFA 2 B 4,000 |1GA B 4,000 |2EFEE 4,400
(VANi 2,000 |EEZkRE 500 [5G 1,600 |5 /5B 1,800
FA LB 500 [5G 500 |fFAABHE 900 |2 500
it 1,800 |A /A5 500 [f5AL B 1,600 |25 4,800
155k 4,000 |EEZ B 7.200 |f5A 2B 4,800 [f5A /B 6,000
BAAR 1,800 |f8A NG 4,000 |15 /A B 4,800 |15 1B 3,600
¥V /NG| 3,000 |15 2\FH 500 [|zevmammsenEmEs: 4,000 [15AAFH 500
¥ /NG| 4800 |EEERIR 500 [z mrambescm s e 4300 |25E 1 4,000
A 7,200 [ ABH 3,600 |memrimmmamnmasn 4,000 [ AEH 2,700
%5 %= 3,000 [FESgE 500 |BAABHE 4,800 |F5A 2B 1,800
[ dAN G 1,600 [f5AAFH 4,000 |54 B 4,000 |F5A 2B 500
R 1,800 |fF5AABH 1,200 [rmmensmmmms s 4,000 |F5A 2B 1,800
(SaANG| 500 [5G 500 |fFAABHE 900 |15 ABHE 500
(SaANG| 1,200 |15 A6 3,600 |F5A B 10,000 [f5A /2B 2,700
15E 3,600 |F5A N 500 |fFAABHE 600 |ZEE 500
15 A-HE 500 [5G 1,200 |15 ABH 1,200 |15 ABHE 300
R EE 1,800 [f5A B 1,800 |5-A 2B 2,400 |15 /3BH 500
(SaANG| 3,300 |F5A N 3,600 |F5A B 5.400 [F5AANBH 500
FA LB 3,600 |ZERE 500 |B5A 2B 500 | FBA B 3,200




g S| B2 x| B x| s S|
G AGE 9,600 |15/ B 3,600 |[#5A A 2,000 [f5:A A6 1,500
LIV 4,200 | BT 8,000 |ZEFHIE 1,200 [f5AA6H 3,300
BANE 12,000 [EERKZE 3,300 [fFA B 4,000 [ A6H 500
BANE 400 |56 2,400 |HES21E 4,800 | S22k 1,200
[N 3,000 |56 3,600 |EnmpesraR A= 1,600 |[f5A 2B 3,600
BANE 500 [EE45 3,600 |88 -2 2,700 [N 3,200
RS 4,000 |15 A5 2,000 | T&H 3,300 [ A6H 1,800
BHANE 2,300 |BEHTS 500 | AT 0,000 |ZHREAT 7,200
S AGE 800 |56 3,600 |f5 A AGF 3,600 |4 23FH 500
BANE 1,000 [EEIH 3,500 |5/ A 2,000 [ 1,600
1575 5 3,600 |f5A2ABd 600 |5 ABH 2,400 [ 600
S AGE 500 [fEANBHE 2,700 |81 4,000 |FFA 235 2,400
S AGE 2,000 |#5A /N 3,600 |£5AAGF 3,000 |FFA 235 500
S AGE 500 [EEHEES 2,400 | B35 4,800 |FFA /35 500
BANE 1,200 [EEHESE 1,300 [ A6H 500 |EA A 800
BHANE 2,100 |f5AABd 3,200 |#E 17 1,200 |BifE= 1,600
A AGE 2,000 |EEHEE 500 |B5A 3B 500 [fFAABHE 3,000
SN 4,600 [f5A 2B 6,000 |53 2,400 |55 /35 500
[CaaANGi: 4,400 [EEFER 6,000 |53 500 [fFAABHE 500
[CaaANGi: 2,000 | £ 36 500 |B5A 3B 2,700 |55 36 13,000
BN 2,000 |54 36 1,200 [f5AAFH 2,000 |BEE 4,300
SN 400 [FA B 1,200 [f5AAFH 3,800 | &R REE H 2,400
SN 500 [fFA B 400 [FA B 2,700 |55 36 4,800
YEER 1,200 [f5A 2B 500 [BEEAL 4,800 |35 1,000
[CaaANGi: 600 |5/ B 6,000 |53 500 [fFAABHE 3,300
BN 2,100 |54 /36 6,600 | B4 /35 4,800 |35 12,000
Y R 1,200 [f5A 2B 3,300 |f5AH A 3,700 |55 36 500
[CaaANGi: 500 |54 500 |B5A B 500 [fFAABHE 2,400
BFANE 1,900 |15 0B 2,400 [ AEH 6,000 [f5AA6d 6,000
SR A 2,100 [f5A B 12,000 [#HpRE 500 |ZEEE 3,000
HFANE 1,500 |f5A 0B 4,000 |5 AEH 3,900 2Bk 3,600
SR A 500 |54 4,800 |BIEEE 3,600 |55 /NF 500
SR A 500 |54 500 [BEFCES 500 [fFAABHE 3,600
[CaaANGi: 4,800 |52 B 100 |GG 400 |5 2B 500
M 900 |54 /25 2,000 |05 2,000 |26 300
FANE 2,000 |FFAABH 4,800 |5~ 4,400 |5 A6H 3,600
HEE 3,600 |fFAAGH 4,800 | BHEER 2,400 [f5AA6d 3,600
SR A 3,600 [f5A B 500 |B5A B 7,200 |50 3,600
GAAB 2,000 |BEEHER 1,000 |5 2B 4,000 |15 2NFH 7,200
B NG 3,900 |fFA G 2,000 |5 A B 2,000 |3 B 500
GAAB 500 |54 5,100 [f5:AAFH 4,400 |f5AH 3B 1,800
GAAB 500 |54 3,200 [F5AAF 3,600 ({54 /B 4,500
B NG 500 |FFAAGH 500 [ 1,500 [f5AAFH 4,800
AR 10,000 |56 3,600 [f5A A 3,000 [f5:A A6 9,600
GAAB 2,800 [f5A A 500 |54 A6 3,600 [f5:A/ABH 500




1 B B B 471 X 1% &
B 1,000 |#5AR 2 B 3,600 [BHZEE 3,600 | B 6,000
SR 500 |15 ABHE 500 |15 ABE 4,000 |15\ B 1,800
SR 500 |BEREE 500 |15 ABE 500 |BI¥EEE 6,000
SARNG 500 |15 ABHE 500 |15 ABE 6,200 |15 \B 500
SR 500 |15 ABHE 500 |BEME(R 1,600 |#5A 2B 1,800
SARNG 7,600 [FFAR B 500 |B4ERTT 4,000 |15\ B 2,000
[ANG:| 500 |#5AR 2 B 2,400 |15 A\ BH 4,800 |15 A N\BH 1,400
[VANG:| 2,100 |52 BH 500 |S A ABE 6,000 |15 A 2\BH 4,800
BZEE 500 |15 ABHE 500 |8 ABE 500 |ZEEs 500
(e 4,800 [FFEE 600 |3 B 400 |5 A AFH 500
[ANG: 4,800 |5 ABHE 2,700 [BEFERE 500 |18 ABHE 4,800
[ANG:| 1,800 | BER 1,000 |#5A2ABHE 4,000 |{5A\BH 500
[VANG:| 500 |#5AR 2B 3,600 [ /A6H 2,000 |ZIEEH 3,600
[VANG:| 800 |5 ABHE 500 |8 ABE 14,400 [fF A6 3,000
[VANG:| 1,800 |5 ARABHE 300 | B 6,000 |15 A \BH 900
A AGE 600 |55 5 RIS AR A 1,200 [ES{ELF 1,200 ({5 AN FH 500
IR 1,000 | E1eE 11,400 [f5A A6 2,000 |BIEEZE 2,000
A=) 5,000 |15 5H 2,800 |15 AL\ BH 500 |8 ABHE 7,200
S5k 600 |1 S ABHE 3,600 [f5A2N6H 500 |8 ABHE 1,000
(VNG| 1,200 |[#5A 2B 2,000 |15 A2 B 400 |BIREEE 500
[eVANG| 7,200 |54 25 12,000 [fSA A6 500 |8 ABHE 500
[(eVANG| 500 |F AR 2,000 |15 B 1,500 |#5A 2B 500
(VNG| 500 |F AR 900 |15 ABH 3,000 |15\ BH 3,000
(VNG| 6,000 |54 25 7,200 |15\ B 4,800 |15\ BH 500
BEA 500 |F AR 500 A 500 |8 ABHE 9,000
[eANG| 4,000 [EESF 4,000 |[#5A2\BH 3,300 |15\ BH 3,600
[(eVANG| 800 |fF Ak 3,600 [f5A2A6H 600 |15 ABHE 4,000
(eANG| 500 |5A AR 500 |efEEE 4,500 |BEEIH 3,000
N 500 |5A AR 500 |EEAS 3,600 |15\ B 9,600
(NG| 500 |5A AR 300 |fF A ABE 500 |18 ABdE 2,000
(eANG| 500 |EEE 1,600 |#5A 2B 12,000 |[#5A 2B 500
(eANG| 11,000 [/ 6 3,600 [ N6H 4,000 |t 900
PSHEE 2,000 |54 A6H 3,600 [ N6H 4,000 |54\ B 2,400
(NG| 3,600 [EE=H 500 |84 B 4,800 |15\ BH 1,000
(eANG| 500 |5A AR 600 |15 ABH 500 |8 ABdE 500
(eANG| 2,400 |[E &S 400 |15 ABE 7,800 |54\ B 4,000
BHET 4,000 [ERKH 5,700 |15\ BH 3,300 [EHEARARAT] 3,000
AN 3,300 [{5AA6H 500 |fF A ABE 500 |8 ABdE 4,800
[SANG| 1,200 |55A A B 3,600 [N 900 | S EAERAE] 1,200
B 2,700 |15 6 6,000 [B5EZ 3,600 |15 A\ B 3,300
[N 500 |B5A AR 2,000 |15 B 3,300 |15 AN\ BH 10,000
IHEE 400 |F5A AR 7,200 |15\ BH 3,300 |15 A\ BH 2,400
[N 500 |B5A AR 3,600 |EFEEE 1,800 |FEAHEARAT] 5,000
[N 500 |B5A AR 1,800 |#5A 2B 4,800 |54\ BH 7,200
[N 500 |[FE4UE 10,300 [sedEmsmaman| 3,600 [E@EpEEamas| 4,800




1 B B B 471 X 1% &
[SANG:| 500 |15 ABHE 2,400 |15\ B 500 | B 2,400
e 3,200 |52 BH 3,000 % S 3,600 |15 A \B 3,600
[SVANG:| 10,000 [N 3,600 |5A 2B 1,000 |#5A 2B 4,800
[SVANG| 6,000 |5 R\ BH 500 |15 ABE 500 | FE 600
ol 1,200 |15 ABHE 500 |15 ABE 1,200 |#5 A2 FE 6,000
[VANG| 3,600 |F5R2ABH 500 |57 3,600 |15 A \B 2,000
[ANG:| 800 |5 ABHE 2,000 [FFAABH 2,100 |15 A2\ F 500
BEE 3,300 |15 2N6H 3,600 |BEZREE 3,600 |15 A N\BH 6,000
[ANG:| 600 |EFfEER 3,200 |£5AN\B 3,300 |5 A A\BH 500
N 800 |[fEAABHE 4,800 [ A ABH 1,200 |#3r = 500
[ANG: 3,000 [EEEEL 7,000 [B—% 3,600 [F5AANBH 500
[ANG:| 9,600 [FFAABH 2,400 [ ABH 2,400 |5 2A\BH 7,000
[VANG:| 3,300 |55R B 2,000 [FFAABH 5,000 [ A\BH 500
[VANG:| 4,800 |5 ABHE 1,600 |{S /AR 2,400 [ ANBH 500
[VANG:| 6,600 |5 R\ BH 500 |F A ABE 4,800 [FFAABH 500
(NG| 1,000 |5 ABHE 1,500 |81 2& 3,300 |5 ANBH 2,400
[ANG: 3,600 |55 BH 3,900 |£5 AN 1,200 |BRSEES 6,000
(VNG| 2,000 |ZEgEk 12,000 |8 W &= 2,400 |BRES 4,800
(VNG| 9,600 [FFA /B 900 |15 ABH 8,400 |15 A/ BH 500
(VNG| 4,800 |5 R 3,300 |15 2B 7,000 [ ABH 4,800
[eVANG| 2,000 |5 NBH 2,800 [ A ABH 4,800 |ERRkSE 5,200
[(eVANG| 500 |F AR 2,000 |24 3,600 [FFAABH 500
(VNG| 500 |F AR 400 |15 ABH 600 |15 ABHE 3,600
(VNG| 300 |[15AR 2B 500 |fF A ABE 500 |8 ABHE 1,800
R 5,400 B0 4,800 [fFAABHE 4,800 [FFAABH 900
[eANG| 3,600 |5 NBH 3,600 |15 BH 4,000 [FFAABHE 3,000
[(eVANG| 500 |#5A2ABHE 2,000 [ ABH 900 |18 /ABH 3,000
(eANG| 6,000 |54 A6H 500 |fF A ABE 1,800 |FA 2B 4,000
(NG| 4,000 |[#5AR 2B 4,000 [ ABHE 2,100 [ AR A\ BH 500
PR 4,800 |#5AR2\BH 500 |fF A ABE 500 |18 ABdE 3,000
(eANG| 2,700 |EAnsh 800 [FA B 900 |15 /ABH 2,200
(eANG| 600 |5A A6 3,000 |15 B 4,800 [FFAABH 5,000
(eANG| 500 |5A B 6,000 [FFA2\BH 7,000 [ BH 2,000
I HGE 4,000 |[#5AR 2B 500 |fF A ABE 600 |ERFZEEZS 11,800
PR 500 |5A AR 500 |fF A ABE 3,300 [FFARABH 2,000
P 500 [BFA B 500 |BIFE2% 1,800 |EXF5 g 12,000
(NG| 1,600 |EFHE 500 |fF A ABE 500 |18 ABHE 500
(eANG| 500 |5A AR 6,600 [FFA2\BH 400 |5 AEH 3,600
[SANG| 4,000 |[#5AR 2\ BH 4,400 |B.0055 800 |EFE 8,000
[N 300 |[f5ALNBH 3,600 [N 3,600 |15 N\B 4,200
[N 3,000 [EE# 600 |#5A B 3,600 |15 A\ B 9,000
[N 2,800 |EsHE, 500 |B5c 2 4,800 |15 \B 4,800
e 500 |EEE 500 |#5A AR 3,200 |15 AN\ B 3,000
[N 3,600 [f5AA6H 1,800 |#5A 2B 800 |f5A Ak 4,800
[SANG| 500 |EZEH 3,600 [N 4,000 |54\ BH 1,800




T XA T B Eali) B T B
[ AN s 3,000 [f5AABH 4,800 |t 3B 2,000 |F5A 2B 2,000
{SANG| 3,200 |f5A 4N 1,200 |5 ABHE 500 |F5A B 5,400
RN 500 (A BH 500 [0k 2,100 &Pk 500
{SANG| 4,400 |15 A AFHE 500 |18 ABHE 9,600 [FFA2\FH 800
B 3,200 [f5:A B 6,000 ({545 500 [fFA B 4,800
[N 500 |5A B 500 |5AABHE 4,800 |15-A 4B 500
{SaNANG| 500 |EARE 2,100 |2 K2 500 |fFA2NEH 3,600
[ AN s 500 |Elg = 2,400 |B[EE 3,600 |F5A 2 B 300
BiE%E 3,600 [EIRE 2,400 |F5A B 2,000 |f5A 2B 500
{Sa/ANG| 500 |EZL 3,600 | A2 500 |fFA2NEH 1,800
5 900 |f5A 2 B 9,000 |2EH4c 2,100 [F5AANFH 500
{SaANG| 4,800 ({5 B 2,400 [FFAFHE 1,800 |f5AABHE 500
{SANG| 4,800 ({5 B 500 [F5ABE 1,000 |f5AABHE 500
[ AN s 4,800 | B H 500 [2TR5R 3,300 |5 2B 4,800
[ AN s 600 |54 /3B 500 |2 Hif 1,300 [&le2 3,000
{SaANG| 1,600 |f5A 2 5.400 [FFAANFHE 4,400 [FFA B 4,000
(livizal 3,000 | M 4,900 [FFA 2 B 1,800 |f5AABHE 1,100
(SRANG| 1,200 |E{#AE 2,400 [FFAABH 3,600 [FFANBH 4,800
[ AN s 4,800 ({5 B 5,400 |2[7K%H 3,600 7&K 2,400
(SaNANG| 900 [fFA 2 B 4,200 [FFA 2B 5,100 [FFAAFH 600
BT 4,800 [EFEFL 7,200 [FFA2NBH 1,800 |fFAABH 2,700
(SRANG| 1,800 |fFAABHE 500 |54 B 12,000 [f5A /B 500
(SRANG| 11,000 [F5A B 500 |54 B 500 |fFA2NEH 3,000
(SaNANG| 500 [fFA2NEH 500 |27 500 |fFA2NEH 300
(SaNANG| 1,800 |fFAABHE 2,000 |217— 1,000 |f5AABHE 500
(SaNANG| 500 [fFA B 1,200 |f5AABH 1,600 [(BZ= 1,800
[ AN s 1,200 |EHEEE 4,100 |55 2,000 &L 300
S 500 |EHERT 5,000 |F5A 2B 4,000 |F5A 2B 500
% 3,300 |5 B 900 |f5A 2B 3,600 |54 2B 500
[ AN G 1,500 [f5AABH 500 |BAABE 3,700 |54 3B 2,000
[ AN s 500 [EHLZE 500 [BEA 3,600 |54 2B 4,800
[SaANG| 500 |15 ABH 300 |fFA B 4,800 VEEE 4,200
[ dANGis 1,600 [f5AAFH 500 |BAABHE 500 VEEUE 2,100
EEA 500 [{E /5B 400 |3 /AR 1,800 {5 /5B 600
AR 4,800 [/ 500 {3 /5B 500 LA 1200
R 800 |7 A 200 [ /A0 500 @D 12,000
BB 500 [f5 R /5L 500 |57 /A5 2.000 [EAE 4,800
BEE 4,000 [{5A /A B 2,000 2175 5,000 |5 235 500
R 6.800 |5/ 500 |3 /B 500 [E /5B 11,000
(SN 500 [5G 2,700 [FFA B 500 |15 ABHE 500
FA LB 2,000 |EREM 4,800 |tGA /B 1,800 |f5A 2B 500
B2 4,800 |5/ BH 3,600 [f5A 235 2,400 |15 /3BH 3,300
N 1,800 [gmeeastmenn| 3,000 [(BARARH 500 |72 2 [#] 2,000
(SN 2,800 |F5A N 6,300 [FFA 2/ B 4,800 [fFA B 3,600
FA LB 3,600 |5 B 2,700 |1SA 3B 500 VEE 800




B4 SHH B2 S B X s S
G AGE 4,000 |[#5A 2B 4,800 |15 2\BH 400 [5G 500
[ aaANGis 500 [FEANBHE 1,800 [BIF 3,900 |54 /35 500
BANE 500 |5 ABH 700 |56 2,000 [ 4,800
[ aaANGis 1,200 |#5AR 2B 400 [(BANEE 6,600 |15 A /B 500
G AGE 4,800 |[#5A 2B 1,000 |5 A B 2,400 |15 A /NFH 500
(A 1,200 |semezstamas| 8,400 |[EAR 2\ 500 |f5A 0B 4,800
BEEE 500 |msarrmamaRAE| 6,000 [fHARAB 5,000 [FFA2NFH 4,800
BHANE 2,400 |56 500 |G 500 |f5A 2B 7,200
e 500 [fEANBHE 3,600 |f5 A AGF 300 |G A AFE 500
S AGE 500 |EFBEATRAT 1,500 #5426 6,000 | B 1EL 7.200
A AGE 6,200 |15 A2\ B 2,400 | B35 500 |FFAAFE 500
S AGE 4,000 [#5AR 2B 3,000 |£5AAGF 4,800 |FFA /35 3,900
Bkl 500 [fEANBH 500 Btz 2,600 | A 235 500
S AGE 500 [#h50E 10,600 ({5426 500 |FFAAFE 4,000
BANE 400 |56 500 | A ABH 400 [5G 1,000
BT 2,400 [BERE 2,400 | B35 500 |FFAAFE 4,800
A AGE 400 [(BANEHE 500 |2l 2,000 | A 235 3,600
SN 2,100 |54 26 800 |{GA /3B 500 [FBET I 3,600
[CaaANGi: 3,000 |5 36 600 |z 4,800 |35 500
[CaaANGi: 4,800 [f5A B 2,000 |40 1,500 [[BEzE 500
BN 4,800 [f5A 2B 2,000 |BIE X 1,200 [f5AAFHE 6,000
SN 19,200 |5/ 4,200 |55 500 [BEE 2,000
SN 1,800 |#FFKEE 3,000 |#5AH A 500 |fFA B 2,700
[CaaANGi: 2,700 #5436 500 |3 ABE 500 [(BEES 900
[CaaANGi: 500 | A ABE 2,200 |B5658 300 |[fGAAFE 900
BN 500 | AEE 500 |24 175 900 | B 7.200
SN 500 | AEE 3,600 |f5AH A 900 | B 5,000
P 1,600 |15 0B 500 |fFA B 3,600 |[fFA B 2,400
[CaaANGi: 500 [ NF 3,600 |#5AH A 500 |FFA B 3,000
AR 2,700 |FFAAGH 500 |fFA B 3,000 |G 2,000
PR 2,400 |FFAABH 500 |ZtaE 600 |BEAAE 500
SR A 5,000 |#5A/AGH 1,500 [BtaF5 2,000 |26 7,200
FANE 4,300 [f5AANFH 2,400 |5 A NG 3,600 VEAF4E 3,600
[CaaANGi: 300 | P EET 3,600 |#5AH A 1,200 |5 A AFHE 500
HFANE 4,000 [f5A B 2,000 |5 A B 3,600 |fFA NG 6,000
FANE 800 |BFEEEER 500 |fFA NG 2,000 |G 3,600
[CaaANGi: 500 [ NFH 800 |{5-A /3B 4,800 |05 4,800
SR A 3,000 [ssesmmamas| 6,500 |[1EAR\BE 4,800 |35 500
BB 500 [$2 7 B 6,000 |54 ABH 4,800 |VEREEH 500
A 2,400 |sEEmmmAEREAT| 4,600 [EBRAR 3,600 [JEREIH 2,400
[N iz 2,000 |#5A/AFH 3,300 |51 /36H 4,000 |54\ BH 2,000
B NG 300 [ AB 4,000 |f5AAF 800 [BEZE 3,600
B NG 3,600 |fFAABH 3,000 [Z2ITE 4,800 |F5AAF 600
[ iz 1,800 [5AAFHE 2,000 |{5A 2B 6,000 |15 2B 1,800
[ iz 4,800 |5 NFH 3,600 [543 6F 3,600 | %% BA{E 800




B4 SHH B4 S 21 X B4 S
el 3,600 |f5-A2ABd 4,400 |15 A A5 500 [BEIEEFEARAE 4,800
gl 3,600 |15 A5 3,600 [f5A A6 500 |56 6,000
SR 7,200 |15 A2\ B 1,600 |5 A2 B 500 |5 2ABE 3,200
SARNG 1,200 |#5AR 2B 2,000 |15\ B 2,000 = 3,600
BANE 1,200 |15 A5 4,600 |15 N5 3,600 [ 2,000
BEE 2,000 |5 NBH 4,000 |BI5E 11,200 [ /A6H 500
| Cteiid 1,500 |Ahenasmaramas| 4,200 |[{5R4AB 3,300 [ 700
SANE 4,800 [#5 A2\ BHE 4,000 [15FR 2\ BH 5,600 |15 A N\BH 3,300
SR 6,600 |15\ B 5,600 |15 A \BH 600 [ HE 500
SANE 500 |#5AR2ABE 500 |3 B 2,000 [%8h 1% 900
BANE 500 |f5AABH 2,000 |B[=15 2,000 [ 300
BANE 3,600 |FEEERAIRAE 6,000 | BT EE 500 | AN 4,000
SANE 500 |#5AR 2B 2,000 |15 A\ BH 4,800 |FF16C 600
SN 800 |5 A2\ BH 1,000 |#5A2BHE 500 |FFAAFE 300
(A 3,600 [Ermampnmamas| 6,000 [BAR AR 2,000 [f5AA\6H 500
SR 400 |15 6,000 |15\ BH 500 [ kE 1,200
BE 300 [fSA NG 800 |5 A A BH 500 |EA A 1,200
BEE 500 | A ABE 400 |FF B 500 |FFA B 500
BFANE 500 | & JESE R A E] 800 |2[rRE 900 |EAAB 6,600
SR NE 1,200 |[#5A 2B 3,600 [ 2N6H 2,400 5 500
BFANE 500 |BEA A 3,000 |BIEH 600 |#EF4nti 5,200
BFANE 5,200 |22 7518k 2,400 [ AEH 3,000 [ 3,600
SR NE 7,200 |54 225 12,000 [f5A/N6H 4,000 |15\ BH 500
SR NE 500 |G ABE 2,000 |BIP9ER 900 |fFA B 500
SR NE 2,400 |15 N\5H 3,600 [ 2N6H 14,400 |%45°H 500
[l 7,000 | B T-55 500 | BB 9,900 |54 \B 500
SR NE 500 | AEE 500 | BB 1,400 |5 A 2B 1,600
P 2,000 B =E 3,600 | BlFiiE 3,000 |55 /A 4,800
15 EE 4,800 |5 /B 3,000 |57 /A 600 |15/ B 8,000
A5 B 4,000 [f5AH /B 1,200 |54/ B 2,000 |15, B 500
SANE 600 |5/ F 1,500 ({54 AFH 7,200 |15\ B 4,800
[ZElile 7,200 |5A A 2,100 |FFA B 2,000 |G 6,000
FANE 3,400 |FFAABH 1,500 |f5AAF 2,000 |G 3,600
SANE 2,000 |#5A /G 500 | 254 500 |FFA B 2,400
SANE 500 [ NF 2,100 | 22505 1,500 [f5AAFHE 900
FANE 2,400 |FFAAGH 500 228 = 3,000 |25 2,000
SANE 500 [ NFH 500 |5 ABE 3,200 | 25740 3,600
SANE 500 [ NFH 4,000 |BIZERE 2,100 |[Z2c% 1,200
BB 800 | A A B 1,800 |15 A B 1,600 |ZZ o fiw 3,600
TR 1,200 |15 A6 3,000 [ /36H 900 |52k 1,500
B NG 4,400 |15 B 2,100 |fFAABH 4,000 |F5AAE 3,600
[N iz 4,800 [FFANF 4,800 |55 1,400 |F5A B 1,200
[N iz 2,200 |5 /AFH 4,800 |{5A /B 500 [ZE HER 1,600
B NG 4,300 |15 AFH 1,300 (BIE Y 4,400 |F5AAB 1,600
BB 3,700 |FFAABH 3,300 |[fFA B 12,000 |36 6,000




1 B B B 471 X 1% &
[SANG:| 2,100 [BEF4E 1,100 |15 ARABE 500 | B 3,600
[VANG| 3,600 |15 A5 2,400 [5G 12,000 |ZE{15% 1,600
[SVANG:| 1,600 | B & 3,900 |2 E5 2,400 |15 A \B 2,400
[SVANG| 4,800 |5 AABHE 3,600 |E5AR 2B 1,200 |ZE5k # 2,000
[SVANG| 500 |15 ABHE 5,200 [5AR2 B 500 | B 800
[VANG| 6,000 |F5R 2\ B 500 |15 ABE 6,600 |15 2\B 500
i sl 500 |15 ABHE 500 |3 ABE 500 |15 ARABE 2,700
[VANG:| 3,600 |F5R 2B 500 |15 ABE 500 |15 ARABE 3,400
[ANG:| 4,800 |5 ABHE 12,000 |22z 2,100 [ AN BH 500
[VANG:| 2,400 |55 ABH 3,000 |E5AR 2B 1,200 |15 ABH 3,000
[ANG: 2,000 |5R A BH 500 |8 ABE 1,500 |18 R 500
[ANG:| 4,800 |5 ABHE 500 |15 ARABE 3,600 [5AR 2B 4,200
[VANG:| 6,000 |F5R 2B 1,600 |ZIE540 4,800 [FFA 2B 1,000
[VANG:| 1,500 | BEFHE 2,000 [FFAABH 500 |18 ABHE 1,600
[VANG:| 500 |15 ABHE 1,600 |5 AN 7,200 [SARABH 4,800
(NG| 600 |15 ABHE 1,600 |2Fk B 4,000 |ZEH 2,400
[ANG: 500 |15 ABE 500 |8 ABE 2,700 [5AR A\ BH 3,600
(VNG| 500 |BEE 3,600 |BIFkEE 500 |15 AR/ABE 500
(VNG| 500 | EtarE 400 |15 ABH 500 |8 ABHE 1,400
(VNG| 2,700 |5\ BH 6,000 [FFAA\BH 500 |15 AR/ABE 800
[eVANG| 500 |F AR 4,800 [ ABHE 3,600 [5AR A\ BH 500
SREE 500 | Bk 4,400 [FFAABHE 500 |8 ABHE 500
(VNG| 2,000 [BLKER 3,600 |15 B 500 |ZE4TED 500
(VNG| 500 |fF AR 3,600 |ZIEE 2,100 [F5ARABH 2,000
(VNG| 500 |EFHE 2,000 [ ABH 500 |8 ABHE 4,000
[eANG| 4,800 |5 R 500 |BIEE 4,000 [ZLTH4T 4,800
PREEE 500 |5 500 | BB 500 |FFA B 500
(eANG| 2,100 |54 A6H 1,500 |#5A Ak 500 |18 ABdE 3,200
e 3,000 |34 A6 3,600 |BIEES 2,400 [ RA\BH 1,600
L 1,200 |55A A6 900 |13 /ABHE 7,700 |ZE 600
(eANG| 4,800 |#5A2\BH 2,000 [ A\BH 2,400 |ZOVEE 500
(eANG| 3,600 |54 A6H 6,000 [fFA2\BH 2,400 [ZEF5C 1,800
(eANG| 800 |15 BH 2,200 [ A\BHE 500 |8 ABHE 1,200
HEREARAT| 7,200 [BRARH 4,000 [ ABHE 3,600 [F5ARA\BH 500
HEEEARAT] 4,800 [BEA/E 900 |13 ABHE 500 |8 ABdE 500
(eANG| 2,000 |54 A6H 500 |fF A ABE 2,000 [F5ARA\BH 1,600
(NG| 4,000 |[#5AR 2B 800 [FA B 900 |18 /ABH 500
RTIE 4,800 |EEE 500 |fF A ABE 600 |55 4,800
= 3,600 [f5AA6H 3,300 [N 9,600 |54 \BH 2,000
[N 500 |B5A AR 4,800 |15ALNBH 1,400 |F5A B 500
[N 5,000 [BERKE 500 |#5 AR AR 500 |BA AR 400
SRTETR A E] 2,100 [BIRKEE 3,600 [N 800 |f5A Ak 2,700
[N 500 |B5A AR 1,500 | BT 3,600 |15 A\ B 3,600
[N 2,000 [BFEH 2,800 |15 AL\BH 3,000 |15\ B 1,800
[SANG| 500 |B5A AR 3,600 [N 500 |BA AR 500




B4 SHH B2 S B X s S
SRETT 600 [(EANBH 900 [BANEE 500 |ZEFBIE 4,000
[ aaANGis 500 [FEANBHE 500 |5 NBH 500 [ZX=5h 3,600
SREERL 500 [FEANBHE 4,000 |5 NBH 500 |5 2ABE 600
[ aaANGis 3,000 |52 B 3,600 [f5A A6 3,900 |15 /A5 500
BANE 4,800 |Z4E 2,400 |56 4,400 [15AAFH 4,000
S AGE 3,300 |[f5 AN BH 500 |ZI4RE 4,800 |{5A B 500
S AGE 1,500 | BEEIHK 1,200 [BIgRE 2,700 |ZEE 500
BHANE 2,400 |56 1,500 [ A6 8,000 |Z&tEAR 800
S AGE 8,000 [\ 500 |BI{ELT 1,600 |54 FH 4,000
S AGE 1,200 [ZEE 4,800 |55 3,000 |FFA 235 12,600
A AGE 8,000 | ZEEDE 500 |3 B 1,800 [f5A /B 500
S AGE 500 [fEANBHE 2,400 |BIZ& 3,000 |52\ FH 3,600
S AGE 600 [fEA B 2,400 | B35 11,000 |[{5AR2AB 3,200
BHANE 2,700 |ZETltE 500 |25 EE 2,100 [ZEfE4L 2,000
A AGE 2,700 |15\ B 2,000 |BIZHE 3,600 |24l 9,600
BHANE 500 |f5AABH 500 |G 2,000 |ZZ{ERTF 3,600
BANE 3,600 |f5A2ABd 500 | A ABH 4,800 |ZEtE(E 2,800
SN 500 [fFA B 3,600 |f5AH A 4,800 |BFA /35 1,600
[CaaANGi: 500 [fFAAB 1,800 ({5 A FH 4,800 |35 3,600
RIEE 3,000 [ ABd 4,300 [ AEH 1,600 [ZEfEHE 1,000
seadERmARAT| 7,200 |BAR /AR 500 |BAABHE 4,800 |F5A 3B 1,800
SN 2,400 [EEE 3,600 |ZIE55E 3,200 |54 36 2,700
BANE 4,300 |[fFANEE 10,000 |28 3,600 [ZXAE 3,600
[CaaANGi: 2,800 |5 26 2,000 |3 4,800 |35 400
BFANE 6,000 |2 4,300 [ AEH 2,800 [ZXME 2,500
BN 1,400 [f5A A FH 2,000 |3 500 |ZE{7S 16,800
B/ 2,700 [ 3,200 |BIEEZS 4,300 [ A6d 4,800
FANE 2,600 |FFAABH 100 [5AA6 2,000 [f5AAEd 4,000
& ZRPHCAPR A E] 400 |15 A B 1,200 |f5AAF 2,000 |Z& {5 3,200
&R iR A RN E] 2,700 |FFAAGH 7,200 [ A6H 3,000 [f5A2A6d 3,600
HFANE 12,000 [f5A22Bd 3,900 |G 2,000 [f5AA6d 500
HFANE 2,000 |fFAABH 2,100 [BFENS 500 |EAAE 500
FANE 4,000 [f5A B 500 |fFA NG 3,600 |ZX{fE 500
[CaaANGi: 300 |55 0B 400 |FF B 1,800 [f5A A FH 3,600
HFANE 3,200 |5 A ABH 500 |fFA NG 500 |EAAE 6,000
SR A 400 [BA NG 4,400 |BItEA 3,600 |56 500
HFANE 3,000 |BHFE 500 |fFA B 1,800 [f5A B 300
HFANE 3,200 |5 A ABH 10,000 |ZI+HE 2,000 [f5AAEd 800
BB 500 |FFAAGH 4,800 |15 A AF 2,000 |Z5RGE 8,400
TEEaTERARAT| 1,200 |BUHE 3,200 [BIRE 1,500 |5 2B 1,200
R S AT ] 1,600 |1 547 Bd 2,700 |15 7\EH 500 | &2 40 2,400
BEYESARAT] 7,200 | B 5,400 |54 B 500 [f5AABE 500
GAAB 500 |5 NF 3,600 |20 500 |BA AR 1,200
TN 3,600 |#5A/AFH 500 |55 500 |25 500
GAAB 300 |3 0B 500 |5 N5 400 |[5ANFHE 500




1 B B B 471 X 1% &
T 3,300 |5R2ABH 500 |15 ABE 500 | B 2,400
[VANG| 3,600 |55 2ABH 500 |15 ABE 1,200 |#5 A2\ B 2,200
TR 800 |5/ B 400 |15 ABE 400 |ZE520E 4,800
BYE 500 [f5Abd 3,000 |56 2,400 |G 6,000
& 4,800 |5 ABHE 4,800 [ A2 BHE 3,000 |[{5A2\B 1,500
[VANG| 4,800 [BEE 9,000 [fFA2A\BHE 8,000 [5G 4,400
EE 4,800 |2 EHf 11,400 |[#5 A 500 |ZE5ErE 8,400
[VANG:| 500 |BEEEEE 7,000 |2ERFT 4,800 [Z2HE 4,800
A 800 |15 AR/ BHE 7,200 |15 A2\ BH 2,000 |15 A N\BH 7.200
5 HE 13,600 |15 AR AFH 1,800 |f5 A 2B 1,200 |5 A6 4,000
[ANG: 1,200 |5 ABHE 2,000 [ A A\BH 2,000 [ ANBH 500
e 600 |BFfEE 500 |3 ABE 900 |5 A /B 4,800
[VANG:| 4,800 |BHESE 3,600 |£5 AN 2,000 |ZLEHE 4,800
[VANG:| 2,100 |BIR# 500 |8 ABE 3,000 [ZEEHES 1,800
[VANG:| 3,600 |F5RABH 4,000 [ ABHE 2,100 [ /A\BH 500
(NG| 500 |15 ABHE 8,200 /=5 8,000 |f5A/NE 500
[ANG: 800 [fEAABHE 300 |BL=4% 3,900 [ A ANBH 2,400
(VNG| 3,000 |5\ BH 500 |fF A ABE 500 |8 ABHE 500
(VNG| 6,600 | B 4,800 Bl 3,000 [ZEEHZE 4,000
(VNG| 500 |BEEh{E 500 |fF A ABE 500 |8 ABHE 4,400
EE 8,000 |f5 AN\ BH 500 |fF A ABE 4,800 [FFAABH 2,000
[(eVANG| 2,800 |5\ B 500 | LR 500 |ZE5E5= 1,200
(VNG| 9,600 [fFA /B 3,200 |15 B 1,000 |[1§ AR 2,400
(VNG| 7,000 [\ BH 1,800 |15 AABE 1,000 |[1§ AR 3,000
EREE 6,000 [BEE ST 1,200 |ZIHE 500 |8 ABHE 1,800
TEEI 2,400 |5 \BH 1,800 |15 B 500 |8 ABHE 7,200
EEE 4,800 |5/ R 3,600 |15 BH 300 |[fFA AR 2,700
(eANG| 2,400 |52 4,800 [ ABHE 4,800 |5 ANBE 1,200
TR 8,200 [f5A/\6H 2,000 [Z1H48 2,000 [f5ARA\BH 6,000
(NG| 9,600 |15 BH 300 |fF A ABE 500 |EsEA 4,800
(eANG| 2,800 |BEFE 500 |fF A ABE 2,400 [F5ARA\BH 3,600
(eANG| 3,600 |54 A6H 4,800 [ ABHE 1,800 |Z5 25 2,000
TG 500 | A 5,000 [ A\BH 500 |8 ABHE 500
(NG| 800 |15 AL BH 500 |fF A ABE 600 |Ziadd 3,200
(eANG| 2,000 |54 A6H 500 |fF A ABE 5,200 |ZXaE 2,000
(eANG| 500 |5A AR 500 |fF A ABE 12,000 [Z5FH1E 4,800
(NG| 500 |5A AR 4,800 |BIHEE 4,800 |22 58T 500
(eANG| 3,000 |54 A6H 4,800 [ ABHE 2,000 [F5ARA\BH 4,800
[SANG| 2,000 [f5A2A6H 5,400 |BH0E 400 [F5AAEH 2,000
[N 2,000 [f5A2A6H 500 |#5A AR 500 |BA AR 500
[N 900 |5A B 3,600 |BIBESEF] 6,600 |15\ BH 500
R 3,000 |2 500 |#5A AR 3,600 |15 A\ B 2,000
[N 12,000 [BEREE 1,200 |Z5)L% 3,600 |15 A\ B 2,400
R 2,400 [{5AA6H 500 |#5A AR 2,400 |15 \B 4,200
EHE 2,100 [f5AA6H 6,500 |BEH 500 |BA AR 8,800




g S| B2 x| B x| s S
G AGE 3,800 |F5A /N6 500 |BgEhE 5,000 |FFA 235 1,200
B NG 3,600 |Fs R ARAE 900 | B4 4,400 |BEAANF 500
G AGE 500 [FEANBHE 3,600 |[#5A A 4,800 |FFA /35 1,600
[ aaANGis 8,000 |5 FH 4,400 |50 BH 500 [5G 4,000
G AGE 2,000 |#5A/\BH 300 |50 BH 500 [f5ANFH 7,000
S AGE 2,700 |zEEALREAR] 4,800 [{5R AR 500 |f5A 0B 500
[ AN s 3,600 |52\ 2,100 | B A /05 500 [ZXHH%S 3,200
ERE 3,300 |52\ 1,200 ({5 A AFH 4,800 |ZEHGR 3,600
A 300 |[f5 AR 2B 500 |3 B 1,800 |Z2FATR 2,400
X 500 [fEANBHE 500 |53 BH 3,200 |2&kiE 1,200
SR 10,000 [ 3,800 |25 e 1,800 |15 ABHE 3,600
G ABE 9,600 [HETETR 600 |51 /3B 500 [fFAAFE 500
S ABE 500 [fEANBH 600 |51 23 BH 3,200 |35 300
[ AN s 500 [fEANBHE 800 |51 2B 500 [fFA B 500
[ AN s 500 [fEANBHE 3,600 |£5A G 7,200 |22 2,700
[ AN s 1,600 [f5A\BH 600 |51 235 4,000 |FFA 235 500
A AGE 500 [sEmmEpeatRAE | 3,600 [BANGE 500 [fFAABHE 2,700
[ AN s 500 [HEREES 500 [B5A B 500 [fFA B 4,800
[ AN s 6,000 |FEEELE 1,800 ({5 A FH 1,500 |ZXEH 4,500
[ AN s 500 |ERGEAEESSAT 800 [ kE 2,400 |Z55FH 5,000
[ AN s 500 |54 B 1,200 [f5AAFH 4,400 |ZE5EF% 3,000
[ AN s 500 |FE & RAERA 1 2,800 |ZHEST 2,400 |54 /35 2,400
[ AN s 500 [emwssmmnaRs 4,800 |53 FH 6,800 |51 2B 600
[ AN s 500 [fFAAB 4,800 |5 1,600 [f5AAFH 3,600
[ AN s 2,400 | £33 6 1,200 ({54 AFH 500 [fFAABHE 5,000
[ AN s 7,200 |55 26 2,000 |FEEESF 2,400 |$jEEE 500
[ AN s 500 |54 B 500 |54 A6 4,800 [$EER 6,200
(VANi 2,300 |5 AABH 500 [543 500 |5 2B 400
[ ANGis 500 |54 7,000 (15476 2,400 |$HISES 500
(VANi 500 [{5A 5B 500 {5286 500 |5 2B 3,000
ERRT 2.100 [ER /5B 300 |FEREHE 4,800 |FEETS 3,300
[SaANG| 500 |15 ABH 4,000 [FFA 2B 3,600 [FFAABH 4,000
ERRT 500 [ER N Ed 4,000 |iEEE: 2,400 |gEEE 1,200
RN 1,500 |@ppEe 10,000 [$BEM 3,300 |fFA B 500
[ dANGis 300 |BFEEF 1,800 |15-A 3B 500 |5 A 2B 3,000
EPACT 4,800 |mpesms 3,200 |15 /N B 3,200 |[15-ABHE 1,500
[ dAN G 4,800 |2 FH 1,000 |5 2B 500 |FH{EIL 3,900
SR A 4,800 |2 FH 900 |54 /A6 500 (BB 2,400
2L 500 |ERxEE 500 |54 ABH 3,600 [f5:A/ABH 3,600
254y 2,200 ?ﬁﬁ%‘é 11,000 |5 AF 2,400 [f5:A B 500
GAAB 1,500 [{5AABE 4,800 |FEbE 3,800 [f5:A /A6 4,000
GAAB 3,300 |f5AAB 500 |54 ABH 4,800 |5 3B 4,000
GAAB 500 |54 1,200 [FEZEE% 2,700 |$HIFEE 1,500
GAAB 3,000 Fﬁﬁf%é* 4,800 |51 FH 3,000 [f5:A A6 1,000
GAAB 500 [N B 500 |FEELEE 4,000 |f5AH 2B 500




1 B B B 471 X 1% &
SARNG 500 |15 ABHE 800 [ BHE 200 |5 AFE 4,800
SR 1,200 |15 ABHE 500 |15 ABE 3,600 [$EFHTF 10,000
SRR 5,200 |15 A5 500 |5 ARE 4,800 |50 BH 4,800
SARNG 500 |15 ABHE 500 |15 ABE 2,400 [ ANBH 2,100
ZERKE 3,600 |15\ B 500 |5 ARE 2,000 |50 BH 3,300
SARNG 500 |15 ABHE 500 |15 ABE 500 | B 500
[ANG:| 3,900 |15 A2\ B 500 |FEHEE 9,600 |15 A /\BH 4,800
[VANG:| 500 |15 ABHE 500 |S A ABE 225 |18 ABHE 900
[ANG:| 500 | EFRE 1 500 |3EREAC 3,600 |15 A N\BH 6,000
[VANG:| 3,000 |5R 2B 500 |F A ABE 4,800 |54 B 4,800
[ANG: 500 |EFRE 500 |8 ABE 500 |E=EES 4,800
ZEEM 500 [#[EE A 2,400 |FEREES 4,800 |15 A N\BH 2,700
[VANG:| 500 |15 ABHE 2,700 |15 A\ BH 4,800 |15AN\BH 1,600
[VANG:| 3,600 |52 BH 2,800 |FEREFE 500 |18 ABHE 4,000
ZEEEE 1,600 |#5 A2 B 500 |3 B 2,000 [fEE 2,400
(NG| 500 |15 ABHE 500 |8 ABE 1,500 |56 1,200
[ANG: 500 |15 ABE 3,000 [ 2N6H 300 |$EER S 4,500
(VNG| 500 |F AR 4,800 |15\ BH 1,200 |$EEEAN 4,800
(VNG| 1,500 |#5AR 2B 300 |#E i 3,800 |15 A6 500
(VNG| 1,200 R 1,600 #5526 3,200 |$EIEFS 4,800
[eVANG| 300 |[FA AR 500 |fF A ABE 3,600 |15\ BH 1,100
[(eVANG| 4,300 |EBEIE 1,800 |f5A 2B 500 |8 ABHE 3,000
(VNG| 500 | BB 500 |fF A ABE 3,600 |15\ BH 500
(VNG| 400 {54236 4,800 |15\ BH 500 |JEEFEE 10,000
(VNG| 500 |F AR 2,000 |15\ BH 2,000 |RELkEETT 3,600
[eANG| 1,500 |[#5A 2B 12,000 [fSA A6 5,600 |54\ B 12,000
[(eVANG| 1,800 |#5A 2 B 500 |fF A ABE 4,800 |15\ BH 4,300
(eANG| 4,400 |[#5AR 2\ BH 500 |fF A ABE 1,800 |FA 2B 4,000
(NG| 8,000 [ /N6H 4,800 |15 LNBH 2,000 |15\ B 500
(NG| 500 |5A AR 500 |fF A ABE 1,200 |5A 2B 7,200
ZH 2,000 |54 A6H 500 |fF A ABE 300 |fF AR 500
Zh5E 4,800 |#5A2\BH 3,600 [ N6H 1,600 |F5A 2B 1,800
2 3,600 [Bl& = 2,200 [EEHEE 1,500 |5A Ak 500
ZEFZH 5,700 |54\ 500 |fF A ABE 300 |#EEAE 2,000
¥ /NG| 2,000 |BREE L) 600 |EzameEREAaR A= 1,200 |15 ARNBE 4,800
(eANG| 500 |5A AR 3,200 [ N6H 2,700 |15 N\B 500
ZEZW 4,800 |EREE 7,200 |5&F545 500 |FE(EH 4,800
(eANG| 2,100 |54 A6H 7,200 |15\ BH 500 |8 ABdE 2,000
[SANG| 500 |B5A AR 500 |#5A AR 4,800 |FEiEHE 10,000
[N 500 |B5A AR 1,500 |58 =2k 5,400 |15\ B 7,200
ZEFE 3,600 [BEEED 4,800 |15A LB 2,000 B EmAIRAT ] 2,000
(CaANGz 3,600 |54 B 500 |5 /ABH 500 [mesgmsEmas| 2,000
[N 1,800 | BRHEEE 4,800 [fFA B 3,600 [ESEEATRAT] 3,000
[N 2,400 [{5AA6H 1,800 |#5A 2B 500 |BA AR 400
[SANG| 7,200 |15 AL\ BH 500 |#5A AR 3,000 | Ec s 1,600




1 B B B 471 X 1% &
SARNG 4,800 |5 AABHE 2,000 [FFARABHE 4,800 |EEERIR 9,600
2L 2,200 |15\ B 4,000 |t R 2,400 |50 BH 3,600
SR 2,000 |5R 2B 500 |15 ABE 4,800 [FFAABH 4,000
SARNG 300 |EREETE 4,800 [HE T B ML 3,600 |fESCE 1,200
SR 500 |15 ABHE 500 |15 ABE 2,800 [FFAANBH 500
SARNG 4,000 |5 ABE 9,600 [fFA2\BH 8,800 |#5A/NBH 4,800
[ANG:| 2,400 |55 A BH 2,100 |15 A2\ BH 7,200 |15 A\ BH 4,400
[VANG:| 2,000 |BR&EE 500 |BESEH] 4,000 |[{5A\BH 3,000
[ANG:| 500 |15 ABHE 900 |15 ABHE 2,700 |15 A N\BH 5,200
2O 2,500 [f5 A\ B 500 |3 B 4,800 |FE Ik 1,200
[ANG: 9,600 & 1GEE 800 [fFA B 1,500 |5 A6 900
SR 500 | & & 3,000 ({54 /N6H 2,800 |FEIEE 3,600
ZOREZ 3,600 |5\ BH 4,000 [FFA B 500 |18 ABHE 500
[VANG:| 500 |15 ABHE 500 |8 ABE 2,400 |15 A N\BH 2,000
[VANG:| 2,000 [ZR/NE 4,800 |15 A \BH 5,100 |15 N\BH 1,200
(NG| 300 |[fEA AR 3,600 [ /A6H 7,200 |15 A\ BH 1,800
[CA 500 [f5A2NBH 2,000 |ErmETEeET| 5,600 [BRAG 2,400
(CVA| 4,800 |15 B 2,000 |ERTERmEREAR| 2,000 |5 3,600
(VNG| 7,200 |54 25 5,000 |15\ BH 300 |fF AR 1,800
(VNG| 500 |F AR 3,600 [ 2N6H 3,000 |15\ B 1,600
ZERGH] 1,600 |#5A 2B 4,000 |[#5A2\BH 6,400 |54 /B 500
2N 500 | A ABE 500 | BB 2,100 |15 2B 1,500
(VNG| 500 |F AR 4,800 |15 L\BH 3,600 |f55EE 3,600
(VNG| 2,400 |15 /N\5H 2,000 |15\ BH 2,000 |15\ B 500
(VNG| 7,000 |54 2B 500 |fF A ABE 2,400 |15\ B 500
[eANG| 500 |F AR 500 |fF A ABE 1,800 |#5A 2B 500
2N 1,800 |#5A 2 B 2,000 |15\ BH 2,000 |15\ B 7.200
(eANG| 5,000 |54 A6H 3,600 [ N6H 500 |F& RS 1,500
(NG| 3,600 |54 A6H 400 |15 ABE 3,300 |15\ BH 4,400
(NG| 6,000 |54 4,800 |15 LNBH 500 |18 ABdE 1,500
(eANG| 500 |5A AR 500 |fF A ABE 500 |8 ABdE 4,000
(eANG| 500 |5A AR 500 |fF A ABE 4,000 1542\ BH 2,000
(eANG| 500 |5A B 4,800 |15 LNBH 11,000 |#5A 2B 3,600
ZENEEE 2,400 |15 A6H 7,100 |15\ BH 3,000 |15 \BH 500
(eANG| 500 EHRHCATRAE] 7,200 |55 ABE 2,000 |15\ B 3,000
(eANG| 500 |5A AR 2,800 |15\ BH 3,600 |[AHEE 2,400
¥ /NG| 2,400 [ amRsE 4400 |[15AABH 3,600 |15 7\EH 3,000
(eANG| 800 || 5 &4 7,000 | il 3,900 |fEEMHR 4,800
ZEHUN 7,200 |EHE 4,000 |45 500 (BB 600
[N 2,000 [f5A2A6H 1,600 |#kF51H 500 |BA AR 2,000
[N 500 |B5A AR 400 |B5A AR 4,800 |54\ BH 500
[N 300 |f5ALNBHE 500 |EA = 1,200 |B5A B 3,600
[N 500 |B5A AR 500 |#5A AR 2,100 |15\ B 500
[N 3,600 [f5AA6H 3,900 |5 2A6H 1,800 |5A 2B 500
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11579 4 1,800 |B5A 2B 500 |#5A AR 1,000 |F5A 2B 2,000
LYl 1,500 |55A B 1,500 |#5A 2B 7,000 |54\ BH 2,400
B 3,800 [{5AA6H 4,400 |15A2NBH 1,600 |ZEFEER 500
[SANG| 3,600 [f5AN6H 1,800 |HE = 500 |BA AR 4,800




g S| B2 BHH B SHH s S|
[N 10,000 |15 2B 400 |[f5A 0B 3,000 [f5:A2A\GH 500
[ aaANGis 7,600 |50 BH 4,800 [srmmEmEm et 2,100 |ZEECY 500
[N 500 |FEZAF 500 |15\ 6,000 |5 ABH 500
[N 2,900 [f5 ARG 3,600 |FHE T 3,600 |ZEEE 2,800
[N 3,300 [f5 ARG 500 [5G 500 |BEA A 500
[N 1,200 [FEZ5E 2,800 [5G 3,400 |5 4,800
B 2,000 [f5 ARG 2,400 ({5 A6 3,000 [f5-AA\BH 12,000
[N 6,600 [f5AA\GH 1,600 |f5A /3B 800 |51 2 B 1,800
[N 1,800 |f5A /0B 3,600 |5 A A 3,600 [f5A/A\GH 4,800
i) 7,200 |15 25 3,600 |5 A A 2,400 [f5AA\BH 7.200
[N 3,600 [f5 ARG 4,000 |53 B 9,000 |Z&[E m 1,800
EHERK 3,600 [f5 ARG 3,600 |5 A A 3,600 [f5-A/A\BH 500
[N 3,600 [f5 ARG 1,800 |f5-A /3B 500 [fFA B 500
[N 500 |15 20BH 6,700 |FHEEE 500 [fFA B 500
[N 7,200 [FEREE 4,800 |f5A /3B 500 |ZBEZE 800
EHEE 3,600 [f5 ARG 500 |B5A 3B 1,600 |f5A /3B 1,600
[N 600 |15 23Bd 500 |§H55 82 600 (5B 500
[N 4,800 |54 3B 4,800 [SEELL 4,400 |15 B 9,600
[N 500 [fFAAB 4,300 |53 B 1,200 |5 2B 1,000
[N 4,800 |54 3B 2,000 ({546 800 |F5A 2B 4,000
[N 2,100 [f5A B 1,800 |$E{iE 4,800 |53 FH 3,600
BBt 3,600 [f5AABH 500 [5A 3B 600 |5/ B 4,800
[N 2,000 [f5:A B 200 |5A 3B 2,000 |FEAH 2,000
BV 500 [fFAAB 500 [B5A B 4,000 |52 3B 1,000
[N 500 [fFAAB 500 [FEEE 4,800 |53 FH 3,000
[N 2,000 [f5:A B 2,000 ({546 8,200 |5 NG 500
[N 1,200 |f5-A 3B 2,000 ({546 1,600 |[f5AH 3B 600
[N 4,800 |5 AN FH 500 |B5A B 11,000 ({5426 500
[N 3,600 [f5A B 500 |B5A B 3,000 |B87Z=SC 2,400
¥V /NG| 3,600 |15\ FH 2,000 |15\ EF 500 |rarsesRTR R AR A 600
Bt 500 |54 12,000 ({54726 7,200 |BHBIE 5,000
[N 5,500 [f5A A 4,000 |FHFRI%f 10,400 ({5426 2,000
ElgE L 7,200 [FELEHE 500 |5 FRE 2,400 [5G 500
BIEZE 600 |54/ 6,000 ({5476 1,600 |MessEaRAT] 2,100
[N 600 |&x1D 500 |B5A B 2,000 [5G 4,800
[N 800 [f&:A/AB 500 |B5A B 4,800 |53 FH 500
B IRE 3,300 [f5AABH 3,600 [#RAMHE 7,000 |53 B 500
[N 2,000 [f5A B 2,300 [f5:AAFH 4,800 |FRIBEW 3,600
s ARAE 11,000 [BR AR 4,800 |51/ FH 4,400 |f5H 3B 500
GAAB 4,800 |5 AN B 2,000 [f5:AAFH 1,600 |53 B 6,000
GAAB 500 |54 2,000 [f5:AAFH 4,800 |5 3FH 5,000
GAAB 4,000 |F5 A 2B 500 |54 ABH 6,000 |3 ABH 1,200
B 3,600 [f5A B 500 |54 ABH 3,600 ({54 /B 3,200
GAAB 3,600 [f5A B 13,300 ({5476 4,000 |#RETHE 4,800
GAAB 3,600 [f5A G 1,800 |f5AH 2B 400 | &k fiEE 4,400




Bl BEH B! B Bl B Bl BHH
(E YN 3,100 {542 B 300 |f5A /A5 2,700 [{5A 5B 500
RS 6,400 |15AABH 4,200 |5 /2B 2,400 |ER¥ES 2,000
S AL 500 |fFA B 300 |7 1,200 |3 A FH 7,600
S AR 4,800 |ERTGL 3,600 |51 /35 4,800 |15-A 4B 500
(E YN 500 |kt 2,000 {5 /2B 4,800 [f5A 2B 4,400
BB 300 |5 /B 2,000 {5 /ABH 500 |[f5A 2B 2,700
BB 1,200 |51 /358 3,200 |5/ 500 |FERECE 4,000
BB 4,800 [5F 7 B8 2.400 |5 A 4,500 |EFAEE 4,000
FA LB 900 [f5-A /3B 3,900 [f5FA 25 500 |E&f 4t 4,800
BB 4,800 |51/ B8 4,800 |15 /\BA 7.000 |15/ B 1,200
BB 2,800 154 LABH 500 [ERZ25 3,600 |34 A 3,000
&R 6,600 [f5A /B 900 |[FFA B 1,000 |[{5-A /N 2,000
BB 500 |ER4ES 4,200 |ERZF 2.800 |fFA /B 4,800
(AN 500 |5/ 5 1,000 |5/ 5 4,800 |EREIR 4,800
TS BT TR 900 |#5 A2 B 600 |ERadiEE 4,400 |50 B 3,900
(AN 12,000 |BRE (% 1.800 |5 /A5 12,000 |5/ 5 2,800
FA LB 500 |G B 3,000 [fFA 2B 300 |fSA B 500
k5 1,500 |f5A 2B 3,600 |#xBEan 1,800 |#REEZE 5,400
BB 4,800 |18/ B 3,600 |EfiEE & 4,000 |15/ B 1,300
FA LB 3,200 [ERHR 7,200 |15A 3B 4,600 |15A 3B 9,600
FA LB 5,700 |54 3,000 [fFA 2B 4,800 |15A 3B 600
FA LB 3,600 |EftHE 2,100 |[15A 3B 500 |FAABHE 6,600
Rkt 1,500 |#k & 52 4,800 |18 /ABA 2,400 |84 B 3,800
FA LB 500 |fFAABHE 600 |15 ABH 2,000 |f§A4NBH 4,800
FA LB 2,000 |f5A B 500 |fFAABHE 2,800 |f§A 3B 2,000
FA LB 600 |5 ABHE 900 |15 2ABH 2,800 |1§A /3B 600
FA LB 500 |fFAABHE 3,200 [fFA 2 B 5,000 | &k z2 i 4,800
BB 3,600 |[{5A B 500 [f5A B 6.300 |[{5A B 400
BB 4,000 (15 2B 2,400 {5 2B 10,800 [{§A/\B 500
BB 7.200 [f5AR 2B 2,400 {5 2B 3,600 [{5A B 2,000
EN 7,600 |5 /5B 500 [BA /AR 500 [/ B 500
e 1,000 |5 /558 500 [BA /AR 500 [/ B 4,400
BB 1,000 |FRIEHE 2,400 |15 2B 7.200 [f5A 2B 3,000
15 /5B 2.800 |5 /55 500 {5255 1000 J#RHZE 3,600
BB 500 [f§A 2B 9.600 |[f§A 2B 500 #5235 500
iRzt 2,100 |[{5A 2B 400 [f5A7 \Eﬁ 5,700 [E4uFS 2,400
R AR 3,600 [ /5B 3.600 |4:3E 1,000 [’h e, 8,000
ERRT 1.800 |5/ B 2,000 [5A \Eﬁ 2,400 [ g 1,500
BB 500 [f§A 2B 8,400 |{5A/NBH 2,400 [{5A NG 6,600
BB 2,000 |[{5A B 500 [f5A B 10,000 |52 5 3,000
S S 2,000 | EEEFIER 4,800 |15 2B 2,000 [{5A B 500
BB 4,000 |15 2B 4,800 {?K NG 1,500 |55 500
ERER2T 3.000 |57 Al 3,800 [EEE 4,000 [f5A 2B 4,400
(SaANG| 500 |G 500 |fFAABHE 500 |FEEHIRIR 4,800
EREFSE 6,400 |15 4NBH 500 [f5A B 3,600 |15 /2B 5,400




1 B B4 B 21 X B4 &
SARNG 500 |#5A 2 B 1,000 |5 2ABHE 2,400 [ ANBH 500
SR 4,800 |5 AABHE 900 |52 B 500 |18 AFE 3,600
SR 1,600 |15 ABHE 500 |5 ARE 500 |BEBE 2,400
SARNG 2,800 |5 2ABH 4,800 [fFA2ABHE 500 |18 AR 1,200
SR 500 |#5A 2 B 500 |5 ARE 4,800 [FFAABH 600
AT 500 [EF /B 500 |f5A b 500 |[ErgsryAmRasE| 6,200
ERRER 4,400 |#5A2\BHE 12,000 ({5426 3,600 [@ARmARAT] 3,600
SANE 1,000 |#5 A2 B 500 |#5A2ABE 500 |EHEEARAT] 4,000
FRREE 3,600 |15 A N5 4,800 |15 A \BH 4,800 |15 A N\BH 2,100
SANE 1,800 |g#IE R 3,300 [ /A6H 500 |8 ABHE 12,000
EREDS 500 |G B 4,400 |15 \BH 1,000 |56 12,000
[ ANG| 500 |F AR 4,800 |15 A NBH 4,800 |8 EFE 6,000
[ ANG 500 |F AR 4,800 |15 A \BH 2,400 |15 A N\FH 7,000
SN 2,100 |15 A5 900 |54 B 4,800 |15 A N\BH 9,000
SANE 500 |#5AR 2B 500 |#5A2ABE 7,000 |45 2,100
SR 500 ?.?LE%E%BE‘ NE| 4,800 [fEAZABE 11,300 {5 A 2\E 2,000
A AGE 1,600 |@armsmamas] 2,000 [EAR /A5 4,800 | & 41,738,367
o} 7,200 |EE/NTS 4,600 |BEFEZE 1,200
FEJkHE 3,600 |BEF 3 500 |BEEG A 2,000




